@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company

IMPORTANT: As much as we try to avoid making changes to prices mid-year, Ricon reserves the
right to change pricing without notice.

Iltem Code Description Selling Price
R100201 SWITCH SET,SEQUENCING, TOGGLE ONLY $  47.22
R100212 SWITCH SET,SEQ.,TOGGLE W/KEYLOCK $ 48.64
R100224 HARNESS,REMOTE CONTROL,25FT $ 55657
R1010011 KIT,RPLCMNT ASSY,6"R/STOP,30"PLTFRM $ 226.63
R1010012 KIT,RPLCMNT ASSY,6"R/STOP,32"PLTFRM $ 262.04
R101002 KIT,UPPER MOTOR ASSY,PSB $ 155.14
R101004 KIT,RPLCMNT,BRGPLT,ACTR $ 52461
R101006 KIT,RETRO,SWIVEL,STOP $ 18.21
R101007 KIT,CTL HRNS,STRN RELIEF,w/U-BOLT $ 24.52
RI01010K KIT,CKT BREAKER,90AMP,w/BRKT & HDWR $ 9483
RI101021 KIT,AMP/MOLEX CONNECTORS & PINS $ 455.28
R101029 KIT,INNER ROLLSTOP,30"w/HDWR & INSTR $ 265.97
R101030 KIT,INNER ROLLSTOP,32"w/HDWR & INSTR $ 257.87
R101060 KIT,SERIES SGNL PWR INDICATOR,24V $ 14.16
R101065 KIT,DECAL.CA-T13 CERTIFICATION $ 10.52
R101070 KIT,CHAIN GUIDE BLOCK $ 4587
R101099 KIT,LATCH MECHAN,REPLACEMENT $ 65.62
RI101105 KIT,DOOR BUMPER,S-SERIES $ 8461
RI01115 KIT,KICK-OUT SPRING (S-SERIES) $ 10943
RI01118 KIT,INSTL,PENDANT MTG CLIP $ 2492
R101129 KIT,DOOR JAMB BRACE,S-SERIES $ 15110
RI101139 KIT,INSTL,SLIDE,92+,FORD,RDO2501 $ 746.27
RI01166 KIT,INSTL,CEMENT BASE,STAIR CLIMBER $ 57.02
RI01174 KIT,DRIVE CHAIN RPLCMNT,STD $ 7419
RI01175 KIT,DRIVE CHAIN RPLCMNT,TALL,225 PITCHES $ 126.40
R101176 KIT,SPOOL VALVE,w/DCLR,12V $ 21422
RI01177 KIT,SPOOL VALVE,w/DCLR,24V $ 196.96
R101178 KIT,ROLL STOP GUARD $ 103.88
RI01179 KIT,PUMP RELOCATION,RH $ 340.73
R101180 KIT,RAISED PUMP $ 137.35
RI101218 KIT,INSTL,HDWR,93+,VW(RD0O2503) $ 9811
RI01221 KIT,RETRO,ROLLSTOP,29.5" $ 35748
R101222 KIT,ROLLSTOP ASSY,31.5" $ 384.46
R101224 KIT,SPACER,IRS,CAM $ 12.99
RI101226 KIT,HARNESS,ROCKER & KEY SWITCH SET $ 580.38
RI101236 KIT,PADDING S2000 SERIES $ 66.57
R101237 KIT,PADDING S5000 SERIES $  88.98
R101238 KIT,REPLACEMENT,SOLENOID,12V $ 88.96
R101239 KIT,REPLACEMENT,SOLENOQID,24V $ 140.68
R101243 KIT,HAMMER STYLE TOOL,#6-4/0 AWG WIRE $ 14165
R101245 HEX ROD,15.5" $ 290.18
R101264 KIT,GUIDE CHAIN,w/HDWR $ 16.19
RI101267 KIT,CLIP,PUMP HANDLE,w/HDWR (F9T) $ 10.79
RI101274 KIT,HRNS BELT RESTRAINT,w/SLP TERMS $ 5631

@ Ricon.

AWabtec company

1|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R101284 KIT,COUNTER,12V $ 269.80
R101287 KIT,RETRO,CAM $ 72.95
R101290 KIT,RECEIVER/ANTENNA RETROFIT $ 397.95
R101291 KIT,CIRCUIT BREAKER,50 AMP $ 94.83
R101294 KIT,PENDANT,wWw/MALE & FEMALE CLIPS $ 29.75
R101297 KIT,RETRO,PSB MOTOR DRIVE,STD $ 397.95
R101299 KIT,SIGNAL PWR INDICATOR,12V $ 67.44
R101300 BRACKET,LH,EXT FORD ; S $ 48.28
R101301 BRACKET,RH,EXT,FORD ; S $ 47.73
R101305 CHAIN TUBE ASSY,STD/EXT R30B,R30A $ 13.49
R101310 KIT,PUMP MTG,BLUE BIRD $ 196.22
R101511 ROLLER,SLIDER 0.381Dx0.73L $ 7.58
R101512 ROLLER,ROLLER BKT (.25 ID) $ 5.40
R101516 BRACKET,VAN PROTECTOR SLIDER $ 12.14
R101606 HARNESS,CROSS-OVER $ 49.14
R101618 WASHER,DOOR FLANGE $ 148.79
R101640 LATCH WLDT,QUICK RELEASE $ 20.00
R101641 CLEVIS BRACKET ASSY $ 101.18
R101651 CAP,(.313X1.5)IL HVY BK LETTER VINYL RED $ 1.39
R101653 CAP,VINYL,YELLOW,.375ID X 2.5L $ 4.38
RI101673 ROD END,MODIFIED $ 21.88
R101686 BRACKET,DOOR MOUNT 92 FORD $ 26.98
R101689 BRACKET/CLEVIS WLDT $ 52.52
R101693 BRACKET,DOOR MOUNT,94+ DODGE $ 20.24
R101703 ARM,ACTUATOR $ 32.37
R101704 ROD,HEX 7.50" $ 11.99
R101705 ROD,HEX 8.00" $ 24.28
R101706 ROD,PUSH,10.5" $ 12.57
R101707L COVER,SWINGER,LEFT $ 31.96
RI01707R COVER,SWINGER,RIGHT $ 31.96
R101708 HEX ROD,14.00" $ 29.18
RI101715 BRACKET WLDT,DOOR,LEFT $ 44.47
RI01716 BRACKET WLDT,DOOR,RIGHT $ 44.47
R101723 COVER,SHIELD $ 12.71
RI101737 HEX,ROD 14-50 $ 141.93
R101741 BRACKET,MOTOR MOUNTING $ 8.10
R101742 PIN ASSY,QUICK RELEASE $ 7.37
R101748 ARM ASSY,ACTUATOR,LEFT $ 72.75
R101749 ARM ASSY,ACTUATOR,RIGHT $ 72.75
RI101753 BUSHING,NYLINER,MODIFIED $ 13.69
R101754 MOUNT PLATE WLDT,MOTOR,RH $ 94.43
RI01757 HARDWARE,INSTL $ 38.40
RI01777 BRIDGE,BEARING $ 14.84
RI017771 BRIDGE,BEARING,LH $ 18.89
RI01779 GEAR MODIFIED,SWINGER $ 90.32
R101781 GEAR ASSY,ROTARY SHAFT $ 98.57
R101785 BASE ASSY,VAN MOUNT $ 35.07

@ Ricon.

AWabtec company

2|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R103006 CABLE ASSY,POWER $ 60.71
R103890 PUMP HANDLE $ 60.98
R10460-202-16141 PIN,CONTACT,SOLID,SOLDER TYPE $ 0.78
R104764 CAP,RESEVOIR w/DIPSTICK $ 32.47
R106-06-107 WEATHERSTRIP,1/8x1/2x100',ADH $ 291
R106-06-108 WEATHERSTRIP,1/8"x1/4",ADH $ 1.46
R106-36-920 TAPE,GREY PUTTY,1"x1/8"x25' $ 15.01
R106-38-301 SEALER,THERMOPLASTIC,BLK $ 10.52
R106001 KIT,EMERGENCY WRENCH $ 112.66
R107193-D CARTRIDGE VALVE $ 276.08
R107940 COVER,SOLENOID,PUMP $ 213.26
R108232 DIODE BLOCK ASSY $ 65.65
R109008 STRAP B MOUNT $ 17.41
RI11-640523-0 CONNECTOR,15 PIN,FEMALE (S&S P/N 21655) $ 2.70
R110-04-005 PAINT,SPRAY,YELLOW CARDINAL,A-2008-YLO1 $ 17.52
R110004 SOLENOID ASSY,w/BRKTCLRG SOLENOID,12V $ 173.52
R110008 BOOT, TERMINAL $ 2.78
R110042 ADHESIVE,NEOPRENE RUBBER $ 75.92
RI110057 PIN,IDLER $ 22.22
RI110059 SPROCKET,IDLER $ 40.45
RI110060 SPROCKET,LOCK/RELEASE $ 47.18
R110062 SHAFT WLDT,LOCK/RELEASE $ 100.81
R110064 GUIDE,DRIVE CHAIN(REAR) $ 398.98
RI110067 LOCKBAR WLDT $ 91.98
RI110115 DECAL,OP INST,F8100,TRANSIT(HORIZ) $ 6.75
SCREW,HSS,8-32UNC-3Ax5/16,KNURLED CUP
RI110159-16 POINT,BLK OXIDE (BAG OF 10) $ 2.70
R110159-19 KNOB F/OVERRIDE MANU $ 27.37
R110164-14 COIL,24V DC,#10 CARRIAGE VALVE $ 41.24
R110258 PLUG,PEN,1 1/8x14-20,BLACK $ 291
RI110319 JUMPER,PUMP ; UV (SIM TO ELJ02181) $ 4.05
R110323 FUSE,15A TYPE ATC $ 1.35
RI110335 HARN,24V PUMP,w/o INTERFACE $ 54.37
R110346 COVER,PUMP $ 78.24
R110349 GUARD,RESTRAINT RETRACTOR $ 42.50
RI110419 SPACER,LWR SPRGBAR,MANUAL RAMP $ 13.49
RI110507 BRACKET,SOLENOID,ISKRA MOTOR $ 13.89
R110509 BRACKET,ROD END ATTACHMENT,SHORT TRAVEL $ 39.35
RI110552 PULLEY,3.0880D,MOD ; PF5 $ 78.33
RI110566 TAPE,REFLECTIVE,RAMP $ 4.64
RI110750 CAM WLDT,RAMP,LH (PF5) $ 106.50
RI10751 CAM WLDT,RAMP,RH (PF5) $ 102.12
RI110799 KIT,SPARE SENSOR MOUNT $ 21044
R110817 KIT,RPLCMT,BUCKLE & RETRACTOR $ 218.84
R110822 MOUNTPLATE WLDT,LOCK/RELEASE $ 49.91
R110826 CHAIN,PRIME DRIVE $ 67.73
R110836 TUBE WLDT,COVER SUPPORT $ 72.84

@ Ricon.

AWabtec company

3|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R110840 SPRING,COMP,.420Dx2.5Lx.067 $ 9.41
R110843 SKID PLATE,BOTTOM COVER $ 10.79
R110844 HANDLE WLDT,LOCKING/RELEASE $ 90.10
R110845 COVER ASSY,BOTTOM $ 438.42
R110849 BRACKET WLDT,LOCKING/RELEASE $ 45.65
R110850 SPACER,LOCK/RELEASE $ 11.73
R110887 SPACER,REAR FRAME $ 16.19
R110895 BRACKET,STRAINRELIEF ; F8 $ 17.54
RI110931 INA;,CONTROL BOX,0ONBD,12V $ 370.98
R110940 HARN,SEQUENCING,E150 $ 101.18
R110942 HARN,PENDANT,DEUTSCH TO PULLBOX $ 72.84
R110956 DECAL,RICON,1x2 $ 0.49
R110962 HARN,CONTROLLER INTERFACE $ 314.79
R110963 HARN,STD MOTOR EXT $ 296.77
R110964 HARN,STD CONTROLS EXT $ 182.11
RI110965 SWITCH ASSY,PANEL $ 360.38
RI110967 HARN,STD BUS INTERFACE,PF5 $ 188.86
R110968 SWITCH ASSY ,MANUAL,PF5 $ 12141
RI110972 MOTOR,1HP 12V (PAC-SCI#BA3614-5347) $ 42494
RI110973-D COIL,18vDC $ 154.01
RI110011 KIT,HARDWARE,ROLLSTOPS $ 36.14
RI111024 HANDRAIL DAYTON,TROLLEY $ 296.77
RI11125 GEAR RACK WLDT $ 43.66
RI111209 PULLEY,SPROCKET 1.960 OD,MODIFIED $ 87.68
RI111262 COVER,TANG,RESTRAINT BELT $ 2.35
RI11270 KIT,BELT FAILURE $ 53.57
RI111286 KIT,HDWR,S-SERIES(UK) $ 10.48
RI111410 ENCLOSURE,DOOR OPERATOR $ 728.46
R111445 HANDRAIL SET,FIXED $ 573.32
RI111446 KIT,DUETSCH CONNECTOR $ 8.10
R111488 HANDRAIL ASSY,FIXED,RH,BODE $ 268.68
R111489 HANDRAIL ASSY,FIXED,LH,BODE $ 242.82
RI111529 HARN,PUMP DEPLOY-STOW $ 94.43
R111530/00 HARN,EXTENSION,6' $ 41.82
RI11531 HARN,INTERNAL $ 74.19
RI11577 CABLE,14/2 W/BLK 12 TWISTS/FOOT $ 2.70
RI111686 COVER w/GUARDS,SWITCH $ 5.84
RI111690 HINGE,BRIDGEPLATE $ 14.20
RI111692 PIN,HINGE,PLATFORM $ 3.23
RI11714 HANDRAIL ASSY,ADA,LH,w/BUCKLE ASSY/SWTCH $ 153.35
RI11715 HANDRAIL ASSY,ADA,RH $ 181.12
RI11731 HOSE ASSY,HYD,21.5"x1/4JICx1/4JI1C $ 18.89
RI11732 HOSE ASSY,HYD,52.5"x1/4J1Cx1/4JIC $ 25.34
RI111733 HOSE ASSY,HYD,58.5"x1/4JICx1/4JI1C $ 44.97
RI11734 HOSE ASSY,62"x1/4J1Cx1/4J1C $ 53.07
RI11735 HOSE ASSY,71"x1/4Jx1/4J ; S $ 55.07
RI11784 FLOORING,CARRIAGE,28.63"WIDE $ 45.87

@ Ricon.

AWabtec company

4|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI111785 FLOORING,CARRIAGE,33"WIDE $ 53.96
RI111786 FLOORING,RAMP,29"WIDE $ 87.68
RI11787 FLOORING,RAMP,33"WIDE $ 111.78
RI111790 STANDOFF, TERM,MOTOT,(BAG OF 10) $ 40.47
RI11791 NUT,ESN,5/16/-18 THIN(BAG OF 10) $ 6.72
RI11792 SCREW,FHH,3/8-16X3/4(BAG OF 10) $ 4.17
RI11793 SNAPRING,1/4 (BAG OF 10) $ 9.32
RI11794 SNAPRING,5/16,EXT(BAG OF 10) $ 4.05
RI11795 SNAPRING,3/8 (BAG OF 10) $ 7.94
RI111796 SNAPRING,3/4 (BAG OF 10) $ 11.72
RI11797 SCREW,HSS,3/8-16X3/8CUT PT(BAG OF 10) $ 14.45
RI11799 NUT,SPRING,10-24 U TYPE (BAG OF 10) $ 16.38
RI112051 KIT,EMERGENCY CLIPS LARGE,w/HDWR (PF5) $ 31.97
R112095 BLOCK,GLIDE,ADHESIVE,2.0x2.5x0.06 $ 16.30
RI12115 RELAY BOX ASSY,12V $ 220.88
RI12116 RELAY BOX ASSY,24V $ 364.96
RI112130 KIT,PENDANT,12V,ECLIPSE $ 445.17
RI112131 KIT,PENDANT,24V,ECLIPSE $ 350.74
RI112134 LATCHSKI WLDT,PRS $ 70.14
RI112137 FITTINGS,QUICK DISCONNECT $ 101.18
RI1214AA BREATHER,F/PUMP $ 23.63
RI112153 KIT,HOSE ASSY,HYD,6 FT,w/HARNESS $ 67.44
R112347 CONTACTS WIRELESS CABLE OPENER $ 32.22
RI112417 KIT,SWITCH,INTERLOCK $ 217.06
R112426 BRACKET,REINFORCE,LH $ 77.75
R112450 SKIRT,SLIDING DOOR $ 269.80
RI112491 KIT,HDWR,INSTALL,D.O. $ 47.82
RI112517 STIRRUP ASSY,STEPWELL,20-22 UTS $ 517.76
RI112575 WIRE ROPE REPLACEMENT PWR BRAKE $ 8.10
R112580 SPACER,BASEPLATE,INSTALLATION $ 10.82
RI112720 HARN,BUCKLE EXTENSION;F8 $ 70.14
RI12771 RECEIVER,KEYCHAIN REMOTE $ 576.62
RI12775 BATTERY,12V KEYCHAIN REMOTE $ 4.17
R112833 BOTTOM HOUSING, PENDANT $ 4.17
R112834 TOP HSG UNIV PENDANT $ 4.17
R112837 BUTTON A BLANK UNIV PENDANT $ 2.91
R112838 BUTTON B UNIV PENDANT $ 291
R112839 BUTTON C UNIV PENDANT $ 291
R112872 EXTENSION,PUMP DOG $ 14.64
RI112873 CABLE,EMERGENCY RELEASE,S-SERIES $ 33.08
R112883 CONN,.156"(9 CKT) PANDUIT IDC $ 2.78
R112895 INA;KIT,ALIGN PLATE ,w/HDWR $ 478.02
R113028/00 CABLE,4AWG,18FT.,RED XLNKPOLY $ 81.82
R113028/01 CABLE,4AWG,25FT.,RED XLNKPOLY $ 84.83
R113028/02 CABLE,4AWG,28FT.,RED XLNKPOLY $ 104.03
R113028/03 CABLE,4AWG,33FT.,RED XLNKPOLY $ 94.36
R113028/04 CABLE,4AWG,18",RED XLNK POLY $ 6.75

@ Ricon.

AWabtec company

5|Page



@ Ricon. Spare Parts MSRP List March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R113028/05 CABLE,4AWG,35 FT,RED,XLNK $ 74.19
RI113041 FLOW CONTROL VALVE, 0.5 GPM $ 110.58
R113054 KIT,RESTRAINT BELT,ADA,ANGLED,S-SER $ 121.09
R113055 KIT,RESTRAINT BELT, TRNST,S-SERIES $ 121.09
R113059 SENSOR ASSY,RIGHT $ 407.94
RI113064Y ARM ASSY,VERTICAL,RH,YELLOW $ 229.33
RI113065Y ARM ASSY,VERTICAL,LH,YELLOW $ 229.33
RI113073 SPRING,PNEUMATIC,150N,405L X 160STROKE $ 138.95
RI113077 SHIM,RAMP CAM $ 5.29
R113087 BUSBAR,SOLENOID,ISKRA MOTOR $ 13.49
RI113095 HYD CYL ASSY,w/O INTER/POT $ 579.77
RI113095-F10X HYD CYL ASSY,w/O INTER/POT $ 786.82
RI113254 KIT,BRACKET,VERTICAL ASSY,PWR RAMP $ 12141
R113302 SCREW,FHP,10-24x1/4 UNDERCUT (BAG OF 10) $ 5.21
R113303 SCREW,FHP,10-24x1/2 (BAG OF 10) $ 6.47
RI113304 SCREW,PHP,10-24x1/2 (BAG OF 10) $ 6.63
R113306 SCREW,HEX,1/4-20x5/8 SST (BAG OF 10) $ 8.15
RI113307 SCREW,HEX,1/4-20x1/2GR5,SST(BAG OF 10) $ 8.02
R113308 SCREW,HEX,1/4-20x3/4 GR5 (BAG OF 10) $ 7.05
R113309 SCREW,BHS,1/4-20x3/8 SST (BAG OF 10) $ 8.15
RI113310 SCREW,FHH,1/4-20x3/4 SST (BAG OF 10) $ 8.39
RI113311 SCREW,BHS,1/4-20x1/2 SST (BAG OF 10) $ 8.57
RI113312 SCREW,HSS,1/4-20x1/4 CUT POINT(BAG OF 10 $ 6.81
RI113313 SCREW,BHS,1/4-20x3 3/4 SST (BAG OF 10) $ 10.59
RI113315 TERMINAL,SLP,F,22-18,FULINS (BAG OF 10) $ 5.17
R113322 WASHER,FLT,.505x1"x.03x.457 D-HOLE(BAG OF 10) $ 13.02
R113323 SCREW 10-12x.625 HI-LO SST(BAG OF 10) $ 10.79
R113324 ROLLPIN,SPIROL,5/32x1 (BAG OF 10) $ 25.66
R113326 KIT,GREASE FITTING,65DEGREE,PRESS IN(10) $ 17.71
R113328 MASTER LINK,#35 NCKL PLATE (KIT OF 10) $ 61.52
RI113329 ROLLPIN,SPIROL,5/32x1 1/4 (BAG OF 10) $ 7.29
RI113330 KIT,WASHER,ADAPTER,STIRRUP,1/4IDx3/8R AL $ 14.84
RI113331 NUT,HEX,M8x1.25 (BAG OF 10) $ 4.05
RI113333 SCREW,HSS,3/8-16x3 SST (BAG OF 10) $ 33.72
RI113334 SCREW 10-12x1.25 HI-LO SST (BAG OF 10) $ 47.22
RI113339 NUT,ESN,1/4-20 THIN,SST(BAG OF 10) $ 8.78
R113342 NUT,JAM,7/16-20 (BAG OF 10) $ 4.05
R113343 WASHER,FLT,.578x1.067x.062 NYL(BAG OF 10 $ 4.05
R113344 WASHER,ESL,7/16 SST (BAG OF 10) $ 4.05
R113345 NUT,ESN,1/2-20 (BAG OF 10) $ 4.05
R113346 WASHER,FLT,.531x1.062x.095 (BAG OF 10) $ 4.05
R113348 NUT,ESN,3/8-16,THIN (BAG OF 10) $ 6.72
R113349 NUT,ESN,5/16-18 (BAG OF 10) $ 7.17
RI113379 WASHER,FLT,.219x.50x.049 (BAG OF 10) $ 4.05
R113380 SCREW,PHP,10-24x5/8 (BAG OF 10) $ 6.63
R113382 NUT,ESN 10-24 (BAG OF 10) $ 6.89
R113384 WASHER,SPL,5/16 (BAG OF 10) $ 6.89

@ Ricon.

AWabtec company
6|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R113385 SCREW,HEX,5/16-18x7/8 GR5 SST (BAG OF 10 $ 9.58
R113386 SCREW,PHP,8-32x3/8 (BAG OF 10) $ 6.55
R113387 SCREW,BHS,10-24x7/8 SST (BAG OF 10) $ 4.05
R113389 SCREW,HEX,1/4-20x3/4 SST (BAG OF 10) $ 8.15
R113390 SCREW,FHH,1/4-20x3/8 SST (BAG OF 10) $ 4.05
RI113391 NUT,JAM,9/16-18 (BAG OF 10) $ 4.05
RI113394 NUT,ESN,1/4-20 THIN (BAG OF 10) $ 2.70
R113395 SCREW,CAR,1/4-20x3/4 SST (BAG OF 10) $ 4.05
RI113397 SCREW,HSS,10-32x1/4 SST (BAG OF 10) $ 4.05
R113398 WASHER,FLT,.281x.625x.065 SST (BAG OF 10 $ 6.81
RI113399 WASHER,SPL,1/4 SST (BAG OF 10) $ 6.72
R113400 NUT,HEX,10-32 (BAG OF 10) $ 4.05
R113445 SEAL,RUBBER U.CHANNEL .40x.34 $ 1.35
R113459 KIT,HDWR,LIFT,MTG;A6000/FORD/GM/DODG $ 2.70
RI113471 KIT,HDWR;F8100/BLUEBIRD $ 12.14
RI113477 HEX ROD ASSY,14" $ 47.22
R113494 KIT,RETROFIT,HOSE A/C LINES,FORD $ 269.80
RI113556 KIT,GROUND STRAP $ 26.57
RI113568 INA;KIT,ROLLER,BUSHINGS ,w/HDWR,ALIGN PLT $ 67.44
RI113661 KIT,REPLACEMENT,CBL ASSY,IRS,51100 $ 77.26
RI113758 INA;PANEL,SUB FLOOR,35.8"W(PLAXTON) $ 97.44
RI113759 INA;ASSY,DRIVE,RAMP DEPLOY/STOW,;PLAXTON $ 1,537.85
RI113770 INA;FLOORING/NONSLIP RAMP;PLAXTON $ 53.53
RI113875 BUSHING,RUBBER $ 4.17
R113878 BLOCK,BRGPLT,GUIDE $ 98.48
R113880 KIT,RETRO-F9A ANTI TATTLE,FXD $ 459.88
R113897 BRACKET,ANGLE,MOUNTING,L.H. $ 15.34
RI113979 STUD,THR,5/16-18 1.50LG SST $ 2.02
R114051 ASSY,HOSE,A/C LINES 5/16" FORD $ 114.66
R114052 ASSY,HOSE,A/C LINE 1/2" FORD $ 134.90
R114054 SCREW,HEX CAP,M12 X 1.75,CLASS 10.9,ZINK $ 4.05
R114325 KIT,SAFETY STOP,CHAIN $ 26.98
R114334 KIT,BRUSH SET ISKRA,12V $ 128.76
R114345 KIT,MOTOR ASSY,w/BRKT,12V,ISKRA $ 21884
R114346 KIT,MOTOR ASSY,W/BRKT,24V,ISKRA $ 240.72
R114347 KIT,BRUSH SET ISKRA,24V $ 95.42
R114352 KIT,HINGE w/HDWR $ 139.50
R114394 HARN;ASSY,PWR/INTLK,CONTROL,CHR $ 88.12
R114401 ROLLPIN,1/4x1 1/2 (BAG OF 10) $ 5.40
R114402 SCREW,PHP,4x1 AB (BAG OF 10) $ 4.05
R114403 SCREW,HEX,5/16-18x1 1/2 GR5 (BAG OF 10) $ 8.90
R114405 WASHER,FLT,.128x.313x.032 (BAG OF 10) $ 6.63
R114406 SCREW,PHP,4-40x1 1/8 (BAG OF 10) $ 4.05
R114407 NUT,ESN,4-40 (BAG OF 10) $ 6.67
R114408 SCREW,BHS,10-32x1/2 SST (BAG OF 10) $ 4.05
R114409 WASHER,FLT,.219x.50x.049 SST (BAG OF 10) $ 7.14
R114410 SCREW,HSS,10-24x1/4 BLK (BAG OF 10) $ 6.55

@ Ricon.

AWabtec company

7|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R114411 NUT,ESN,5/16-18 LO SST (BAG OF 10) $ 8.23
R114412 NUT,JAM,5/16-18 SST(BAG OF 10) $ 7.73
R114413 SCREW,HEX,5/16-18x1 1/2 SST (BAG OF 10) $ 11.97
R114414 NUT,ESN,1/4-20 SST (BAG OF 10) $ 7.44
R114415 NUT,ESN,5/16-18 HI SST (BAG OF 10) $ 7.73
RI114416 NUT,ESN,10-24 SST (BAG OF 10) $ 7.14
R114417 NUT,HEX,3/8-24LH (BAG OF 10) $ 7.64
R114418 SCREW,SSS,3/8x3/8 SST (BAG OF 10) $ 38.64
R114419 NUT,HEX,6-32 SST (BAG OF 10) $ 4.05
R114420 SCREW,FHH,5/16-18x3/4 SST (BAG OF 10) $ 5.40
R114421 SCREW,FHH,5/16-18x1 SST (BAG OF 10) $ 5.40
R114422 SCREW,BHS,5/16-18x3/8 SST (BAG OF 10) $ 4.05
R114423 SCREW,BHS,1/4-20x5/8 SST (BAG OF 10) $ 8.19
R114424 SCREW,BHS,10-24x1/2 SST (BAG OF 10) $ 6.97
R114425 SCREW,BHS,10-24x3/8 SST (BAG OF 10) $ 7.18
R114426 SCREW,FHH,10-24x1/2 SST (BAG OF 10) $ 7.30
R114427 SCREW,PHP,6-32x1/4 MS SST (BAG OF 10) $ 4.05
R114428 SCREW,PHP,6-32x5/8 SST (BAG OF 10) $ 4.05
R114430 SCREW,HSS,10-24x1/4 SST (BAG OF 10) $ 4.05
R114431 WASHER,FDR,.31x1.25x.05 SST (BAG OF 10) $ 4.05
R114432 WASHER,SPL,#10 SST (BAG OF 10) $ 6.47
R114433 WASHER,SPL #6 SST (BAG OF 10) $ 6.43
R114434 WASHER,SPL,#4 (BAG OF 10) $ 6.43
R114435 WASHER,FLT,.375x.63x.032 NYL (BAG OF 10) $ 6.85
R114436 WASHER,FLT,.375x.63x.072 NYL (BAG OF 10) $ 7.01
R114437 WASHER,FLT,.387x.654x.015 NYL (BAG OF10) $ 9.58
R114438 ROLLPIN,1/8x1 1/4 SST (BAG OF 10) $ 14.45
R114439 RIVET,POP,1/8x1/2 SST (BAG OF 10) $ 4.05
R114440 SCREW,HEX,5/16-18x1 3/4 SST (BAG OF 10) $ 13.65
R114441 SCREW,FHH,5/16-18x1/2 SST (BAG OF 10) $ 5.40
R114442 SCREW,BHS,5/16-18x5/8 SST (BAG OF 10) $ 5.40
R114443 WASHER,FLT,.315x1.156x.062 NYL(BAG OF 10 $ 9.16
R114445 SCREW,PHP,10-24x5/8 SST (BAG OF 10) $ 4.05
R114450 BASEPLATE ASSY,26"W,w/INTLCK,S11 $ 1,025.23
R114451 BASEPLATE ASSY,30"W,w/INTLCK,S11 $ 917.32
R114452 BASEPLATE ASSY,30"W,w/o INTLCK $ 1,019.95
RI14452R BASEPLATE ASSY,30"W,w/o INLCK,RIGHT $ 97127
R114453 BASEPLATE ASSY,30"W,w/INTLCK $ 1,025.23
R114454 BASEPLATE ASSY,32"W,w/o INTLCK $ 1,033.59
RI14454R BASEPLATE ASSY,32"W,w/o INTLCK,RIGHT $ 992.76
R114455 BASEPLATE ASSY,32"W,w/INTLCK $ 944.29
R114456 BASEPLATE ASSY,39.5"W,w/o INTLCK,S12 $ 1,088.82
R114457 BASEPLATE ASSY,39.5"W,w/INTLCK(NO VOLT) $ 1,092.69
R114461 SNAPRING 1/2" (BAG OF 10) $ 8.39
R114465 ROLLPIN,5/32x1 1/4 SST (BAG OF 10) $ 9.53
R114466 KIT,INSTALLATION,RDO2909 $ 874.68
R114467 WASHER,FLT,.318x.751x.031 NYL(BAG OF 10) $ 9.24

@ Ricon.

AWabtec company

8|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R114484 SCREW,BHS,5/16-18x1/2SST,BLK OX(BAG/10) $ 24.95
R114485 NUT, TEE,1/4-20X1/4LNECK,SST(BAG OF 10) $ 32.55
R114489 NUT,JAM,10-24(BAG OF 10) $ 6.55
R114490 RIVET,POP,1/8x3/8 AL (BAG OF 10) $ 6.59
R114491 SCREW,SHC,1/4-20x1,BLK (BAG OF 10) $ 6.59
R114492 SCREW,HSS,1/4-20x1/4 CONE POINT(BAG OF 10) $ 6.76
R114493 SCREW,HEX,1/4-20x1 GR5 (BAG OF 10) $ 7.60
SCREW,BHS,5/16-18x1/2 SST BLK OX WNYLOK (BAG
R114494 OF 10) $ 29.29
R114495 SCREW,HEX,5/16-18x5/8 GR 5(BAG OF 10) $ 7.64
R114496 ROLLPIN,3/32x1/2 (BAG OF 10) $ 6.89
R114497 SCREW,PHP,10-24x2 W/1.1" THDLOCK (BAG OF 10) $ 12.20
R114499 SCREW,FHH,5/16x3/4 (BAG OF 10) $ 9.64
R114500 STUD,5/16-18x1.75 (BAG OF 10) $ 28.73
R114709 KIT,INSTL,UNIV PENDANT MTG CLIP,S-SERIES $ 28.63
RI114720 PLUNGER,PENDANT $ 4.38
R114727 KIT,PENDANT,7 FT,UNIVERSAL $ 149.05
R114728 KIT,PENDANT,COIL CORD $ 264.44
RI114729 KIT,PENDANT,10 FT CORD $ 370.49
R114730 KIT,PENDANT,STEEL JACKET $ 20541
RI114731 KIT,STOW/DEPLOY BUTTON,S-SERIES $ 36.47
R114732 KIT,UP/DOWN BUTTON,w/PLUNGER $ 36.47
RI114733 KIT,MALE CLIP,V-METAL,PENDANT $ 38.15
RI114734 KIT,PENDANT,7'UNI-LITE $ 117.97
RI114750 KIT,ROLLSTOP ASSY,w/SPRING $ 236.08
R114752 DECAL,WATCH YOUR STEP,17.36 X 2.50 $ 8.32
R114904 HARNESS,REMOTE CNTL,RECEIVER POWER $ 67.44
R114921 FUSE,5A ATO MINI $ 2.78
RI115159 BOLT,SEX,1/4-20x5/8,SST $ 11.68
RI15161 SLIDER,MAIN LINK,FLDG PLTFRM $ 2.94
RI115164S ARM WLDT,VERTICAL,LH(SILVER) $ 200.92
RI15165S ARM WLDT,VERTICAL,RH(SILVER) $ 200.92
RI115166 ARM ASSY,VERTICAL,LH(GRAY) $ 357.59
RI15167 ARM ASSY,VERTICAL,RH(GRAY) $ 300.16
RI15172 PLATFORM ASSY,FLDG,30"x44"(GREY) $ 1,821.13
RI15175 SPACER,.3901D 0.180 THICK $ 4.18
RI115195 CAM FOLLOWER,.50 OD,10-32 UNF $ 36.42
RI115218-F10X PLATE WLDT,MTG,SPROCKET,FRONT $ 60.57
RI115234-F10X CLAMP WLDT,HOSE $ 40.78
R115320 RELIEF,DIFFERENTIAL,ADJUSTABLE $ 67.44
RI115379-F10X HANDLE,PUMP,ANGLE $ 53.17
R115482-F10X SHAFT WLDT,SPROCKET,DRIVE $ 179.11
RI115519 FITTING,PIVOT,O-RING,NON-SAE $ 31.02
RI115533 DECAL,17 TERMINAL $ 3.78
R115542 DECAL,"MANUAL RELEASE" $ 3.99
RI115566-F10X CYL,HYD ASSY ,W/INTERNAL POT $ 1,440.53
RI15767 SWITCH ASSY,PLNGR TAPPED $ 120.17

@ Ricon.

AWabtec company

9|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI115792 STRAP ASSY,STRAIGHT SLIDER,34"PLTFRM $ 53.17
R115830 SCREW,HSS,5/16-18x1 CUP PT(BAG OF 10) $ 16.85
RI115831 WASHER,FDR .31X1.25(BAG OF 10) $ 4.05
R115832 SCREW,SSS,5/16X1.00(BAG OF 10) $ 20.24
R115842 KIT,SWITCH SET,SEQ., TOGGLE ONLY $ 67.44
R115859 TRANSMITTER ASSY,KEYCHAIN REMOTE $ 143.62
R115862 KIT,CONTROLLER,UNILITE $ 1,561.34
RI115901 SCREW,HEX,5/16-18x3/4 (BAG OF 10) $ 7.88
R115902 SCREW,BHS,1/4-20x1/2 SST BLK OXIDE (BAG OF 10) $ 4.17
R115903 NUT,HEX,4-40 SST(BAG OF 10) $ 6.30
R115905 LOCATING RING, TOGGLE SWITCH,U-108 (BAG OF 10) $ 10.92
R115906 SCREW,PHP,8-32x1 1/4 (BAG OF 10) $ 6.67
RI115907 NUT,ESN,8-32 (BAG OF 10) $ 6.81
R115908 SCREW,PHP,4-40x1 1/4 (BAG OF 10) $ 6.84
R115909 SCREW,PHP,4-40x3/4 MS (BAG OF 10) $ 6.89
RI115911 SCREW,PHP,8TEKx3/4 (BAG OF 10) $ 7.90
RI115914 PIN-EXT,FOLD CUTOFF (KIT OF 10) $ 87.53
RI115915 SCREW,PHP,10-24x1 3/4 (BAG OF 10) $ 7.26
RI115916 WASHER,FLT,.578x1.067x0.31 NYL(BAG OF 10 $ 24.18
RI115917 WASHER,FLT,.188x.438x.049 (BAG OF 10) $ 2.70
R115918 RIVET,POP,3/16x3/8 A/S ##AD66BS (BAG OF 10) $ 7.40
RI115919 NUT,ESN,1/4-20 (BAG OF 10) $ 19.28
R115920 SCREW,HEX,1/4-20x7/8 GR5 (BAG OF 10) $ 4.38
RI115921 WASHER,FDR,.31x1.25 SST BLK OX(BAG OF 10 $ 19.45
R115923 SCREW,PHP,10-32x0.313 SST (BAG OF 10) $ 1.35
R115925 WASHER,ISL,3/4 (BAG OF 10) $ 35.44
RI115927 WASHER,FLT,.145x.375x.032 AN960-6 (BAG OF 10) $ 2.70
R115929 SCREW,FHH,1/4-20x1/2 BLK OXIDE (BAG OF 10) $ 13.95
R115930 PIN,COTTER,3/32x0.50(BAG OF 10) $ 6.47
RI115931 NUT,ESN,3/8-16 (BAG OF 10) $ 7.40
RI115934 SCREW,SSS,5/16x1/2 SST (BAG OF 10) $ 53.96
R115936 SCREW,FHP,10-24x1/4 UNDERCUT SST (BAG OF 10) $ 7.54
R115937 SCREW,FHP,8-32x1/2 (BAG OF 10) $ 4.05
R115938 SCREW,BHS,1/4-20x5/8 BLK SST (BAG OF 10) $ 4.05
R115940 PIN,CLEVIS,1/4-20x0.859 (BAG OF 10) $ 4.05
R115942 SCREW,HSS,1/4-20x3/4 BLK OXIDE (BAG OF 10) $ 4.05
R115943 NUT,HEX,1/4-20 SST (BAG OF 10) $ 4.05
R115944 SCREW,PHP,10-24x3/8 (BAG OF 10) $ 2.70
R115945 SCREW,SSC,5/16x1/4 1/4-20 SSS (BAG OF 10) $ 67.44
R115946 SCREW,FFH,8-32x3/8 (BAG OF 10) $ 7.14
R115948 SCREW,FHH,1/4-20x1 SST(BAG OF 10) $ 8.61
R115949 SCREW,FHP,1/4-20x1 1/4 $ 4.05
RI115950 SCREW,BHS,1/4-20x1 1/4 $ 2.80
RI115952 NUT,SPRING,1/4-20 MULTI THD(BAG OF 10) $ 15.33
RI115953 SCREW,HEX,5/16-18x1 GR5 (BAG OF 10) $ 8.57
R115954 NUT,SCL,5/16-18,.091 MIN THK,SST(BAG OF 10) $ 14.84
RI115955 SCREW,HEX,1/2-13x1 1/4 GR5(BAG OF 10) $ 6.75

@ Ricon.

AWabtec company

10|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RI115956 WASHER,FLT,.35x.75x.65 BRZ(BAG OF 10) $ 6.75
RI115957 SCREW,PHP,10-24x3/4 (BAG OF 10) $ 6.89
R115958 SCREW,BHS,1/4-20x1 SST (BAG OF 10) $ 9.70
RI115959 SCREW,SSS,5/16x1 1/4 (BAG OF 10) $ 21.88
R115960 SCREW,HEX,1/4-20x1 SST (BAG OF 10) $ 4.05
RI115961 SCREW,PHP,8TEK x 1/2 (bag of 10) $ 7.64
R115962 SCREW,FHH,10-24x3/8 SST (BAG OF 10) $ 7.22
R115963 NUT,ESN,5/16-24 THIN SST (BAG OF 10) $ 4.05
R115964 SCREW,FHH,1/4-20x1/2 SST(BAG OF 10) $ 6.63
R115965 SCREW,PHP,10-24x3/8 (BAG OF 10) $ 4.05
RI115972 SCREW,SHC,1/4-20x3/4 BLK(BAG OF 10) $ 7.73
RI115973 SCREW,BHS,5/16-18x1 1/2(BAG OF 10) $ 4.05
RI115974 WASHER,SPLIT #8,SST(BAG OF 10) $ 2.70
RI115975 SCREW,BHS,8-32x1/2 SST (BAG OF 10) $ 4.05
R115982 SCREW,FHP,10-24x3/8,SST(BAG OF 10) $ 7.73
R115983 SCREW,BHS,5/16-18x3/4SST,BLK OX(BAG/10) $ 29.15
R115985 SCREW,BHS,1/4-20X1/2 BLK(BAG OF 10) $ 7.21
R115986 SCREW,HEX,5/16-18x3/8 GR5(BAG OF 10) $ 8.57
R115987 SNPRING,1" (BAG OF 10) $ 8.53
R115988 NUT,HEX,5/16-24 (BAG OF 10) $ 6.93
R115989 SCREW,HSS,5/16X1/2 (BAG OF 10) $ 4.05
RI115991 ROLLPIN,5/32x3/4(BAG OF 10) $ 8.73
R115992 SCREW,HSS,5/16-18x1 1/2 CUP POINT(BAG OF 10) $ 8.10
R115998 ROLLPIN,5/16x1 1/4 (BAG OF 10) $ 5.40
R115999 SCREW,CARR,3/8-16x4,GR5(BAG OF 10) $ 20.12
RI116017 TEMPLATE,DRILL HOLE,5/16-18,F9A ANTI-RTL $ 6.98
R116018 PLATE WLDT,SWIVEL $ 153.03
R116020 KIT,DISPLAY STAND,LIFT,MIRAGE $ 442.86
R116035 KIT,DRILL TEMPLATE,S-SERIES $ 924.05
RI116053 KIT,INSTALL,POWER SEAT BASE $ 39117
RI116059 SCISSOR ASSY,PSB $ 383.28
RI116065 FRAME WLDT,UPPER $ 205.79
RI116067 FRAME ASSY,UPPER $ 1,155.32
RI116069 HANDRAIL PARTS,FIXED,W/HANDRAILL ASSY $ 431.67
R116090 KIT,CAM FOLLOWERW/HARDWARE $ 70.68
R116092 KIT,RESTRAINT BELT ASSY,34"ADA $ 124.01
RI116093 KIT,REPLACEMENT,CBL ASSY,IRS,51200 $ 83.87
KIT,REPLACEMENT,CBL ASSY,IRS,52000 (2 CABLES
R116094 PER KIT) $ 79.67
R116095 KIT,REPLACEMENT,CBL ASSY,IRS,S5000 $ 80.76
RI116213 CYLINDER ASSY,HYDRAULIC $ 598.78
RI116601 HOSE ASSY,HYD,64"x1/4J1Cx1/4JI1C $ 42.87
RI116618 BASEPLATE WLDT,34"PLATFORM $ 341.67
RI116622 PLATFORM ASSY,34"X54" SOLID $ 1,207.68
RI116625 ROLLSTOP ASSY,34"WIDE,INNER $ 241.43
RI116626 INA;ROLLSTOP ASSY,6"x34"W,OUTBOARD $ 200.78
RI116628 HARN,MAIN ELEC,34"W,W/O INTLCK $ 103.95

@ Ricon.

AWabtec company

11|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI16674 KIT,CONTROLLER REPLACEMENT,24V $ 1,525.56
RI16676 GEAR RACK,.5FW 16 DP 20 PA $ 13.89
RI16679 KIT,PIN,LINK-ARM,w/HDWR $ 46.51
RI116728 SUP;NONSKID,VESTIBULE, BLACK $ 87.68
RI16729 NONSKID,ACCESS PANEL,BLACK $ 10.79
RI116730 NONSKID,RAMP,BLACK $ 17292
RI16731 NONSKID,NOSE,YELLOW $ 12.75
RI16739 PLATE, ACCESS PANEL COVER $ 9.45
RI16752 HOSE ASSY,HYD,13.5" $ 35.35
R116914 FLOORING,NONSLIP,RAMP,3641 $ 88.49
RI116919 DRIVE SYSTEM ASSY,RAMP $ 3,224.09
R116920 BALLSCREW ASSY,41L,2CKT,1/2 LEAD $ 2,352.92
RI117143 KIT,INSTALL,SWING DOOR,97 GM $ 955.12
RI17158 EXTENSION,PENDANT,COILED (F9A) $ 209.98
RI117185 TUBE,DOOR LATCH CLEARANCE,F9A-THOMAS $ 7.60
RI117190 KIT,INSTL,LOWERED FLOOR,A6000 $ 37.26
RI17192 MAT HEATER,WARM WELCOME $ 659.20
RI117208 ADAPTER,ORB,4xJIC,4 STL $ 4.17
RI117209 ADAPTER,ORB,6xJIC,6 STL $ 2.78
RI17211 VALVE ASSY,FLOW CTL,PRESSURE $ 125.46
RI117250 SAFETREAD,2"X60FT,ROLL,YELLOW,SAFETY $ 291
RI117269 BOLT,SEX,3/8-16 $ 11.54
RI117284 RAMP SUPPORT WLDT,PAINTED $ 998.22
RI117286 HARN ASSY,J1,156.0" $ 222.58
RI17412 BRACKET,ANGLE MOUNTING,BOTTOM $ 44.97
RI117418 BLOCK,PLTFRM GUIDE,RIGHT HAND $ 90.61
RI17419 BLOCK,PLTFRM GUIDE,LEFT HAND $ 90.61
RI117503 WASHER,FLT,.32x.75x.08 SST(BAG OF 10) $ 8.94
RI117504 WASHER,FLT,.281x.625x.065(BAG OF 10) $ 7.18
RI117505 SCREW,HSS,1/4-20x1/4 SST(BAG OF 10) $ 7.35
RI117506 SCREW,BHS,5/16-18x1/2 SST(BAG OF 10) $ 9.87
RI17507 SCREW,BHS,1/4-20x1 1/8 SST(BAG OF 10) $ 7.81
RI117508 SCREW,HEX,5/16-18x3/4 SST(BAG OF 10) $ 9.54
RI117509 WASHER,SPL,5/16 SST (BAG OF 10) $ 7.56
WASHER,FLT,.406x.812x.065(SAE)(BAG OF 10 (BAG OF
RI17510 10) $ 9.20
RI17565A31 INTERLOCK HANGER $ 3.68
RI17577 BRACKET ASSY,DOOR SWITCH,PWR $ 283.29
RI17664 DOOR LATCH ACTUATOR $ 159.73
RI17701 KIT,RETROFIT,ANTI-STOW,F9A $ 21461
RI17702 ADAPTOR,PRESSURE SWITCH,ANTI-STOW $ 27.79
HARN,SWITCH PLATE,ON-BOARD ELECT. W/PRESS
RI117703 SWITCH $ 323.76
SWITCH PLATE ASSY,ON BOARD ELEC W/PRESS
RI17704 SWITCH $ 43167
RI17707 KIT,SWITCH BOX $ 188.86
RI17713 BRIDGEPLATE ASSY,STEPWELL,23" $ 370.98
RI17743 BASEPLATE WLDT,PSB $ 163.13

@ Ricon.

AWabtec company

12|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI117790 KIT,PENDANT,12V,F9A $ 363.38
RI17791 KIT,DASH HARNESS,F9A $ 55.19
RI17794 HARNESS,MAIN,DOOR OPERATOR (RD0O2900) $ 116.71
RI117800 HARNESS,10 AWG D/O $ 33.72
RI117882-F10X HARN,MAIN,w/HYDRAULIC $ 1,141.22
RI117883-F10X HARN ASSY,SPIDER,w/PWR ROLLSTOP $ 1,285.53
RI117885 KIT,STOW,PROGRAMMING SWITCH $ 99.15
R117887 HARNESS,RELAY,PULLBOX,12V $ 60.71
RI117902 BUSHING,BEARING,MOUNT,S-SERIES $ 17.57
RI117923 TRIM SILL,CHRYSLER $ 1.35
RI1793-AC MOTOR,24VDC $ 82289
RI117930 GUIDE ASSY,DRIVE CHAIN,FRONT $ 433.88
RI117937 FLOORING WLDT,PLATE $ 235.03
RI117964 ACTUATOR WLDT,ROLLSTOP,LH $ 43.78
RI17965 ACTUATOR WLDT,ROLLSTOP,RH $ 43.78
RI17971 ROLLSTOP ASSY, 6" X 39.5" $ 175.37
R118039 CONTROLLER ASSY $ 1,423.18
R118061 CONTROLLER,HI STOW LOGIC (SEE SALES TEXT) $ 685.10
R118078 HARN,RES.POT & PRESS SWITCH $ 400.19
R118082 HARN ASSY,PROXIMITY,SENSOR $ 148.72
R118089 HARNESS ASSY,CONTROL/BUS $ 161.87
R118103 HARNESS,RES.POT,AND PRESS SWITCH $ 399.08
R118226 HARNESS ASSY,J4,39.00" $ 236.56
RI118231 HARNESS ASSY,J1,12.00" $ 114.47
R118232 FITTING,#4 QUICK DISCONNECT $ 26.25
R118235 FITTING,ELBOW,#4 STD THD,#4 JIC $ 9.01
R118247-F10X PLATE WLDT,MTG SPROCKET,REAR $ 61.06
RI118255-F10X RAIL,GUIDE $ 266.89
R118256-F10X BLOCK,STOP $ 33.18
R118295 STOP,CARRIAGE,FRONT $ 16.97
R118334 CONTROLLER,MOTOR/BRAKE, PF5 $ 817.01
R118416 SIDERAIL WLDT,STIFFENER,30" $ 114.66
R118462S ARM WLDT,VERTICAL,LH(SILVER) $ 149.70
R118463S ARM WLDT,VERTICAL,RH(SILVER) $ 149.70
R118497 PLATE SUPPORT WLDT,TOP,30" RAMP $ 40.47
R118523 INA;BUSHING,BOTTOM STEP $ 6.19
R118546 VALVE,SPOOL,4-WAY,3 POSITION,CLOSED $ 24282
R118547 VALVE,CHECK,CV08-20 $ 22.93
RI118557 CHAIN,LEVELING (85.5")SEE SALES TEXT $ 47.22
R118558 CHAIN,LIFTING (29.5")SEE SALES TEXT $ 20.24
RI118611 KIT,PILLOW BLOCK W/MTG HDWR $ 161.10
RI118613 KIT,TARGET SENSOR W/HDWR $ 74.54
RI118614 KIT,COUPLER SHAFT W/HDWR $ 109.43
R118618 DECAL,CAUTION,PINCH POINT,F/OVER RAMP $ 1.17
RI118619 KIT,ACTUATOR,W/ADAPTERS & FITTINGS $ 1,719.26
RI118621 KIT,ARM ASSY,RAMP,LH or RH w/HDWR $ 306.37
R118622 KIT,ACTUATOR MTG HDWR $ 15.56

@ Ricon.

AWabtec company

13|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R118623 KIT,DIVERTER VALVE ,W/ADAPTERS GILLG $ 1,557.55
R118624 KIT,MOUNTING,BRKT W/HDWR $ 26.98
R118625 KIT,LIFTING STRAP $ 22.28
R118628 KIT,DIRECTIONAL VALVE,W/ADAPTERS $ 561.69
RI118631 KIT,COVER,WIRE ACCESS,FLOOR PLATE $ 16.44
R118649 INA;PIN,CLEVIS,1/4x1 23/64(BAG OF 10) $ 4.05
R118660 KIT,CLAMP,CABLE w/HDWR $ 13.49
R118662 KIT,ARM ASSY,RAMP,LH w/HDWR $ 313.67
R118664 KIT,ASSY,PLTFRM,W/RAILS & HDWR $ 1,053.21
R118666 KIT,ARM ASSY,RAMP,RH,w/HDWR $ 31942
R118668 KIT,DIVERTER VALVE,W/ADAPTERS $ 706.99
RI18669A DECAL,SECOND SOLENOID,S-SERIES,ASIAN $ 3.75
RI118675 DIS;KIT,PLATE/HANDLE, TIRERACK $ 47.22
R118686 KIT,CAP #8,JIC,HYD FITTING (10 PER KIT) $ 32.37
R118693 KIT,FLOOR PLATE w/HDWR (FR2-3048) $ 350.83
R118699 KIT,HINGE,W/HDWR,FR2-3048 & 3050 $ 118.38
RI118714 HANDRAIL SET,FIXED,SW-SHORT MTG $ 1,065.70
RI118727 KIT,STOW SENSOR,HARNESS,w/BRKT (PF5) $ 412.79
RI118738 KIT,CIRCUIT BREAKER,A6/PWR DR OPENER $ 36.79
RI118741 SHAFT,FOLDOVER RAMP $ 65.66
RI118744 RAMP PLATE ASSY,w/RAILS $ 1,586.74
RI118759 KIT,RETRO,STOW LOCK,CBL ASSY PSL-10 $ 229.33
RI118793 INAKIT,RETRO,INTLK SOLENOID,w/BRKTS $ 317.01
R118798 KIT,RETROFIT,VENT LINE,ACTIVA,GM $ 94.43
R119031 TRIM POCKET WLDT,30" WIDE $ 310.07
R119036 BRACKET,SOLENOID $ 4.78
RI119037 COUNTER ASSY $ 75.03
R119042 BUSS BAR,SLND,ISKRA MOTOR $ 5.76
R119068 KIT,RETRO,SOLENOID,12V,S-SERIES $ 162.55
R119069 PLATE,SUPPORT,10", $ 19.86
R119083 GUARD,SWITCH,SAFETY,PAINTED $ 36.09
R119084 BAR,REAR FRAME,PAINTED $ 17.52
R119086 COVER,PULLBOX,PAINTED $ 21.02
R119091 JUMPER ASSY,PRESSURE SWITCH,LH PUMP $ 21.04
R119096 HANDRAIL,PAIR,wW/BELT,34"W PLATFORM $ 22297
RI119155 BRACKET WLDT,MAIN VERT. 29.5" $ 303.52
RI19174 BOLT,SHOULDER,MOD,LINAK $ 20.24
R119198 KIT,RETROFIT,GUIDE WLDT,w/HDWR $ 80.94
RI119231 MOTOR ASSEMBLY,LH $ 2,159.40
RI119231-F10X MOTOR ASSEMBLY,LH $ 1,650.47
R119243-F10X TRIGGER WLDT $ 32.66
R119253 RODEND,M10X14MM,M10-1.5,L/H $ 30.20
R119254-F10X SCREW,SSC,M8-1.25,10DIA x 16 $ 39.18
RI119271 PIN,PIVOT,.75X4.25,SST $ 48.50
RI119275 PUMP ASSY,24V,LRG RES $ 1,044.28
R119282 PLUNGER ASSY $ 90.95
RI119292-F10X COVER,CARRIAGE $ 133.47

@ Ricon.

AWabtec company

l4|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R119309 BRACKET,GAS SPRING,BOTTOM(GREY) $ 18.93
R119318 KIT,RETROFIT,GAS SPRING ASSY $ 126.49
RI119319 PLATFORM ASSY,FLDG,30x51"w/CAM FOL,GREY $ 1,618.79
R119320 PLATFORM ASSY,FLDG,32x51",w/CAM FOL,GREY $ 1,491.65
RI119327 ARM ASSY,VERTICAL,LH(GRAY) $ 350.15
R119328 ARM ASSY,VERTICAL,RH(GRAY) $ 350.15
R119401 KIT,RETAINER,BALL NUT (PF5) $ 72.65
KIT,RESTNT BELT ASSY,RETRACTABLE,39"ADA
RI119410 (S006/S5006) $ 235.45
R119421 KIT,ASSY,PLTFRM,w/RAILS & HDWR,32"x48" RAMP $ 1,551.33
R119423 KIT,ASSY,PLTFRM,w/RAILS & HDWR,30"x50" RAMP $ 1,645.76
R119425 KIT,PENDANT,24V,10FT CABLE $ 47214
R119428 BRACKET WLDT,PIVOT,DRIVE SHAFT ARM $ 30.30
RI119507 LINK ASSY,GREY $ 121.19
RI119507L LINK ASSY,LH GREY $ 127.48
RI119513 PIN,CLEVIS 5/16x1-1/4(BAG OF TEN) $ 13.98
RI119517 DECAL,OPER.INSTR,K-SERIES $ 6.06
R119520J DECAL,INSTR,PLATFORM RELEASE $ 6.75
RI119521J DECAL,INST,UNFOLD HANDRAILS(JAPANESE) $ 4.76
RI119522 LINK ASSY, RH,YELLOW $ 124.01
RI119522L LINK ASSY,LH,YELLOW $ 120.40
R119523 LINK ASSY,GREY $ 125.75
RI119523L LINK ASSY,LH,GREY $ 120.40
R119524J DECAL,INSTR,PLTFRM RELEASE,JAPANESE $ 4.05
R119528 KIT,COVERS,RAMP,CALTRANS $ 188.86
R119534 MANUAL DEPLOY TOOL ASSY. FOLD OVER RAMPS $ 65.65
R119538J DECAL,OPER INSTR,F9T,SLIDE GUIDE,JAPAN $ 23.36
R119542 KIT,RAIL,SIDE BARRIER,L.H.(NABI) $ 194.53
R119543 KIT,RAIL,SIDE BARRIER,R.H.(NABI) $ 19453
R119544 KIT,FLOOR PLATE W/HDWR,FR2-3248 $ 607.04
R119545 KIT,HINGE w/HDWR,FR2-3248 $ 134.90
R119546 KIT,FLOORPLATE,W/HDWR,FR2-3050 $ 566.57
RI119547 KIT,RAIL,SIDE BARRIER,R.H.,FR2-3050 $  226.63
R119548 KIT,RAIL,SIDE BARRIER,L.H.,FR2-3050 $ 21247
R119549 KIT,PLATE,RAMP,30"Wx50"L,FR2-3050 $ 1,373.95
RI119551J DECAL,MANUAL OPER INSTR,F9T,JAPANESE $ 10.54
RI119555 KIT,CONTROL BOX $ 236.08
RI119557 KIT,TOOL CLIP,w/HDWR $ 24.44
RI119559 KIT,SOLENOID PLT. ASSY. DE,w/HDWR $ 295.98
RI119560 INA;KIT,ROD ASSY,B/PLATE ACTR,26"UTS $ 136.85
RI119561 KIT,BRIDGEPLATE ASSY 9"DE $ 318.36
RI119562 KIT,PULLBOX COVER $ 45.87
R119564 KIT,HOSE CLAMP,w/HDWR $ 64.76
RI119565 KIT,ACCESS PANEL $ 202.10
RI119566 KIT,ENCLOSURE COVER 19.98" $ 163.33
RI119567 KIT,STOP BLOCK,w/HDWR $ 47.22
RI119568 KIT,BLOCK-OFF PLATE $ 33.72

@ Ricon.

AWabtec company

15|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI119569 KIT,ENCLOSURE COVER,LINKAGE,19.98"w/HDWR $ 175.37
RI119570 KIT,ENCLOSURE COVER,BOTTOM,6.66" $ 153.59
RI19571 KIT,ENCLOSURE COVER,TOP,6.66"w/HDWR $ 114.66
RI119572 KIT,PLATFORM RELEASE SWITCH,DE $ 101.18
RI19573 KIT,CLUTCH ASSY,RH MOUNT $  447.72
RI19573L KIT,CLUTCH ASSY,LH MOUNT $ 499.51
RI19574 KIT,DRIVE CHAIN,#35,46P $ 28.80
RI119575 KIT,CAM FOLL,1 1/4x3/4,w/65DEG FIT/HDWR $ 74.25
RI119576 KIT FLANGE BEARING,3/4ID(KIT OF 10) $ 35.02
RI19577 KIT,GEAR MOTOR ASSY,24V,DE $ 1,131.72
RI119579 KIT,FLANGE BEARING 1"ID(KIT OF 10) $ 58.36
R119580 KIT,STOW SWITCH ASSY,w/HDWR $ 114.66
R119581 KIT,HARNESS CLAMP $ 40.47
R119583 KIT,CAM FOLLOWER,1x5/8,7/16-20,w/HDWR $ 96.40
R119584 KIT,BUSHING ASSY,DRIVESHAFT LINK $ 31.97
R119585 KIT,PIVOT ASSY $ 47.22
RI119587 KIT,QUICK DISCONNECT $ 53.96
R119588 KIT,MAIN HARNESS W/HYDRA LINE $ 53240
R119589 KIT,SPIDER HARNESS,BOXED $ 305.51
R119590 KIT,HARNESS,SW & POT $ 283.96
RI119591 KIT,D.E.CONTROLLER,24V $ 2,274.06
R119592 KIT,GEAR,SPUR,16DP,18 TEETH,w/ROLLPIN $ 65.65
RI119593 KIT,LINK ASSY $ 148.72
RI119594 KIT,DRIVE SHAFT $ 139.38
R119595 KIT,SPROCKET,12T,w/ROLLPIN $ 55.57
RI119596 KIT,LOWER ARM,D.E.,43.0" CENTERS $ 175.37
RI119597 INA;KIT,BUSHING,.88X.75IDX.50 (KIT OF 10) $ 70.03
R119598 KIT,COVER,LOWER ARM,30.313"CENTERS $ 74.94
RI119599 KIT,PLATE,BRGPLT ACTR MT $ 67.44
R119600 INA;KIT,BUSHING,.88xODx.40L(KIT OF 10) $ 66.69
RI119621 BRACKET,DRIVE SHAFT RELEASE $ 13.89
R119638 BRACKET,COVER,MOUNTING,F9T $ 21.05
RI1967-AB TERMINAL STRAP $ 46.25
RI119685 BLOCK,BRGPLT GUIDE BUMPER,MCI,F9T $ 33.68
RI119687 BRACKET,BRIDGEPLATE GUIDE $ 32.74
RI119701 SCREW,HEX,3/8-16x1 1/2,GR5(BAG OF 10) $ 2.70
RI119702 SCREW,HEX,3/8-16x2 3/4 GR5(BAG OF 10) $ 9.45
RI119703 NUT,HEX,5/16-18,SST(BAG OF 10) $ 8.15
RI119704 SCREW,HSS,1/2-20x1 1/4 W/ NYLOK(BAG 10) $ 16.05
RI119706 SCREW,HEX,5/16-18x1 SST(BAG OF 10) $ 10.45
RI119709 WASHER,SPL,3/8 (BAG OF 10) $ 6.93
RI119710 NUT,HEX,3/8-24 (BAG OF 10) $ 5.21
RI19711 SCREW,HEX,5/16-18x2 SST(BAG OF 10) $ 6.75
RI119713 NUT,HEX,1/4-20,ACORN(BAG OF 10) $ 4.05
RI19714 NUT,HEX,5/16-18(BAG OF 10) $ 2.70
RI119715 SCREW,BHS,1/4-20x1 SST,BLK OX(BAG OF 10) $ 7.48
RI19716 WASHER,FLT,.469x.922x.065(BAG OF 10) $ 2.70

@ Ricon.

AWabtec company

16|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI19717 SCREW,PHP,10-32x3/4(BAG OF 10) $ 1.35
RI119718 SCREW,PHP,10-32x3/8 SST(BAG OF 10) $ 2.70
R119720 SCREW,BHS,1/4-20x2 1/4,SST,BLK OXDE (BAG OF 10) $ 11.93
RI119721 SCREW,FHP,M4-.7X6MM,SST(BAG OF 10) $ 1.35
RI119722 SCREW,HSS,1/2-20x21/2 FLT PT(BAG OF 10) $ 26.98
RI119723 NUT,HEX,1/2-20 SST(BAG OF 10) $ 4.05
RI119724 RIVET,BLIND,3/16x.250,SST(BAG OF 10) $ 13.49
RI119725 SCREW,FHT,3/8-16x1 SST(BAG OF 10) $ 22.93
RI119726 WASHER,FLT,.188x.438x.049 SST(BAG OF 10) $ 7.22
RI19727 SCREW,SSS,5/16x1/4 SST(BAG OF 10) $ 22.93
RI119728 NUT,ESN,1/2-20 THIN SST(BAG OF 10) $ 6.75
RI119729 WASHER,FLT,.531x1.062x.095 SST(BAG OF 10 $ 2.70
RI119730 SNAPRING,1/4"KLIPRING(BAG OF 10) $ 6.75
RI19731 SCREW,SSS,3/8x3/4 SST(BAG OF 10) $ 1.35
RI119732 SCREW,PHP,8Ax0.63 SST(BAG OF 10) $ 135
RI119733 SCREW,FHP,10ABx2 SST(BAG OF 10) $ 2.70
RI119738 NUT,HEX,7/16-20 SST(BAG OF 10) $ 6.75
RI119739 SCREW,FHH,1/4-20x5/8 SST(BAG OF 10) $ 8.08
R119740 SCREW,PHP,4-40x5/8 SST(BAG OF 10) $ 2.70
R119742 NUT,NYLON INSERT,4-40,SST(BAG OF 10) $ 2.78
RI119743 WASHER,FLT,.128x.313x.032 SST(BAG OF 10) $ 2.70
RI119744 LOCKNUT,M12xM1.75,NYLON INSERT (BAG OF 10) $ 4.20
RI119745 BOLT,M12xM1.75xM45,GR10.9(BAG OF 10) $ 12.14
RI119746 SCREW,PHP,8Ax1/2(BAG OF 10) $ 2.70
RI119747 SCREW,HEX,5/16-18x1/2(BAG OF 10) $ 2.70
R119748 SPRING PIN,3/16x3/4(BAG OF 10) $ 4.05
RI119749 SCREW,SSS,1/4x1 1/4 SST(BAG OF 10) $ 26.98
RI119750 SCREW,SSS,1/4x1.00 SST(BAG OF 10) $ 36.66
RI119751 WASHER,FLT,.53x1.40x.06 NYL(BAG OF 10) $ 21.00
RI119752 SCREW,HSS,5/16-18x1/4 BLK(BAG OF 10) $ 6.81
RI119753 SCREW,SSS,5/16x1/4 BLK GR8(BAG OF 10) $ 13.49
RI119754 NUT,JAM,5/16-18(BAG OF 10) $ 2.70
RI119755 SCREW,HEX,1/4-20x5/8 GR5(BAG OF 10) $ 2.70
RI119756 ROLLPIN,5/32x1.00,SST(BAG OF 10) $ 7.98
RI19757 SCREW,FHP,10-24x5/8,SST(BAG OF 10) $ 7.44
RI119758 NUT,JAM,1/2-20(BAG OF 10) $ 4.05
RI119759 WASHER,ISL,5/16x.61x.03 BRZ(BAG OF 10) $ 2.70
RI119762 SCREW,FHS,1/4-20x1 3/4(BAG OF 10) $ 2.70
RI119768 PEM STUD 5/16-18x1.00L STL(BAG OF 10) $ 9.45
RI19771 CLAMP,NYLON,1/4"BLACK (BAG OF 10) $ 1.35
RI19772 CLAMP,NYLON,5/16"BLACK(BAG OF 10) $ 1.35
RI119773 CLAMP,NYLON,3/8"BLACK(BAG OF 10) $ 9.83
RI19774 CLAMP,NYLON,1/2'BLACK(BAG OF 10) (SMITH 8916) $ 7.98
RI19775 CLAMP,NYLON,5/8"NATURAL(BAG OF 10) (SMITH 8918) $ 1.35
RI19777 CLAMP,CABLE,3/16"(BAG OF 10) $ 48.00
RI19778 GROMMET,SPLIT,1",HEYCO(BAG OF 10) $ 9.45
RI19779 GROMMET,CATAPILLAR,1/8"(BAG OF 10) $ 9.45

@ Ricon.

AWabtec company

17|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R119780 GROMMET, 1" HEYCO(BAG OF 10) $ 5.40
RI119781 BUMPER C,0.86"x0.400"(BAG OF 10) $ 13.49
RI119782 BUMPER B,0.75"x0.57"(BAG OF 10) $ 12.60
RI119783 BUMPER BUTTON,IRS CAM(BAG OF 10) $ 11.68
RI119784 BUMPER,RUBBER #315-009(BAG OF 10) $ 22.68
R119785 SCREW,HEX,5/16-18x1 1/4(BAG OF 10) $ 2.70
R119788 WASHER,FLT,.35x.62x.09 RBR(BAG OF 10) $ 6.75
RI119791 SCREW,HEX,8-32x1/2 SST.(BAG OF 10) $ 4.05
RI119792 SCREW,FHH,M5-.8x20MM,SST,BLK OXIDE(BAG OF 10) $ 2.70
RI119793 NUT,SPRING,M5-.8,MULTI-THD(BAG OF 10) $ 16.46
RI119794 SCREW,FHS,10-32x3/8 SST(BAG OF 10) $ 1.35
RI119795 SCREW,PHP,1/4-20x5/8(BAG OF 10) $ 4.05
RI119796 SCREW,FHP,1/4-20x2"(BAG OF 10) $ 2.70
RI119797 SCREW,SHC,8-32x1"BLK(BAG OF 10) $ 2.70
R119798 CLAMP,3/16"NYL BLK(BAG OF 10) $ 135
RI119799 NUT,HEX,10-24 ACORN(BAG OF 10) $ 4.05
R119813 BLOCK,STOP $ 42.99
R119818 EXTENSION,PENDANT,UNATTACHED CONNECTOR $ 71.49
R119832 KIT,RETRO,BULKHD CONN,HYD,PUMP BOX $ 80.94
R119835 BRACKET ASSY,ROLLER (PF5) $ 67.44
R119836 KIT,RETRO,FR2 SIDE CHANNEL $ 183.46
R119843 KIT,RETRO,SOLENOID,24V,S-SERIES $ 202.34
R119847 KIT,LIFT FRAME,EXTENDED $ 1,011.74
RI119873 KIT,RETRO,CLEVIS REINFORCEMENT,F9 $ 330.51
R119895 LIFTING FRAME WLDT $ 20234
RI119915 KIT,STOW LOCK $ 317.01
RI119919 KIT,STOW LOCK w/SHIMS,REAR MOUNT, 12V $ 530.10
R119933 KIT,STOW LOCK w/SHIMS,REAR MOUNT $ 343.99
R119961 KIT,RETRO,RTN TO TANK HOSE,28"LONG $ 155.14
R119966 BUSHING,FLANGE,.50 ODx.38 IDx.50L $ 3.86
R119968 BEARING,THRST,1.380Dx.50IDx.13THK $ 19.18
R119970 KIT,BUSHING & BOLT REBUILD(ONE RAMP) $ 205.38
RI119973 KIT,FLANGE BUSHING,ELBOW JOINT (KIT OF 10) $ 11251
RI119974 KIT,FLANGE BUSHING,RAMP JOINT (KIT OF 10) $ 37.77
RI119975 KIT,BUSHING REBUILD,RAMP,FR2 SERIES $ 104.41
R119982 KIT,REPLACEMENT,PRESSURE SWITCH $ 145.89
R119987 STIRRUP ASSY,14-16" UTS $ 47214
R119989 KIT,RETRO,INTERIOR LIGHT HARN,ACTIVAN $ 107.92
R119993 HARNESS,PUMP TO PULLBOX,REAR,23FT $ 365.53
RI120-14-703 LUBRICANT-LOW/HIGH TEMP GREASE * $ 40.29
R120-14-706 GREASE,RED,AEROSOL $ 21.02
RI120-16-051 OIL,AIRCRAFT HYDRAULIC,ONE GAL CONT $ 27.44
R120103 SWITCH,RCKR,SPDT MOM,CROSS SERATED,RED $ 36.47
R120108 KIT,STOW LOCK w/SHIMS,REAR MOUNT $ 460.45
RI120122 PUMP HANDLE ASSEMBLY $ 58.36
R120130 HANDLE ASSY,PUMP,ANGLED $ 92.14
RI120131 PUMP ASSY,w/BRKTS,12V $ 1,303.26

@ Ricon.

AWabtec company

18|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI120133 MIC MOUNT ,W/SCREW $ 8.76
RI120176 CYLINDER ASSY,W/O INT.POT, TRUNION/PIN $ 613.79
RI120178 CYLINDER ASSY,W/INTERNAL POT,TRUNION/PIN $ 1,261.20
R120207 PULLBOX $ 60.32
R120226 MIC MOUNT ASSY,PENDANT & KEY SWITCH $ 30.85
R120228 TUBE,POLY,6MM OD xX4MM ID,8.0' $ 7.90
R120229 TUBE,POLY,6MM OD X 4MM ID,5.0' $ 6.11
R120231 KIT,GUIDE BLOCK,STOW LOCK,LH $ 16178
R120234 KIT,GUIDE BLOCK,ANTI-RATTLE,RH FLDG H/RAILS $ 154.56
R120235 KIT,GUIDE BLOCK,ANTI-RATTLE,RH REAR MOUNT $ 101.12
R120258 WASHER,DOUBLE-D KEY-HOLE $ 3.79
R120260 BUSHING,.880Dx.75IDx.28L $ 2.01
R120261 BUSHING,.880Dx75IDx.38L $ 4.38
R120282 DECAL,3.0x24,RED/WHITE DIAG $ 6.82
RI120562-F10X BRACKET WLDT,RELEASE,LH $ 66.19
R120566 NUT,ESN,M4-.7,SST(BAG OF 10) $ 1.35
R120567 NUT,ESN,M5-.8,SST(BAG OF 10) $ 2.52
R120568 NUT,ESN,M6-1.0,SST(BAG OF 10) $ 4.05
RI120570 NUT,HEX,M5-.8,ACORN,SST(BAG OF 10) $ 4.05
RI120571 NUT,HEX,M8-1.25,ACORN,SST(BAG OF 10) $ 12.14
RI120572 NUT,HEX,M10-1.5,SST(BAG OF 10) $ 4.05
RI120573 NUT,HEX,M10-1.5,LH,SST(BAG OF 10) $ 14.84
RI120574 NUT,JAM,M8-1.25,SST(BAG OF 10) $ 2.70
RI120575 SCREW,PHP,M4-.7X12MM,SST(BAG OF 10) $ 1.35
RI120577 SCREW,BHS,M5-.8X10MM,SST(BAG OF 10) $ 5.40
RI120578 SCREW,BHS,M5-.8X12MM,SST(BAG OF 10) $ 2.70
RI120579 SCREW,BHS,M6-1.0X12MM,SST(BAG OF 10) $ 4.05
R120580 SCREW,BHS,M6-1.0X25MM,SST(BAG OF 10) $ 6.75
R120581 SCREW,BHS,M6-1.0X30MM,SST(BAG OF 10) $ 5.40
R120582 SCREW,BHS,M8-1.25X16MM,SST(BAG OF 10) $ 6.75
R120583 SCREW,BHS,M8-1.25X20MM,SST(BAG OF 10) $ 6.75
R120584 SCREW,BHS,M8-1.25X25MM,SST(BAG OF 10) $ 13.49
R120585 SCREW,BHS,M8-1.25X35MM,SST(BAG OF 10) $ 14.84
R120587 SCREW,FHH,M5-.8X12MM,SST(BAG OF 10) $ 2.70
R120589 SCREW,FHH,M6-1.0X20MM,SST(BAG OF 10) $ 5.40
R120590 SCREW,FHH,M8-1.25X12MM,SST(BAG OF 10) $ 10.79
RI120591 SCREW,FHH,M8-1.25X20MM,SST(BAG OF 10) $ 14.84
R120592 SCREW,FHH,M8-1.25X25MM,SST(BAG OF 10) $ 8.10
R120593 SCREW,FHH,M8-1.25X40MM,SST(BAG OF 10) $ 8.10
R120595 SCREW,HEX,M6-1.0X12MM,SST(BAG OF 10) $ 4.05
R120596 SCREW,HEX,M6-1.0X20MM,SST(BAG OF 10) $ 4.05
RI120597 SCREW,HEX,M8-1.25X16MM,SST(BAG OF 10) $ 5.40
R120598 SCREW,HEX,M8-1.25X20MM,SST(BAG OF 10) $ 6.75
R120599 SCREW,HEX,M8-1.25X25MM,SST(BAG OF 10) $ 6.75
R120600 KIT,BEARING-DU,.75IDx.8750D (6 PER KIT) $ 43.90
R120602 KIT,BUSHING.750Dx.32IDx.38(KIT OF 10) (10) $ 61.76
R120605 KIT,MTG BRKT,LIMIT SWITCH,w/HDWR $ 66.46

@ Ricon.

AWabtec company

19|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R120606 KIT,COVER ASSY,PRS EXT $ 63.35
R120607 KIT,ACTUATOR FOOT ASSY,w/HDWR $ 191.56
R120608 KIT,PLTFRM GUIDE,LH $ 51.98
R120609 KIT,ROLLSTOP LINKAGE $ 189.66
R120610 KIT,ROLLSTOP GEAR $ 57.92
RI120611 KIT,GEAR MOTOR MTG PLATE $ 36.94
R120612 KIT,GEAR MOTOR,24V,w/HDWR $ 425.05
RI120613 KIT,GEAR LINKAGE $ 233.85
RI120614 KIT,BRKT WLDT,MAN REL,RH,w/HDWR $ 74.19
R120615 KIT,BRKT WLDT,MAN REL,LH,w/HDWR $ 78.24
RI120616 KIT,KNOB,PWR ROLLSTOP,w/ROLLPIN $ 58.36
R120618 KIT,HANDRAIL FLDG,LH,w/BUMPERS $ 291.16
R120619 KIT,H/RAIL PIVOT BRKT ASSY,RH $ 63.75
R120620 KIT,H/RAIL PIVOT BRKT ASSY,LH $ 70.82
RI120621 KIT,H/RAIL STRIKER,w/HDWR $ 40.47
R120622 KIT,STIFFENER,PLTFRM,FRONT $ 94.43
R120623 KIT,ROLLSTOP PRS,SW,w/HDWR $ 435.72
RI120624 KIT,BLOCK,PLTFRM GUIDE,RH $ 51.17
R120625 KIT,GUIDE BLOCK,PLTFRM,STOW,w/HDWR $ 29.78
R120626 KIT,STIFFENER,PLTFRM,REAR,w/HDWR $ 53.96
R120627 KIT,LATCH ASSY,w/HDWR $ 161.87
R120628 KIT,HANDRAIL,FLDG,RH,w/BUMPERS $ 275.38
R120630 KIT,LOWER ARM,SW,30.313 CENTERS $ 12141
R120632 KIT,SOLENOID PLT ASSY,SW,w/HDWR $ 304.37
R120633 KIT,RELEASE SWITCH,PLTFRM,SW $ 157.83
RI120634 KIT,GEAR MOTOR ASSY,12V,SW,w/ROLLPIN $ 1,037.70
R120635 KIT,SWITCH ASSY,DEPLOY,SW $ 256.31
R120636 KIT,CONTROLLER,12V,FOT $ 2,436.28
R120637 KIT,MOUNTING BRACKET,w/RIVET $ 34.49
RI120638 KIT,PENDANT,24V,w/DECAL $ 346.07
RI120639 KIT,SHAFT RELEASE,PLTFRM,DE,RH w/HDWR $ 283.09
R120640 KIT,SHAFT RELEASE ,PLTFRM,SW,LH w/HDWR $ 283.28
RI120641 KIT,BRIDGEPLATE ASSY,SW $ 580.07
R120642 KIT,BLOCK,GUIDE,BRGPLT,SW,w/HDWR $ 52.42
R120643 KIT,SKID,BRGPLT(KIT OF 10) $ 54.93
R120644 KIT,SPRING ASSY,SW,w/HDWR $ 114.23
R120645 KIT,LINK ARM ASSY,SW,w/HDWR $ 16187
R120646 KIT,STIRRUP ASSY,SW,w/HDWR $ 256.31
R120647 KIT,BUSHING,STIRRUP PIVOT(KIT OF 2) $ 32.37
R120648 KIT,ROLLSTOP ASSY,SW 8" $ 404.70
R120649 KIT,BLOCK,GUIDE,PLTFRM,SW,RH,w/HDWR $ 72.95
R120650 KIT,BLOCK GUIDE,PLTFRM L/H $ 119.90
RI120651 KIT,STIRRUP WLDT,DE,w/HDWR $ 420.52
R120652 KIT,PIVOT,SW,w/HDWR $ 128.15
R120653 KIT,BUMPER,RUBBER (KIT OF 10) $ 50.84
R120655 KIT,GEAR MOTOR,12V,w/HDWR $ 145.15
R120656 KIT,SPROCKET,T,w/ROLLPIN $ 46.69

@ Ricon.

AWabtec company

20|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R120658 KIT,FITTING,PIVOT,ASSY,w/O-RING $ 45.87
R120662 KIT,O-RING,NITRILE (KIT OF TEN) $ 22.93
R120663 KIT,FITTING,PIVOT 1/4 NPT, w/O-RING $ 51.26
RI120664 KIT,MANUAL RELEASE RESET RAMP $ 34.73
R120665 KIT,BRIDGEPLATE MOUNTING BRACKET $ 101.18
R120666 KIT,TERM STRIP,7-TERM,w/HDWR $ 40.47
RI120667 KIT,SOLENOID,24V,SNGL POLE,w/HDWR $ 54.24
RI120668 KIT,SOLENOID,12V,DPST,CONT DUTY,HWKIT 1 $ 47.81
R120669 KIT,SOLENOID,24V,DBL POLE,w/HDWR $ 104.22
R120670 KIT,SOLENOID,12V,DBL POLE,w/HDWR $ 101.97
RI120671 KIT,STOWLOCK 12V,SW,w/HDWR $ 290.37
R120680 SCREW,PHP,MALE,1/4-20x.98,CHROME (KIT OF TEN) $ 31.02
R120682 SCREW,PHP,8ABx1",w/WASHER(BAG OF 10) $ 8.10
R120683 SCREW,PHP #12 x 1" SST(BAG OF 10) $ 2.70
R120684 BUTTON,PRESS FIT,INT WALL(KIT OF 10) $ 32.37
R120686 SCREW,HEX 7/16x1 3/4 GRS (BAG OF 10) $ 13.49
R120687 NUT,FLG 7/16-20(BAG OF 10) $ 8.10
R120700 PLATFORM ASSY,FLDG,30"x51" $ 1,617.78
R120707 KIT,CTRLR,UNIVERSAL ,w/PROGRAM INSTRUCT $ 788.62
R120900 SCREW,HEX,M10-1.5X16MM,SST(BAG OF 10) $ 8.09
R120901 SCREW,HEX,M10-1.5X25MM,SST(BAG OF 10) $ 10.78
R120902 SCREW,HEX,M10-1.5X30MM,SST(BAG OF 10) $ 9.43
R120904 SCREW,HEX,M10-1.5X70MM,SST(BAG OF 10) $ 16.18
R120905 SCREW,HEX,M12-1.75X30MM,SST(BAG OF 10) $ 16.18
R120906 SCREW,HSS,M5.-.8X6MM,SST(BAG OF 10) $ 2.70
R120907 SCREW,HSS,M6-1.0X6MM,SST(BAG OF 10) $ 4.05
R120908 SCREW,HSS,M8-1.25X8MM,SST(BAG OF 10) $ 5.40
R120909 SCREW,PHP,M3-.5X12MM,SST(BAG OF 10) $ 1.35
R120910 SCREW,PHP,M3-.5X30MM,SST(BAG OF 10) $ 2.70
RI120911 WASHER,FLT,M3X7MMX.8MMTHK,SST(BAG OF 10) $ 1.35
R120912 WASHER,FLT,M4X9MMX.8MMTHK,SST(BAG OF 10) $ 1.35
R120913 WASHER,FLT,M5X10MMX1MMTHK,SST(BAG OF 10) $ 4.05
R120915 WASHER,FLT,M6X18MMX1.6MMTHK,SST(BAGOF10) $ 2.70
R120918 WASHER,FLT,M12X24MMX2.5MMTHKSST(BAGOF10) $ 4.05
R120920 WASHER,SPL,M5X9.2MMX1.2MMTHKSST(BAGOF10) $ 1.35
R120921 WASHER,SPL,M6x11.8MMx1.6MMTHKSST(BAG/10) $ 1.35
R120922 WASHER,SPL,M8x14.8MMx2MM THKSST(BAG/10) $ 1.35
R120923 WASHER,SPL,M10x18.1MMx2.2THKSST(BAGOF10) $ 1.35
R120924 WASHER,SPL,M12x21.1MMx2.5THKSST(BAGOF10) $ 2.70
R120928 HYD CYL ASSY,w/INT POT,SLEEVED $ 1,341.41
R120931 HYD CYL ASSY,w/O INT POT,SLEEVED $ 569.61
RI120959-F10X CABLE,CARRIAGE RELEASE $ 268.28
RI120976-F10X PLATE WLDT,B/PLATE ACTUATOR,RH $ 50.12
RI120977-F10X PLATE WLDT,B/PLATE ACTUATOR,LH $ 50.12
R120980 INA;STUD,ADJUSTMENT,ACTUATOR $ 28.34
RI121370 CAM FOLLOWER,M10-x1.25x13MM,SEALED,SST $ 167.99
R121438 TREAD,REAR,PLATFORM,RH $ 67.44

@ Ricon.

AWabtec company

21|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI121439 TREAD,REAR,PLATFORM,LH $ 52.61
R121449 TREAD,BRIDGEPLATE,RH $ 40.47
RI121604 ARM ASSY,VERTICAL,RH $ 366.10
RI121605 ARM ASSY,VERTICAL,LH $ 366.10
RI121622 PLATE,BOTTOM COVER,SHORT FRAME $ 29.67
RI21641 VALVE ASSY,DIRECTIONAL,SHORT FRAME $ 372.05
RI121642 HOSE ASSY,HYD,9.00"x1/4J1Cx1/4JIC $ 30.28
RI121645 LINK ASSY,GREY $ 123.21
RI121645L LINK ASSY,LH,GREY $ 107.92
RI21645R LINK ASSY,RH,GRAY $ 107.92
RI121647 PNEUMATIC SPRING/BRACKETS ASSY $ 129.11
RI21670 PENDANT ASSY,12V,OVERHEAD MNT,25'L $ 188.86
RI121780 BUMPER,STOP,DEPLOY $ 4.09
RI121813 KIT,RETRO,CABLE ASSY,w/BLOCK (K/S5500) $ 114.99
R121825 ROLLER,LIFTING MECHANISM (KIT OF 4) $ 51.80
R121827 TUBE,POLYURETHANE,6MM OD x 4MM 1D,6.0' $ 6.26
R121828 TUBE,POLYURETHANE,6MM OD x 4MM 1D,9.0' $ 7.99
R121829 KIT,CYL REPAIR(PISTON/GLAND ASSY,w/INSTR $ 81.27
R121838 KIT,PF7 RETROFIT,HARNESS,ENCLOSURE $ 293.68
RI121851 KIT,RETRO,TAB,STOW-LOC $ 32.46
RI121922 SPROCKET#35-B,20 TEETH $ 111.96
R121924 RELEASE TRIGGER WLDT $ 63.78
RI121941 TRIGGER RELEASE ASSY,LH $ 155.62
R121942 TRIGGER RELEASE ASSY,RH $ 159.03
RI121994 KIT,RETRO,ANTI-RATTLE,PF5-3641R $ 74194
R122-02-130 UNION,BARBED PLASTIC,4MM ID HOSE $ 1.60
R122-02-225 TUBE,NYCOIL,1/8 OD,BLK $ 1.35
R122-02-230 TUBE,POLYURETHANE,6mmOD/4mmID,BLK $ 4.38
R122-02-240 HOSE,RBR,3/8 $ 4.05
RI122-10-044 CLAMP,WORM,#44 SST $ 5.40
R122005 KIT,CLEVIS,w/PIN & CLIP $ 31.02
R122008 KIT,PIVOT PIN,TRIGGER $ 53.96
R122009 ROLLSTOP ASSY,w/SAFETREAD $ 2092.73
RI122014 BUSHING,.50IDX.50W,(KIT OF 2) $ 28.33
R122017 KIT,BUCKLE ASSY ,W/SW&HDWR $ 42.48
R122021 RIVET,3/16 STRUCTURAL(BAG OF 10) $ 27.72
R122028 KIT,SPROCKET,8T,w/PIN $ 132.60
R122029 KIT,CAM FOLL,1 1/4x3/4,w65 DEG FIT/HDWR $ 84.68
R122033 KIT,SHOCK ABSORBER,w/HDWR $ 94.43
R122034 KIT,CAM FOLL,1.750D,wFTNG/HDWR $ 67.44
R122041 KIT,ASIAN DECALS $ 33.72
R122064 KIT,DOOR ENCLOSURE ASSY $ 48188
R122065 KIT,CAM FOLLOWER $ 339.95
R122066 KIT,SHIM,ANTI-RATTLE $ 74.19
R122072 KIT,ASSY,GUIDE BLOCK wW/TAPE $ 43.18
R122073 KIT,BRIDGEPLATE ASSY. 9.00" $ 283.29
R122079 KIT,HINGED FLOOR $ 532.85

@ Ricon.

AWabtec company

22|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R122088 KIT,DECAL,K-SERIES,KOREAN $ 80.94
R122089 KIT,DECAL,S-SERIES PERSONAL,KOREAN $ 40.47
R122090 KIT,DECALS,S-SERIES TRANSIT,KOREAN $ 84.99
RI122091 KIT,DECAL,F9A AUTO,KOREAN $ 99.15
RI122194 DECAL,WIRE ORIENTATION,17 TERMINAL $ 5.04
R122200 BRACKET,CABLE RETAINER $ 14.92
R122235 ARM,SPLINED,POWER DOOR ACTUATOR $ 40.47
R122237 KIT,PUMP,24V,NO MANUAL BACK-UP PUMP $ 1,187.12
R122238 KIT,RPLCMNT ASSY,R/STOP w/DECAL $ 339.94
R122245 KIT,SAFETY BELT BUCKLE w/RETRACTOR $ 217.88
R122246 KIT,SAFETY BELT BUCKLE,w/HDWR $ 96.36
R122247 KIT,SAFETY BELT RETRACTOR,w/HDWR $ 177.07
R122255 MIC MOUNT ASSY,PENDANT,LH $ 52.61
R122273 KIT,FLOORING MATERIAL,FR2-3050 $ 269.80
R122290 ARM WLDT,VERTICAL,RH(GRAY) $ 117.36
RI122291 ARM WLDT,VERTICAL,LH(GRAY) $ 117.36
R122292 ARM ASSY,VERTICAL,RH $ 294.42
R122293 ARM ASSY,VERTICAL,LH $ 29442
R122296 PLATFORM ASSY,FLDG,32"x51" $ 1,651.70
R122420 CONTROL BOX ASSY,12V $ 2,522.88
R122487 SWITCH,PBUTTON,MAINTAINED,12V GRN $ 72.76
R122488 SWITCH,PILOT,MOMENTARY $ 76.10
R122502 PLATFORM WLDT,FLDG(32"x51")GREY $ 593.56
RI122517 KIT,BLOCK,RAIL,CARRIAGE GUIDE $ 30.10
R122525 KIT,COVER,PRS ,W/HARDWARE $ 89.81
R122526 KIT,COVER,W/HARDWARE $ 94.43
RI122537 ROLLER,FOLD ASSIST $ 2.89
R122600 DOOR ASSY,ENCL,41"WIDE,OFFSET HINGE $ 444.98
R122607 SPUR GEAR ASSY $ 139.96
R122609 TOOL,DOOR RELEASE $ 43.17
RI122619 GRIP,TOOL,DOOR RELEASE $ 12.50
RI122678 KIT,ENCLOSURE OFFSET HINGE W/HWDR,RH $ 90.80
RI122679 KIT,ENCLOSURE OFFSET HINGE W/HWDR,LH $ 90.75
RI122729 ENCLOSURE ASSEMBLY $ 4,601.21
RI122734 DECAL,MAN OPER INSTs,F9T-NP $ 15.54
RI122735 DECAL,MAIN CIRCUIT BREAKER $ 11.76
RI122736 DECAL,24 TERM WIRE ORIENTATION $ 11.76
RI122792 DECAL,ROLLSTOP MANUAL OPERATION $ 15.54
R122902 KIT,RPLCMNT,ROLLSTOP ACTUATOR,RH $ 73.03
R122903 KIT,RPLCMNT,ROLLSTOP ACTUATOR,LH $ 73.03
R122912 DOOR ASSY,ENCLOSURE $ 433.63
R122918 KIT,PUMP,24V,NO MANUAL BACK-UP PUMP $ 1,112.92
RI122971 SUP;BOLT,HEX,1/4-20 x 8"SST $ 12.51
RI122976 JUMPER,CABLE,4 AWG,RED,8"L $ 5.40
R122978 HARNESS,COUNTER $ 80.26
R122979 HARNESS,J1,PANEL MOUNT $ 12431
R122985 KIT,INSTAL,ELECTRICAL HARDWARE $ 26.42

@ Ricon.

AWabtec company

23|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R122996 HARNESS,J4,20"L, $ 155.14
RI123074 KIT,TOOL ASSY,MANUAL DEPLOY $ 115.28
R123085 KIT,TOOL,MANUAL DEPLOY $ 123.92
R123324 PIN,PIVOT,THREADED $ 65.16
R123338 INA;KIT,LINK(YEL)& BRKTS (GREY) $ 199.35
INA;KIT,LINK ASSY(YEL)&BRKTS(GREY)H/MNT (LH &
R123340 RH) $ 275.30
R123346 DECAL,CAUTION,RED/WHITE,3.0"x18"DIAGONAL $ 6.95
RI123351 STIFFNER,MAIN FRONT TREAD $ 33.72
R123357 INAKIT,LINK ASSY(YEL)&BRKTS(GREY)LH&RH $ 27414
R123358 INA;KIT,LINK ASSY(GRAY)&BRKTS(GRAY) $ 292.39
R123359 INAKIT,LINK(GRAY)&BRKTS(GRAY)SHORTARM $ 447.86
R123360 INAKIT,LINK ASSY(GRAY)W/BRKTS $ 488.67
R123369 KIT,MOTOR ASSY,IP67 $ 702.80
RI123391 KIT,GROMMET,(KIT OF 10) $ 21.08
R123920 HARNESS,PUMP TO CONN.BRACKET $ 174.43
R123921 HOSE,HYDRAULIC $ 49.00
R123933 TRIM POCKET ASSY $ 638.98
R123976 PUMP ASSY,w/o BRKTS,24V $ 1,187.12
RI124011 O-RING,#011 NITRILE,0.301IDx.070T $ 2.91
R124081 PULLEY,TIMING BELT $ 40.47
R124397 SWITCH ASSY,PLUNGER $ 74.19
R124399 SENSOR ASSY,PRESSURE $ 124.10
R124454 HOSE,HYD,TEF,SST,BRAID,3/16IDx5/160D $ 12141
RI124619 SPRING,EXT,.4370Dx3.13L,SST $ 17.54
R124621 SPRING,EXT,.3590Dx.150L,SST $ 26.98
R124810 TRIM POCKETS WLDT,30Wx48L SST $ 396.73
R124831 SHAFT,FOLD OVER RAMP LONG $ 59.60
R124832 SHAFT,FOLD OVER RAMP SHORT $ 59.59
R124859 ACCESS PANEL WLDT $ 363.62
R124881 PILLOW BLOCK,BRACKET,RH $ 38.27
R124936 BLOCK,CABLE GUIDE $ 20.57
R124938 TRIM,RAMP THRESHOLD,RH $ 55.40
R124939 TRIM,RAMP THRESHOLD,LH $ 55.40
R124946 BLOCK,SPRING LOCK $ 29.67
R124965 T-NUT,FHD,M5X.8 THRU,.250LX.3100D $ 12.50
RI125-18-527 SWITCH SOLENOID SAW 4201 12V $ 40.47
R125001 CHAIN-SHORT MAIN 13P(3304) * $ 8.10
R125009 CHAIN-MAIN 329P NICKEL #35 * $ 74.19
R125012 CHAIN-SHORT MAIN 9P NICKEL #35 $ 10.11
R125021 CHAIN PLTFRM 95P CARBON #35 $ 36.42
R125022 CHAIN PLTFRM 105P CARBON #35 $ 42.50
R125023 CHAIN-SYNC 179P CARBON #35 $ 38.45
R125024 CHAIN-SYNC 189P CARBON #35 $ 60.04
R125025 CHAIN-SYNC 199P CARBON #35 $ 38.45
R125026 CHAIN PLTFRM P141 CARBON #35 $ 28.33
R125041 LINK,MASTER NICKEL #25 $ 4.38

@ Ricon.

AWabtec company

24|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R125048 CHAIN-#25 NICKEL PLTD (1548) $ 58.36
R125049 MASTERLINK,#40,NCKL PLT,CLOSED END $ 5.84
R125053 BUMPER,REAR SUSPENSION STOPPER $ 84.99
RI125055 TOOL,CHAIN PULLER $ 36.32
R125060 WIRE ROPE(3/32)7x19 ST. ST.(3171) $ 2.09
RI125060T WIRE ROPE(3/32)7x19 SST TEFLON (3171) $ 3.07
R125062 WIRE ROPE,.0O60 SST $ 11.12
R125106 VIBRATION ISOLATION MNT,140# SHEAR $ 69.47
RI125127 BELT,DRIVE R50 OLD STYLE (2165) * $ 16.19
R125128 BELT,HTD-0.591Wx14.764P.LG,75 TEETH $ 35.02
RI125179 SPROCKET, #35x 12Tx.50 ID $ 17.41
R125182 GEAR,SPUR 16DP,18TEETH,20ANGLE $ 34.40
RI125192 PULLEY,MOTOR -2164 $ 15.17
R125204 CABLE CARRIER,(IGUS, P.N.10-2-075) $ 36.42
R125207 RADIUS INSERT MOLDING,(X-D942BK) $ 151
R125240 BUSHING,NEOPRENE 7/8 ODx1-11/16 $ 1.82
R125241 SPLIT GROMMET $ 4.38
R125297 BUSHING,FLNGD,.38x.9x.5 $ 6.03
R125304 BUSHING,NYLINER $ 4.17
R125306 BUSHING,BRONZE $ 5.84
R125307 BUSHING,BRONZE $ 4.17
R125318 BUSHING,BRNZ.0405-04,5/16"x1/4"x1/4"LNG $ 4.17
RI125319 BUSHING,BRNZ,0405-129(MARTIN).25x.31x.75 $ 4.17
R125340 PAINT,SPRAY,CHAR.CARDINAL $ 24.80
R125341 PAINT,SPRAY,YELLOW CARDINAL A-2008-YLO1 $ 23.34
R125342 GREASE,RED,AEROSOL $ 30.91
R125343 SCREW,FHS,10-24x3/8(BAG OF 10) $ 2.70
R125344 WASHER,FLT,.508x.749x.045(BAG OF 10) $ 6.75
R125345 WASHER,FLT,.32x.59x.06 SST(BAG OF 10) $ 18.23
WASHER,FLT,.50IDx1.000Dx.062THK,NYLON (BAG OF
R125346 10) $ 9.24
R125348 NUT,SPRING,10-24(BAG OF 10) $ 16.05
R125349 SCREW,PHP,10-24 X 1.375 SST(BAG OF 10) $ 10.28
R125350 NUT,10-24 SST,WELD(BAG OF 10) $ 15.42
R125367 BUSH,BRONZE.50x.63x.25,FL.88x.06 $ 1.35
R125374 BEARING,1"0D,0.25"ID,GROOVED $ 10.22
RI125375 BEARING, THRUST,.375IDx.6250Dx.0585 $ 4.38
R125378 BEARING,BRONZE FLANGE,.25x.38x.38L $ 157
RI125379 BEARING,BRONZE FLANGE,.63x.75X.63L $ 2.78
R125381 BUSHING,12FDUO06,3/4"Dx3/8 $ 4.38
R125383 BUSHING,12FDU12,3/4 DIAx3/4 $ 5.55
R125384 BUSHING,08FDUO06 1/2"x3/8" $ 4.17
R1253845 BEARING,DU FLG,3/8IDX1/4L $ 4.38
R1253846 BEARING,DU FLG,1/2I1Dx1/4L $ 4.17
R125396 COUPLING,ACTUATOR $ 19.46
R1254242 MOTOR,1HP 24V (PAC-SCI) $ 57332
R125433 SPRING,BARRIER HINGE,SMALL $ 4.38

@ Ricon.

AWabtec company

25|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI125434 SPRING,BARRIER HINGE,LARGE $ 4.38
R125436 SPRING,UNFOLD KICKOUT -3317 $ 10.22
R125438 SPRING,CHAIN TENSION -1529 $ 18.38
R125447 SPRING,EXTENSION $ 13.09
R125448 SPRING,EXT,5/8x72x.047 $ 20.24
R1254521 SPRING,CENTURY,5/80D,HOOKED (5353) $ 10.50
R1254525 SPRING,COMPRESSION,.9270D,.573ID,4.0L $ 6.75
R1254531 SPRING,EXT,0.50x3 1/2x0.054,SST $ 25.04
R1254536 SPRING,0.250Dx0.75x0.031 MW $ 4.05
R125456 SPRING,RH $ 19.72
R1254562 SPRING,0.051DIAx180 DEGx0.344 ID,LH $ 5.67
R1254565 SPRING,.075 DIA,90 DEG.0.375 ID,LH. $ 5.40
R1254605 SPRING COMP,0.6560Dx13/16L,0.032SST $ 6.75
R125461 SPRING,COMPR,.50.D.x1.0(10020 CENTURY) $ 6.75
R1254616 SPRING,COMP 0.700Dx10.38"x0.095 SST $ 11.92
R1254618 SPRING,.250Dx3.00Lx.028DIA EXT $ 6.75
R125463 SPRING,BRGPLT $ 4.38
R125475 MOTOR,1/4 HP,12VDC,STD. SHAFT $ 222.58
R125477 MOTOR,1/4 HP 12V SHORT SHAFT $ 291.79
R125478 MOTOR,1/4 HP 24V SHORT SHAFT $ 246.31
R125481 CONN, (2 CKT)PAK-CON $ 291
R125489 GEARBOX-70:1 INCL TORQUE ARM $ 712.27
RI125501 RODEND,LH,M THD $ 18.96
R125502 RODEND(M)w/STUD RT THREAD $ 19.46
R1255145 CLAMP,FAST OPER JUNCTION BOX $ 72.95
R125524 TUBE,CHAIN WITH RING $ 4.17
RI125537 PLUG,CHAIN TUBE $ 2.78
R1255435 CLIP,EMERGENCY TOOL,SMALL $ 2.78
R125544 CLIP,PENDANT CONTROL $ 3.04
RI125550 CAP,ROUND,BLK,CAPLUG MFG.NO.FCR-20 $ 291
RI125551 WASHER,PARALLEL ARM $ 2.64
RI125557 SPACER,CABLE OR HOSE,PANDUIT $ 1.39
R125562 BEARING,NYLINER 3/8 1D,11/16 LONG $ 4.38
R125563 PLUG,1"BLACK NYLON LOW PROFILE $ 2.91
RI125564 CAP,RECT,BLK.NYLON,FITS 1.0x1.5x1/8 WALL $ 4.17
RI125579 TUBING,PLASTIC,GRAY,5/81Dx.03 $ 1.51
R125600 SCREW,BHS,10-24x3/4,SST(BAG OF 10) $ 4.05
RI125601 SCREW,SHC,10-24x3/4 SST(BAG OF 10) $ 2.70
R125602 SCREW,FHP,3/8-16x1 1/4,SST(BAG OF 10) $ 13.49
R125603 NUT,JAM,ESN,3/8-16,SST(BAG OF 10) $ 4.25
R125605 NUT,ESN,3/8-16,SST(BAG OF 10) $ 4.05
R125606 SCREW,HEX,3/8-16x1 1/2,SST(BAG OF 10) BAG OF 10 $ 8.10
RI125607 NUT,ESN,M8-1.25,SST(BAG OF 10) $ 4.05
R125610 NUT,JAM,3/4-16 SST(BAG OF 10) $ 10.79
RI125611 SCREW,HSS,1/4-20x1,w/NYLOC(BAG OF 10) $ 4.05
R125612 NUT,HEX,1/4-20(BAG OF 10) $ 4.05
RI125613 SNAPRING,3/16 E-TYPE(BAG OF 10) $ 1.35

@ Ricon.

AWabtec company

26|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI125614 CLIP,HITCH PIN #7(BAG OF 10) $ 28.30
RI125615 PIN,DOWEL,0.094x0.38(BAG OF 10) $ 7.85
R125616 NUT,SQOR,7/16-14(BAG OF 10) $ 4.05
RI125617 ROLLPIN,1/4x1.00"(BAG OF 10) $ 6.25
R125618 SCREW,SHC,5/16-18x1/2 SST(BAG OF 10) $ 5.40
RI125619 SCREW,FHH,M8-1.25X16MM,SST(BAG OF 10) $ 9.45
R125620 KIT,TRUSS,SLDT 1/4-20x3/8 SST(KIT OF 10) $ 29.04
R125623 WASHER,FDR,.281x1.00x.065(BAG OF 10) (BAG OF 10) $ 7.30
R125624 SCREW,FHH,1/4-20x5/8(BAG OF 10) $ 8.19
R125626 NUT,JAM,3/8-24(BAG OF 10) $ 4.05
R125628 WASHER,DEL,1"0ODx.388ID,0.031THK(BAG/10) $ 9.03
R125630 WASHER,FLT.328x.56x.030 SST(BAG OF 10) $ 4.05
RI125631 SCREW,BHS,5/16-18x1 3/8 SST(BAG OF 10) $ 13.49
RI125632 ROLLPIN,5/16x 1 3/4(BAG OF TEN) $ 5.40
RI125633 SCREW,PHP,10-24x1/4 SST(BAG OF 10) $ 5.21
RI125634 SCREW,BHS,5/16-18x1 SST(BAG OF 10) $ 6.75
WASHER,FLT.75x1.25x.03 THRUST(BAG OF 10) (BAG
RI125635 OF 10) $ 28.33
R125638 WASHER,STAR, TGL,SWTCH,U-109(BAG OF 10) $ 4.05
RI125639 NUT, TOGGLE,SWITCH,U-550(BAG OF 10) $ 4.05
R125640 SCREW,HEX,1/4-20x1 1/2 GR5(BAG OF 10) $ 2.70
R125643 SCREW,SSS, 3/8x3/4(BAG OF 10) $ 21.59
R125646 SAFETREAD,25.5x8,0CEAN GRAY $ 9.72
R125647 SAFETREAD,25.5x7,0CEAN GRAY $ 8.10
R125648 SAFETREAD,23x3,YELLOW,SAFETY $ 4.17
R125649 SAFETREAD,23x7,YELLOW,SAFETY $ 6.95
RI125650 SAFETREAD,25.5x2.25,0CEAN GRAY $ 4.17
RI125651 SAFETREAD,28.75x2.75,BLACK $ 4.38
RI125653 SAFETREAD,9.75x5.50,BLACK $ 4.38
RI125654 SAFETREAD,6"x60,ROLL,BLACK $ 201.84
RI125657 SAFETREAD,9.5x5.5,YELLOW,SAFETY $ 4.38
R125660 SAFETREAD,28.75x2,YELLOW $ 4.38
RI125661 SAFETREAD,25.5x12,0CEAN GRAY $ 13.13
R125662 SAFETREAD,25.5x4,0CEAN GRAY $ 4.17
RI125663 SAFETREAD,25.5x16,0CEAN GRAY $ 13.49
RI125664 SAFETREAD,25.5x3,YELLOW,SAFETY $ 4.38
RI125665 SAFETREAD,25.5x7,YELLOW,SAFETY $ 8.76
R125666 SAFETREAD,34x12,GRAY,OCEAN $ 15.17
RI125667 SAFETREAD,4"x60,ROLL,GRAY,OCEAN $ 101.18
RI25671 SAFETREAD,3"x60,ROLL,YELLOW,SAFETY $ 74.37
RI125673 SAFETREAD,12.75x3.0,YELLOW,SAFETY $ 4.38
RI125674 SAFETREAD,5.5x1.5,YELLOW,SAFETY $ 4.38
RI125675 SAFETREAD,21.75x11.13,0CEAN GRAY $ 9.45
R125693 SCREW,HEX,3/8x1/2 5/16x18(BAG OF 10) $ 17.54
R125695 ROLLPIN,5/32x2 1/2 SST(BAG OF 10) $ 8.10
R125696 SCREW,HEX,1/4-20x1 3/4 GR5(BAG OF 10) $ 8.12
RI125697 CABLETIE,STDx1.5 DIA BLK(BAG OF 10) $ 4.05

@ Ricon.

AWabtec company

27|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R125698 PIN,DOWEL,.187 ODx1.0L,HRND(BAG OF 10) $ 28.33
RI125704 COVER,PADDED,32" $ 528.00
R125706 T-NUT,PIVOT CABLE,MODIFIED $ 7.65
RI125710 FITTING,-4SAE,BLEEDER $ 23.40
RI125765 STUD,3/8-24,RH & LH,2.75 LONG $ 8.11
RI125779 SCREW,HEX,1/4-20x1 1/4,SST(BAG OF 10) $ 5.40
RI125781 PLUG,1/4 HEX PIPE(BAG OF 10) $ 7.35
RI125782 PIN,CARRIAGE,.310x2.75 (KIT OF 2) $ 59.69
WASHER,FLT,.598x1.187x.118,ZINC YELLOW (BAG OF
RI125783 10) $ 5.89
RI125784 ROLLPIN,1/4x1 (BAG OF 10) $ 7.52
R125786 PIN COTTER,1/16x1.00 (BAG OF 10) $ 8.20
RI125787 TAPE,SAFETY,YEL/BLK,(CUT TO 9 FT) $ 34.96
R125788 KIT,COVER,LH,wW/SEAL & HDWR $ 70.49
RI125789 KIT,COVER,RH,W/SEAL & HDWR $ 70.81
RI125790 HARNESS,PUMP-PULLBOX,12FT (PACKAGED) $ 156.86
R125955 KIT,PLUG,PROGRAMMING SWITCH $ 40.47
R125963 KIT,ENCLOSURE HINGE w/ HRWR,R.H. $ 101.18
R125964 KIT,ENCLOSURE HINGE w/ HRWR,L.H. $ 101.18
R125966 KIT,GUIDE BLOCK $ 20.14
RI125977 ARM-PARALLEL R60 17" (6231-1) $ 60.71
R1260000 RES- 1K(OHM)-.5(W)5% $ 1.35
R1260001 RES- 820 (OHM)-.5(W)5% $ 1.35
R1260051 SWITCH,ROCKER (ON)-OFF-(ON) 15A SPDT WHT $ 23.34
R1260052 SWITCH,ROCKER (ON)-OFF-(ON) 15A SPDT BLK $ 20.24
R1260053 SWITCH, ROCKER ON-ON 15A SPDT RED $ 22.34
R126016 KIT,SPARE DECALS,S-SERIES,ADA $ 56.10
R126027 PIN,PLTFRM HINGE R50 -2267 $ 4.05
RI126112 DECAL,CONTROL PNL PSB. $ 4.17
RI126119 DECAL,NO PARKING,LIFT $ 2.78
R126120 DECAL,RGB ALL FUNCTIONREPLACES 26124/261 $ 2.02
RI126127 DECAL-LIFT UP/DOWNWHITE $ 1.35
RI126131 DECAL,DOOR OPEN/CLOSE WHITE $ 1.35
RI126132 DECAL,DOOR OPEN/CLOSE BLACK $ 1.35
RI126155 DECAL,"CAUTION" RESTRAINT BELT $ 1.16
RI126155D DECAL,"CAUTION"RESTRAINT BELT,DANISH $ 1.08
RI126155J DECAL,CAUTION RESTRAINT BELT JAPANESE $ 8.09
RI26174 DECAL,OPER INSTR,TRANSIT,S-SERIES $ 6.57
R1261741 DECAL,OPER INSTR,TRANS STD $ 6.74
RI26177 DECAL-WARNING R30B $ 2.02
R126185 DECAL,CAUTION STAND CLEAR,S-SERIES $ 1.21
RI126201 DECAL,PROPER LOADING,800LBS $ 1.28
R126212 DECAL,TERM STRIP IDENTIFICATION $ 8.19
RI126213 DECAL,PROPER LOADING 660Ib $ 3.19
RI126214 DECAL,MANUAL OPERATION,S/N 32000+ $ 1.05
RI126216 DECAL,ALIGNMENT ARROW $ 7.94
RI126217 DECAL,WARNING,IMPROPER USE - 660# $ 2.94

@ Ricon.

AWabtec company

28|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R126230 DECAL,OP INSTR,VEHICLE, TRANS $ 2.39
R126244 DECAL,NO STEP,LEXAN,SERIES $ 13.05
R126255 DECAL,STANDEE LOCATION $ 1.70
R126270 PLATE,PENDANT FUNCTION INTERFACE $ 4.05
RI126272 FACEPLATE,PENDANT FUNCTION ; F8 $ 10.52
RI126276 PLATE,FACE,PENDANT FUNCTION $ 5.84
R126280 STRN RELF, PENDANT R50 & WAYSIDE $ 6.07
RI1262821 STRN RELF,STR THRU HEYCO SR 6P3-4 $ 1.40
R126283 STRN RELF, STR THRU HEYCO SR 31-2 $ 4.05
R126285 PLUG,HOLE, HEYCO $ 291
R126287 PLUG,.43/.45 DIA,UP TO .060 THICK $ 4.18
R126292 DECAL,PUMP COVER $ 0.93
R126296 DECAL,SP SOLENOID TERMINAL LABELS $ 0.56
RI1263110 TAPE,ADH TRANSF,10 MIL,1" WIDE $ 1.16
RI126312 CONN, SEALED AUTO FEMALE (3 CKT) $ 4.18
RI126313 CONN, SEALED AUTO MALE (3 CKT) $ 4.18
R126318 SEAL,WEATHER PACK(18-20 AWG)GREEN $ 1.40
RI126319 SEAL,WEATHER PACK(14-16 AWG)GRAY $ 1.39
R126328 HOUSING,P AMP INLINE (18-14)/10 $ 6.26
R126329 PLUG,3CKT W/O EAR MOLEX #19-09-2039 $ 1.35
R126335 RCPTCL,12CKT (.093) MOLEX $ 5.55
R126400 CIRCUIT BREAKER,20 AMP $ 13.13
R126402 DIODE,1AMP $ 1.39
R126404 DIODE, 1944 $ 4.17
R126407 SWITCH,LIMIT SGL POLE $ 10.22
R1264104 SWITCH,LIMIT ROLLER,SPDT,15A MAX $ 23.05
RI126411 SWITCH,SPDT TOGGLE $ 11.68
RI1264115 SWITCH, SPDT ROCKER MOM CROSS SERR (WHITE) $ 25.30
R1264116 SWITCH,PUSH BUTTON OFF ON $ 22.20
R1264117 SWITCH ASSY,WIRES/TERMINALS $ 91.01
R126413 SWITCH,KEY $ 21.88
R126423 SWITCH,KEY w/O SWITCH $ 67.78
R126433 SWITCH,DPDT,TOGGLE 4 TABS $ 13.13
R126434 SWITCH,SP LIMIT SMALL $ 4.38
R126449 INA:SOLENOID,24V,SINGLE POLE,SINGLE THRW $ 35.97
R1264503 SLND,12V STO-LOK (3+LBS@1") $ 556.57
R1264504 SLND,24V STO-LOK(3+LBS@1") $ 125.05
R126451 SWITCH, DPDT TOGGLE 1.5" BAT PB $ 18.21
RI126454 SWITCH, SP ROCKER ON-ON WHT $ 9.72
R126455 SWITCH,SP ROCKER ON-OFF-ON BLK $ 8.76
R126464 PLUG,6-PIN (3015) ! NOT 90 DEGREE !! $ 7.89
RI126466 PLUG,F,9-PIN AMP #206705-1 $ 6.95
R126468 STRAIN RELIEF,AMP #206966-1 $ 9.72
RI126469 PLUG,F,4-PIN AMP #206061-1 $ 7.09
R126470 PLUG,M,4-PIN AMP #206060-1 $ 14.16
RI126471 STRN RELF, 4-PIN AMP #206062-1 $ 14.17
R126472 RCPTCL,9-PIN W/OUT FLANGE (#206705-2) $ 8.33

@ Ricon.

AWabtec company

29|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R126475 RCPTCL,.062 6-PIN PANEL MOUNT MOLEX $ 2.78
R126476 PLUG,.062,6-PIN PANEL MOUNT MOLEX $ 2.91
RI126477 RCPTCL,.062 9-PIN PANEL MOUNT MOLEX $ 1.46
R126478 PLUG,.062,9-PIN PANEL MOUNT MOLEX $ 2.91
R126479 PLUG,6-PIN 90 DEGREE (3015) $ 6.07
R126480 PLUG-8 PRONG 3017 $ 12.14
R126481 PLUG,4-PRONG (3018) $ 6.07
R126482 SOCKET,4-PIN (3020) $ 7.09
R126484 SOCKET,8-PIN W/O COVER (3023) $ 3.04
R126510 CIRCUIT BREAKER,30AMP ,WHITE $ 10.22
CIRCUIT BREAKER,8AMP,RED 1658-G41-02-P10-D04-
R1265108 055845-8A $ 10.22
R1265124 CIRCUIT BREAKER,50 AMP $ 72.95
R126516 RCPTCL,(.062) 4-PIN PANEL MOUNT MOLEX $ 1.39
RI126521 PLUG,.062,3-PIN PANEL MOUNT MOLEX $ 1.39
R126522 RCPTCL,.125 2-PIN PANEL MOUNT MOLEX $ 1.39
R126523 PLUG,.125,2-PIN PANEL MOUNT MOLEX $ 1.46
R126524 SWITCH,LIMIT,SEALED,PREWIRED $ 113.79
R126527 RCPTCL,(.062) 12-PIN PANEL MOUNT MOLEX $ 1.82
R126528 PLUG(.062) 12-PIN MOLEX PANEL MOUNT $ 1.82
R126530 RCPTCL,(.062) 2-PIN MOLEX $ 1.39
RI126531 PLUG,(.062) 2-PIN MOLEX $ 1.39
R126558 CONT, FEMALE AMP TYPE XII STRIP $ 4.25
RI126564 PLUG,SER 1 #17-14 SHELL AMP $ 9.38
RI126566 TERMINAL STRIP 7 10-18AWG ALTECH $ 9.45
R126570 BARREL,1/4 TURN LOCK,8MM SQR(NEMA 4) $ 10.79
RI126571 CAM,1/4 TURN LOCK (NEMA 4) $ 12.12
RI126572 KEY,NEMA4 1/4 TURN LOCK,8MM SQR $ 4.05
RI126575 CAM,HOOKED,1/4 TURN LATCH $ 2.70
RI126579 ADAPTOR,1/2" EMT, THREAD/COMPRESSION $ 4.05
R126587 CIRCUIT BREAKER,4 AMP,FUSE HOLDER $ 8.10
RI126591 ADAPTER,ORB,6xJIC,4 STL $ 4.17
R126645 GROMMET,1.060Dx.5IDx.25 GROOVE $ 1.35
R126647 GROMMET,CATERPILLAR,3/16X12"LONG $ 2.78
R126649 GROMMET,.25x.44x.13(x.63x.38) $ 2.70
R126656 GROMMET,.27x.47x.19(x.63x.44) $ 1.39
RI126659 GROMMET #88 SLIDER 9/16x3/8x3/8 $ 1.35
R126660 GROMMET,.25x.44x.25(x.63x.38) $ 2.70
R126664 GROMMET,.38x.56x.19(x.81x.38) $ 1.35
RI126679 SEAL,DOOR-7/16x53/64 $ 8.33
RI126681 WEATHERSTRIP,1/8x5/8 BULB $ 3.65
R126683 PLUG,BLACK,.625 HOLE DIA,.125 MTL $ 1.39
R126684 STRN RELF, (.300-.350) DIA 90 DEG $ 1.40
RI126724 SOCKET,EMERGENCY 3/8 DRIVE-11/16 DEEP $ 19.95
R126801 SPACER,DOOR ASSY $ 5.84
R126802 SPACER-SWITCH ARM -1417 $ 3.04
RI127001 CABLE,#4 POWER-1914 $ 2.02

@ Ricon.

AWabtec company

0|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI127002 CABLE, 16/2 (1915 $ 2.02
RI27017 CABLE,18/3 10/2 STRD RUBBER JACKET $ 7.28
R127030 CABLE, 18/9 POLYURETHANE CONTROL $ 6.95
RI127036 CABLE,4AWG R/XLNKPOLY $ 4.18
R127060 PIN,CLEVIS,.2500D x .656L $ 1.16
RI27071 BEARING,DU,1.00IDX.75L,FLANGED $ 13.67
RI127201 CONDUIT, 3/8" PLASFLEX BK $ 4.18
RI127401 SAFETREAD,2"x60FT,ROLL,BLK $ 0.65
RI27414 TRIM POCKET ASSEMBLY $ 710.55
RI127415 RAMP PLATE ASSY $ 822.89
RI27421 SKID-PLATE $ 62.14
RI127425 KIT,CAM FOLLOWER,5/8 OD(KIT OF 2) $ 12531
RI27478 PLATE,COVER,WIRE ACCESS $ 10.79
RI27479 KIT,FLOORING TRIM $ 174.40
RI127481 KIT,MTG HARDWARE,RAMP $ 10.91
RI127485 HANDLE,HATCH,FLUSH $ 22.31
RI127486 PLUG,HANDLE $ 14.84
RI127487 TRIM POCKET ASSY $ 456.08
RI127498 SKID-PLATE $ 58.44
RI127504 INAKIT,ROLLSTOP LINKAGE ASSY $ 425.66
RI127532 KIT,ROLLSTOP,w/HDWR $ 499.13
RI127533 KIT,STOW GUIDE,w/HDWR $ 26.98
RI27534 KIT,HANDRAIL ASSY,FIXED,w/HDWR $ 42494
RI127535 KIT,COVER ASSY,LH,w/HDWR $ 12141
RI127536 KIT,COVER ASSY,RH,w/HDWR $ 229.33
RI27537 KIT,PLATE PRS MAN.RELEASE ,w/HDWR $ 36.42
RI127538 KIT,COVER,CARRIAGE,w/HDWR $ 101.18
RI127539 KIT,INTMD SHAFT ASSY,w/HDWR $ 256.31
R127540 KIT,DEPLOY SWITCH ASSY w/HDWR $ 114.66
RI127542 KIT,LOWER ARM,w/BUSHING & HDWR $ 114.66
RI127543 KIT,PLATE,BRDGPLT ACTR,LH,w/HDWR $ 53.96
RI127544 RI27564 $ 53.96
RI127546 KIT,TRUNNION CAP,w/HDWR $ 80.94
RI127547 KIT,STIRRUP ASSY PARTS $ 236.08
RI127548 KIT,SPRING PLATES,w/HDWR $ 63.41
RI127549 KIT,ROD LINK,STIRRUP ASSY,w/HDWR $ 182.11
RI127550 KIT,BRACKET GUIDE,B/PLATE,LH,w/HDWR $ 183.69
RI27551 KIT,BRACKET GUIDE,B/PLATE,RH,w/HDWR $ 183.69
RI127553 KIT,PULLBOX COVER, W/DECAL & HDWR $ 74.19
RI27554 KIT,COVER,BOTTOM w/HDWR $ 128.15
RI127555 KIT,COVER WLDT,BOTTOM,REAR w/HDWR $ 175.37
RI127556 KIT,DOOR,BOTTOM w/HDWR $ 16187
RI27557 KIT,COVER,TOP REAR w/HDWR $ 195.61
RI127558 KIT,COVER, TOP LINKAGE w/HDWR $ 155.14
RI127559 KIT,STOP BLOCK w/HDWR $ 86.33
RI127560 KIT,COVER WLDT,TOP w/HDWR $ 168.62
RI27561 KIT,SHAFT RELEASE,PLTFRM w/HDWR $ 404.70

@ Ricon.

AWabtec company

31|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RI127562 KIT,BAR,WIRE SUPPORT w/HDWR $ 35.07
RI127563 KIT,TERMINAL STRIP W/HDWR $ 53.96
RI27564 KIT,BAR,DBL WIRE SUPPORT w/HDWR $ 56.66
RI127565 KIT,SWITCH ASSY,PLUNGER w/HDWR $ 148.39
RI127580 RETROFIT,VENT HOSE KIT $ 33.72
RI127581 KIT,RETRO,PF5 NOVA,w/DOOR ENCLOSURE $ 1,618.79
RI127582 KIT,RETRO,PF5 NOVA,w/O DOOR ENCLOSURE $ 998.26
RI127583 KIT,RETRO,PF5 NOVA,HINGE/BTM CVR/CAM FLW $ 566.57
RI127586 KIT,BTM COVER/ROLLER BRKT,w/HDWR,PF5 $ 114.66
RI127587 KIT,NUT,SLEEVE 10-32x5/16,SLTD,BNDNG,SST $ 40.47
RI127588 KIT,ENCLOSURE DOOR ASSY,w/HDWR $ 47214
RI127589 KIT,CAM WLDT,LH,w/HDWR $ 74.19
RI127590 KIT,CAM WLDT,RH,w/HDWR $ 74.19
RI27591 BLOCK GLIDE ASSY,w/TAPE $ 18.06
RI127592 KIT,SPARE PARTS,DEALER(S & K SERIES) $ 3,041.97
RI127965 KIT,PLATFORM ASSY,w/HDWR $ 1,030.13
R128-02-650 KIT, TERMINAL,ASSORTMENT (SPAE-NAUR) $ 423.09
R128-04-614 PLUG,7/8" #245-030 $ 1.35
R128-06-650 CONN, BX 3/8 $ 151
R128-12-460 BK 18/2 CAB TIRE ELEC CABLE SJO $ 1.57
R128-18-504 SWITCH, #275-609 (2 PCS-1/R & 1/BK) $ 13.49
R128-18-526 SWITCH, KEY #75705-01 $ 47.56
R128-26-075 BUSHING,SNAP IN 1/2"(#315-708) $ 0.25
R128-26-077 BUSHING,SNAP-IN (#315-711) $ 1.05
R128-36-405 RELAY,12V VF4,WITH TAB $ 10.22
R128-36-406 RELAY,24V VF4, WITH TAB $ 12.26
R128-37-150 DIODE, 150A 100 PIV $ 40.47
R128-40-406 HOUSING,FEMALE CONNECT 3 LEGS#700-006 $ 1.35
R128-40-412 HOUSING,P .093 MOLEX (18-14)/9 $ 3.04
R128-40-460 CONN, .187 BLUE HOUSING C1614 $ 1.35
R128023 NICOPRESS-SLEEVE -1537 $ 1.35
R128367 STAND OFF-GEAR BOX $ 2.02
R1283682 STANDOFF,MOTOR ; U/L $ 49.75
R128408 BUMPER,1.00 ODx.50THK,RUB w/.180 HOLE $ 4.38
R1284082 BUMPER,0.500Dx0.13THK RUBBER $ 2.78
R128430 KEY,#9 WOODRUFF $ 1.39
R128443T TOOL,THREADED INSERT,5/16-18 UNC,EXPEND $ 20.24
R128486 TRIM .13 GRIP x.25,BLACK $ 6.75
R128510 NUT,CAGE 3/8-16 $ 1.51
RI128511 HARNESS,CONTROLLS\INTERFACE $ 117.24
R128512 PLATE ASSY,RAMP CONTROLS $ 288.96
R128540 JUMPER,CABLE,4 AWG,BLK 21" $ 21.63
R128542 HARNESS,COUNTER\MAN BYPASS VALVE $ 138.59
R128600 CLUTCH-TORQUE LIMITING,WARNER $ 67.44
RI128754 SCREW,BHS,1/2-20x2 1/4 SST $ 17.54
R128766 KIT,LINKS,w/BRKT & HDWR,ENCLOSURE DOOR $ 90.99
RI128767 KIT,LATCH RELEASE,26",w/BLOCKS & HDWR $ 80.94

@ Ricon.

AWabtec company

32|Page




@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R128768 KIT,LATCH RELEASE,30",w/BLOCKS & HDWR $ 61.67
R128769 KIT,LATCH RELEASE,32",w/BLOCKS & HDWR $ 56.77
R128770 KIT,LATCH RELEASE,39.5",w/BLOCKS & HDWR $ 86.33
RI128771 KIT,LATCH RELEASE,34",w/BLOCKS & HDWR $ 61.71
RI128773 KIT,COLLAR R/STOP ACTR,8.25",w/HDWR $ 51.06
RI128775 KIT,COLLAR R/STOP ACTR, 6.25",w/HDWR $ 43.78
RI128778 KIT,HARN/JUMPERS,HYD PUMP $ 51.26
KIT,BUSHING,SNAP .75 MTG HOLE X.25 MAT (BAG OF
R128780 10) $ 10.79
R128781 KIT,CLIP,PENDANT,MALE W/RIVETS $ 17.35
R128786 KIT,HINGE,CARRIAGE,w/PINS & HDWR $ 169.97
RI128791 KIT,ARM ASSY,DRIVE ARM & DRIVEN ARM,LH $ 236.34
R128792 KIT,ARM ASSY,DRIVE ARM & DRIVEN ARM,RH $ 246.56
R128848 KIT,ROLLERS,ENCLOSURE,w/HDWR $ 148.39
R128867 HARNESS,J1 $ 138.95
R128869 JUMPER,CABLE,4 AWG,RED,11"L $ 5.40
R128882 PUMP ASSY $ 1,296.30
R128898 KIT,PUMP,NO BRACKETS,12V $ 1,069.23
R128899 KIT,MTG HARDWARE,RAMP $ 17.36
R129053 KIT,HDWR,01207 $ 98.24
R129090 KIT,HARDWARE $ 107.49
R129135 SPACER,REAR BRACKET $ 10.09
R129142 NUT,HEX,3/8-16,GR8 (BAG OF 10) $ 2.70
R129148 KIT,PIN,CLEVIS,CYLINDER,SCISSOR $ 39.69
RI129153 WASHER,ESL,BEARING,1.6x2.45x.075 $ 3.29
R129162 KIT,PINCH PT SHIELD w/HDWR,LH $ 37.18
RI129163 KIT,PINCH PT SHIELD,w/HDWR,LH $ 37.18
RI129165 KIT,PINCH PT SHIELD,w/HDWR,L/INSIDE $ 33.72
RI129166 KIT,PINCH PT SHIELD,w/HDWR,L/OUTSIDE $ 35.89
RI129167 KIT,PINCH PT SHIELD,w/HDWR,LH $ 33.72
R129168 KIT,PINCH PT SHIELD ,w/HDWR,LH $ 36.13
RI129177 KIT,PINCH PT SHIELD,w/HDWR,RH $ 36.13
RI129178 KIT,PINCH PT SHIELD w/HDWR,RH $ 37.18
RI129179 KIT,PINCH PT SHIELD,w/HDWR,RH $ 37.18
RI129181 KIT,PINCH PT SHIELD,w/HDWR,R/INSIDE $ 33.72
R129182 KIT,PINCH PT SHIELD,w/HDWR,R/OUTSIDE $ 35.89
R129183 KIT,PINCH PT SHIELD,w/HDWR,RH $ 35.41
R129186 MOTOR ASSY,24V $ 1,021.64
R129201 KIT,TARGET SENSOR w/HDWR $ 140.06
R129203 KIT,ROLLSTOP ASSY,EXT PLTFRM $ 552.26
R129204 KIT,HINGE,2.50X2.00 W/HDWR $ 43.17
R129222 LINK ASSY,FRONT PLATFORM(GREY) $ 51.06
R129222L LINK ASSY,LH,FRONT PLATFORM (GREY) $ 49.57
R129223 LINK ASSY,FRONT PLATFORM(YELLOW) $ 51.06
R129223L LINK ASSY,LH,FRONT PLATFORM (YELLOW) $ 49.57
R129224 ROD END ASSY,w/HDWR $ 36.47
R129239 ACCESS COVER ASSY,w/HEATER MAT $ 615.87

@ Ricon.

AWabtec company

3B|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R129240 SCREW,FHP,M6-1.0X16MM,SST(BAG OF 10) $ 4.05
R129242 KIT,LINK,MAIN,REAR FLDG PLTFM $ 55.94
R129243 KIT,LINK,REAR FLDG PLTFEM $ 72.95
R129244 KIT,BAR LINK,REAR,6.75",w/HDWR $ 58.35
R129246 SCREW,FHH,M5-.8X20MM,SST(BAG OF 10) $ 9.74
R129247 ACCESS COVER ASSY,w/WIRE ACCESS PLATE $ 203.69
R129248 SAFETREAD,BLACK,3M#310,18"X30" $ 70.82
R129249 SAFETREAD,BLK,3M#310,34"X52" $ 155.14
R129250 KIT,RECEPTACLE,1/4 TURN (2) $ 18.36
R129251 KIT,FLOORING AND HEATER MAT $ 375.73
R129255 KIT,TERM BLOCK,NEGATIVE,w/HDWR $ 40.62
R129256 KIT,TERM BLOCK,POSITIVE,w/HDWR $ 45.23
R129257 KIT,TERM BLOCK,NEG,MODIFIED ,w/HDWR,FR2 $ 45.99
R129258 KIT,TERM BLOCK,POSITIVE,MODIFIED,w/HDWR $ 27.57
R129259 KIT,TOOL,BEARING $ 67.44
R129260 KIT,CHANNEL,w/HDWR SHORT,PRS RH $ 236.08
R129261 KIT,CHANNEL,w/HDWR,SHORT PRS,LH $ 21584
R129262 KIT,CHANNEL ,w/HDWR,PRS,RH $ 269.80
R129264 PLATE/HINGE ASSY,w/S/ITREAD,30x48 $ 1,020.91
R129265 KIT,ARM ASSY,LH w/HDWR $ 248.66
R129266 KIT,ARM ASSY,RH w/HDWR $ 248.66
R129269 SAFETREAD,BLK,25"X32" $ 75.54
R129270 KIT,MTG BRKT,PRX SNSR W/HRDWR $ 49.06
R129272 KIT,CONTROLLER BOX,24V NO INTRMD SFTWR $ 1,821.13
R129274 KIT,BLOCK,B/PLT GUIDE BUMPER,w/HDWR $ 31.02
RI129277 KIT,ARM ASSY ,w/LINK WLDT,LH $ 368.69
R129278 KIT,ARM ASSY ,w/LINK WLDT,RH $ 368.69
R129293 KIT,HINGE,RAMP/CARRIAGE $ 150.85
R129294 KIT,ROLLER,w/HDWR $ 26.86
R129296 CARRIAGE PLATE ASSY $ 559.50
R129297 KIT,SOLENOID,12V,SGL POLE,SGL THROW $ 47.96
R129298 RAMP PLATE ASSY,FRONT SECTION $ 1,248.05
R129299 KIT,BRACKET,STOW SENSOR,w/HDWR $ 26.98
R129318 SCREW,PHP,10-24x1 1/2(BAG OF 10) $ 7.06
R129325 RESERVOIR,HYD.PUMP,FR2SS $ 13.49
R129381 KIT,ROLLPIN(2) $ 8.10
R129382 KIT,GUARD RAIL WLDT,w/PIN $ 194.26
R129386 SCREW,PHP,10-32x1/4,SST(BAG OF 10) $ 0.98
R129388 TERM,SLP M 22-18 FULINS(BAG OF 10) $ 3.59
R129389 CLAMP,CABLE 11/16"(SMITH#8949)(BAG OF 10 $ 2.80
R129391 KIT,GAS SPRING,w/SHOULDER BOLTS $ 68.89
R129392 KIT,PLATE/HINGE ASSY,w/ALTRO FLOORING $ 766.34
R129393 SCREW,BHS,M8x1.25x12MM,SST(BAG OF 10) $ 0.73
R129394 SCREW,HEX,3/8-16x1 SST(BAG OF 10) $ 6.38
R129413 CHAIN,#25 NICKEL 58P,w/MASTER LINK $ 33.72
RI129575 SPRING,COMPRESSION,TAPARED $ 12.14
R129604 KIT,INBOARD RESTRAINT BELT,RETRACTABLE $ 304.53

@ Ricon.

AWabtec company

34|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R129605 TEMPLATE,DRILL,INBOARD RESTRAINT BELT IN $ 9.45
R129608 KIT,ASSY,RAMP REPLACEMENT(NEOPLAN) $ 829.63
RI129614 BRACKET,ACC DOOR SIDE SHIELD $ 26.20
RI129631 KIT,SCUFF PLATE,REPLACEMENT $ 114.66
R129633 KIT,STOW LOCK w/SHIMS,REAR MOUNT, 24V $ 524.55
R129638 BRIDGEPLATE ASSY,DA/EX,X-SPAN,15" $ 387.28
RI129672 MODESTY PANEL $ 67.44
R129686 KIT,REPLACEMENT,SKID PLATE $ 87.68
R129806 KIT,RETRO,CLEVIS REINFORCEMENT $ 527.61
R129812 KIT,TRUNNION,SOLID PIN,W/FLNGD $ 194.05
R129850 PUMP ASSY,w/BRKTS,24V $ 1,187.12
R129851 BUMPER,0.630Dx031THK,RUBBER(BAG OF 10) $ 19.69
R129860 KIT,GEAR MOTOR ASSY,12V $ 1,013.22
R129868 RUBBER,SEAL,3 x 12 x .125 $ 16.35
R129871 SEAL,RUBBER,SINGLE-UP D SHAPE,FOAM TAPE $ 241
RI129914 KIT,SKI WHEEL,ROLLSTOP $ 46.04
R130100 KIT,BLOCK,RAMP SUPPORT,w/HDWR $ 20.24
RI130101 KIT,HINGE WLDT,LH,w/HDWR,ENCLOSURE $ 87.68
R130102 KIT,HINGE WLDT,RH,w/HDWR,ENCLOSURE $ 87.68
RI130113 KIT,SCREWS,HSS1/4-28x1/4 CUPPT,3/4FLTPT $ 4.05
RI130151 PAINT,SPRAY,SAIL BLUE $ 17.54
R130152 MOTOR,PUMP,24V,DC ELECTRIC,FR2SS $ 323.76
RI130154 MOTOR,PUMP,12V,DC ELECTRIC,FR2SS $ 323.76
RI130155 KIT,BRACKET ASSY w/HDWR $ 377.72
RI130157 KIT,STOP BLOCK,w/HDWR $ 33.72
RI130161 KIT,HYDRAULIC FITTINGS,BULKHEAD $ 71.49
R130165 KIT,SIDE BLOCK,w/HDWR $ 80.94
RI130166 KIT,COVER,BOTTOM FRONT,w/HDWR $ 83.64
RI130167 KIT,COVER,BOTTOM MIDDLE,w/HDWR $ 141.65
R130168 KIT,COVER,BOTTOM REAR,w/HDWR $ 97.13
RI30171 KIT,BEARING REBUILD $ 49.91
RI130173 KIT,ROLLER,ROLLSTOP LATCH,w/HDWR $ 26.98
RI30174 KIT,CYLINDER,W/MUFFLER & CLEVIS PIN $ 21584
RI130176 KIT,PANEL,ACCESS,RH,w/HDWR $ 81.89
RI130178 KIT,HINGE,ROLLSTOP,w/HDWR $ 84.99
RI130179 KIT,PLATE, TRANSITION,w/HDWR $ 45.87
R130181 BRIDGEPLATE ASSY,w/SAFETREAD $ 364.23
R130184 KIT,DOOR LATCH ACTUATOR $ 72.84
R130185 KIT,BRIDGEPLATE RELEASE w/HDWR $ 144.34
R130186 KIT,COVER,BRGPLT,w/HDWR $ 110.62
R130187 KIT,BRKT,PIVOT,BRDGPLT OUTER,RH,w/HDWR $ 35.07
R130189 KIT,GEARMOTOR ASSY,BRGPLT,w/HDWR $ 627.28
R130190 KIT,COVER,BRGPLT MOTOR,w/HDWR $ 120.06
R130193 KIT,CONTROLLER BOX,24V,NO INTRMD $ 2,376.75
RI130199 KIT,TRUNION,CYLINDER,TPL,w/HDWR $ 122.76
R130216 GEARMOTOR ASSEMBLY,BRIDGEPLATE $ 499.13
R130227 HOUSING,FINGER GUARD,PENDANT $ 55.77

@ Ricon.

AWabtec company

3B|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R130230 BRIDGEPLATE ASSY $ 206.72
RI130230K BRIDGEPLATE ASSY,BLACK $ 203.46
R130231 BUMPER,BRIDGEPLATE STOP $ 51.60
R130254 SEAL,WHEATHER STRIP $ 14.84
R130275 PUMP ASSY,w/o INTLK,STD,DCL,12V $ 1,056.43
R130279 ARM ASSY,VERTICAL(BLUE) $ 129.07
RI130279K ARM ASSY,VERTICAL(BLACK) $ 112.84
R130280 ARM ASSY,PARALLEL,LOWER(BLUE) $ 77.15
R130281 ARM ASSY, TOP,BLUE $ 71.06
R130284 COVER ASSY,PUMP,LH $ 107.85
R130285 KNUCKLE LEVER ASSY,w/O LOAD SENSOR(BLUE) $ 136.58
R130286 LIGHT ASSY $ 18.40
R130287 KIT,HAND CONTROL PENDANT $ 178.35
R130290 PLATE,FACE,PENDANT FUNCTION $ 10.00
R130294 KIT,TWO HANDED CONTROL PENDANT $ 220.68
R130298 PVC BOX,WITH MALE CLIP $ 17.93
R130299 PENDANT ASSEMBLY, TWO HANDED $ 178.73
R130303 CABLE ASSY, TPL PUMP & PENDANT $ 190.64
RI130376 CONTROL BOX ASSY $ 91451
R130426 NUT,10-24SST,WELD,MODIFIED $ 8.67
R130435 KIT,PLUG,INSTALL FINISH $ 55.51
R130444 DECAL,CONTROLS $ 40.73
R130535 ROLLER,BELT DRIVE $ 47.22
R130542 MOTOR DRIVE ASSY $ 1,741.77
R130588 SPRING,ROLLSTOP,LH $ 32.13
R130645 CABLE ASSY,BALL AND SHAFT,37.375"L $ 105.05
R130658 SPRING,EXT.2810DX6.00LX.034WIRE,ZINC $ 14.03
RI130665 PUMP ASSY,24V,w/HOLDING & BYPASS VALVES $ 1,659.63
R130666 CHANNEL,CABLE GUIDE,SHORT $ 77.37
R130700 ENCLOSURE ASSY,(ORION) $ 5,252.96
RI130778 KIT,PLATFORM w/HARDWARE,w/RCA TR-872 $ 1,180.37
R130815 HARNESS,POTENTIOMETER,BRIDGEPLATE $ 478.89
RI130826K PLATFORM WLDT,BLACK $ 407.00
R130830 JUMPER,SWITCH BYPASS $ 19.72
R130835 ARM ASSY,PARALLEL,LOWER(GREY) $ 116.71
RI130836K CYL,HYD ASSY,OPEN 43.04"CLSD 27.29"(BLK) $ 355.31
R130850 ARM ASSY,VERTICAL,LH(GRAY) $ 316.20
R130854 ARM ASSY,VERTICAL,RH(GRAY) $ 316.20
R130858 ARM ASSY,TOP $ 77.74
R130869 ROLLSTOP ASSY,34"W,INNER,YELLOW WRINKLE $ 231.26
R130870 PLATFORM ASSY,FLDG,34"x 54" $ 1,468.68
RI130911 KIT,COLLAR,w/HDWR $ 70.14
R130912 KIT,BUMPER,RBBR,1.00DX.50 THK (10/KIT) $ 21.77
R130913 KIT,BUMPER,RBBR,0.870DX0.40THK(10/KIT) $ 16.19
R130915 SCREW,SHC,M12X1.75MMX25MM,SST(BAG OF 10) $ 20.24
R130916 KIT,BRACKET,ROLLSTOP CYLINDER,w/HDWR $ 36.42
RI130917 KIT,GLIDE BLOCK w/HDWR,ENCLOSURE DOOR $ 59.14

@ Ricon.

AWabtec company

6B|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R130918 KIT,GLIDE BLOCK w/HDWR,HINGED FLOOR $ 37.82
R130919 KIT,EXTENSION SPRING w/HDWR,ENCLOSURE DR $ 40.47
R130920 KIT,TRIM,CENTER THRESHOLD w/HDWR $ 80.94
R130921 KIT,ANCHOR BLOCK w/HDWR $ 143.56
R130922 KIT,SPRING EXT,w/BLOCKS & HDWR,LH $ 146.60
R130923 KIT,SPRING EXT,w/BLOCKS & HDWR,RH $ 153.93
R130924 KIT,TRIM,THRESHOLD,LH w/HDWR,59" RAMP $ 74.19
R130925 KIT,TRIM,THRESHOLD,RH w/HDWR,59"RAMP $ 74.19
R130927 KIT,BUMPER,FRONT,w/HDWR $ 128.17
R130930 KIT,RAMP/HINGE ASSY,59"RAMP $ 2,617.04
R130931 KIT,ARM ASSY,LH,RAMP,w/HDWR $ 318.70
R130932 KIT,ARM ASSY,RH,RAMP,w/HDWR $ 318.70
R130933 KIT,CHANNEL GUIDE w/HDWR $ 210.76
R130938 RESERVOIR,PUMP,PLASTIC w/DECAL & PLUG $ 60.21
R130944 KIT,LOWER ARM,w/HDWR $ 12141
R130945 KIT,PULLBOX ASSY,F9T $ 12141
R130946 KIT,BRKT,HOSE/CABLE CLAMP w/HDWR $ 101.18
R130947 KIT,BRIDGEPLATE ASSY $ 76218
R130948 KIT,BLOCK,BRIDGEPLATE,w/HDWR $ 59.36
R130949 KIT,STIRRUP ASSY,w/RODS & HDWR $ 260.35
RI130950 KIT,LINK ARM ASSY $ 128.15
R130951 KIT,PIVOT LINKAGE $ 97.13
R130952 KIT,CLAMP,HARNESS,w/HDWR $ 74.19
R130953 KIT,PANEL,FRONT w/HDWR $ 47.22
R130954 KIT,PANEL ASSY,24VDC,w/HDWR $ 199.66
R130956 KIT,LOCK ASSY,w/RETAINING CLIP $ 186.16
RI130957 KIT,CONTROLLER ASSY 24V,SENSITIVE EDGE $ 1,129.95
R130958 KIT,BOTTOM COVER w/HDWR $ 114.66
R130959 KIT,HINGE,DOUBLER W/RIVETS $ 33.72
R130960 COVER, TOP w/SAFETREAD 32X59 PLATFORM $ 45191
R130962 KIT,HANDLE,HATCH,FLUSH $ 67.99
R130966 BASEPLATE ASSY,34"W, w/o INTLCK $ 863.36
RI130967 KIT,TUBE,FORWARD CROSSMEMBER W/RIVETS $ 111.97
R130968 KIT,FLOW CONTROL,0.50 GPM (2 PER KIT) $ 129.84
RI130971 KIT,PANEL WLDT,FRONT REINFORCE(TL2) $ 249.56
RI130972 KIT,CABLE RELEASE ASSY,MANUAL $ 323.76
RI130973 KIT,FRONT TRIM PANEL,w/HDWR $ 238.77
RI130974 KIT,SUPPORT BEAM,ENCLOSURE , w/HDWR $ 21584
RI130975 KIT,RAIL,CARRIAGE GUIDE,LH,w/HDWR $ 1,106.17
RI130976 KIT,RAIL,CARRIAGE GUIDE,RH,w/HDWR $ 1,106.17
RI130977 KIT,CONNECTOR ASSY,ENCLOSURE,w/HDWR(TL2) $ 151.09
RI130979 KIT,PLATE,MANUAL RELEASE ,w/HDWR $ 40.47
R130982 KIT,BAR,REINFORCE,PLTFRM,w/HDWR(TL2) $ 74.19
R130983 KIT,BAR,REINFORC,PLTFRM,REAR,w/HDWR(TL2) $ 74.19
R130984 KIT,BRIDGEPLATE ASSY,w/MNTG HDWR $ 1,996.51
R130986 ROLLSTOP ASSY,w/HINGE $ 397.95
R130992 KIT,ROLLER,LOCKING ACTUATOR,w/SNAPRING $ 40.47

@ Ricon.

AWabtec company

37|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R130993 KIT,LATCH ACTUATOR ASSY,w/HDWR $ 609.74
RI130994 KIT,LINK,LOCK ACTUATOR,ANGLED,w/HDWR $ 70.14
R130995 KIT,LINK,LOCK ACTUATOR,W/SNAPRING $ 49.91
R130996 KIT,LINK,LOCK ACTUATOR,w/HDWR $ 91.73
R130997 KIT,SKI WLDT,w/HDWR $ 128.15
R130998 KIT,HANDRAIL ASSY,RH,TL2 $ 229.33
R130999 KIT,HANDRAIL ASSY,LH,TL2 $ 229.33
RI131039 RAMP PLATE ASSY $ 953.86
RI131138 ARMS WDLT,LIFTING FRAME $ 553.98
RI31141 BRACKET WLDT,PLATFORM REINFORCEMENT,RH $ 127.37
RI31144 INA;PIN,PIVOT,UPPER ARM $ 17.54
RI31150 BLOCK,PIVOT,PARALLEL ARM $ 134.90
RI131153 BRACKET WLDT,PLATFORM REINFORCEMENT,LH $ 146.44
RI31155 PLATE,CRANK REAR,LIFTING ARMS $ 25.63
RI31163S BRACKET ASSY,UNIVERSAL,PFRM FLDG,SILVER $ 27.96
R131188 PIN,PIVOT,UPPER ARMS,LONG $ 21.59
RI31197 HARNESS,CONTROLLER 40 PIN $ 236.08
RI131239 FITTING,ADAPTOR,90 w/1/4-20 THREAD $ 22.22
RI31241 SPRING,EXTENSION,.750Dx4.25L,.1150D WIRE $ 9.84
RI31246R KIT,LINK (RED) & BRKTS (RED) $ 334.04
RI31246Y KIT,LINK (YEL) & BRKTS (YEL) $ 334.04
R131247 KIT,BRKTS W/CAM FOLLOWER $ 62.52
RI31247R KIT,BRACKETS (RED) $ 133.61
RI31247Y KIT,BRACKETS (YELLOW) $ 133.61
R131248 KIT,LINK ASSY (GRAY)& BRKTS (GRAY) $ 28264
RI131250 KIT,LINK(YEL)& BRKTS(GRAY),HIGH MOUNT $ 21545
RI31251 KIT,BRACKETS(GRAY),HIGH MOUNT,LH/&RH $ 72.25
RI31254 KIT,LINK(GREY)& BRKTS(GREY) $ 269.80
R131289 CYLINDER ASSY,PLATFORM,REAR $ 263.05
RI131329 HOOK,ACTUATOR $ 33.72
RI31351 BRACKET,SLIDER,STOW MECHANISM $ 18.89
R131360 PLATE STOPPER,MANUAL STOW $ 22.93
RI131363 BLOCK,DISTRIBUTOR $ 276.54
R131366 ROD,ACTUATOR RELEASE $ 12.14
RI31375 BRACKET LED ASSY $ 101.18
RI31451 TRIM POCKET ASSY $ 597.07
RI131522 KIT,HARNESS,DOOR OPENER $ 132.28
RI131525 KIT,HINGED FLOOR ASSY,NOVABUS $ 579.67
RI31601 SPRING,COMP,.600Dx.511Dx2.0Lx.045THK,SST $ 5.06
RI131637 TUBE,SLEEVE,CABLE $ 3.14
RI131666 FITTING,ADAPTOR 90,NPTF,SAE,-4M,STL $ 6.13
RI31667 FITTING,ADAPTOR 90,NPTF,SAE,-6M,-4M,STL $ 7.46
RI31669 FITTING,ADAPTOR 90,NPTF,SAE,-6M,-8M,STL $ 9.51
RI31670 FITTING,ADAPTOR 90,NPT,SAE,-4F,-4M,STL $ 7.99
RI31675 FITTING,ADAPTOR,STRAIGHT,SAE,-4M,STL $ 8.28
RI31676 FITTING,ADAPTOR 90,SAE,-6M,STL $ 11.48
RI31677 FITTING,ADAPTOR-T,SAE,-6M,STL $ 38.06

@ Ricon.

AWabtec company

3B|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI131684 FITTING,ADAPTOR 90,0RB,SAE,-6M,-6M,STL $ 7.90
RI131685 PIN,QUICK-REL,SPRING-LOADED,1/4DIAX3"LG $ 23.34
RI131692 GATE,CYLINDER COVER $ 9.55
RI131696 ANTISKID TAPE,BLK/YEL,2"X60FT $ 2.83
RI31779 ENCLOSURE,SENSOR,SHORT $ 18.68
RI131783 COVER,LIGHT $ 27.26
RI131785 BRACKET,SPRING,SWITCH MECHANISM $ 14.79
RI131786 PLATE,PCB MOUNT $ 7.87
RI31791 SWITCH ASSY,LOAD SENSOR CUT-OFF $ 16.28
R131982 FRAME WLDT,INSTALL $ 215.25
RI131997 DECAL,NO TWS W/O INTERLOCK $ 6.30
RI132-10-138 STICKER,"RICON,17x11 $ 2.02
RI132-10-152 DECAL,"RICON",VERT,2.5x8.5,SLVR $ 0.84
RI132-10-154 DECAL,OIL LEVEL WARNING $ 1.28
RI32-10-171 DECAL,PATENT#,GENERIC $ 111
R132093 KIT,SCUFF PLATE,32"W RAMP $ 148.39
R132098 SCUFF PLATE $ 64.27
R132103 KIT,BRKT PIVOT,OUTER BRDGPLT LH,w/HDWR $ 53.96
RI132107 KIT,HINGE w/PIN,CHARCOAL GREY $ 42.21
RI132107B KIT,HINGE,w/PIN,BLUE $ 35.07
RI32107R KIT,HINGE w/PIN,RED $ 35.07
RI132107Y KIT,HINGE w/PIN,YELLOW $ 35.07
RI132113 DECAL,DOT,PUBLIC USE LIFT $ 0.83
RI132115 KIT,BRIDGEPLATE,26" w/MTG HDWR $ 978.02
R132118 KIT,CONTROL BOX ASSY,TL2 $ 2,142.18
R132120 KIT,CYLINDER ASSY,HYD,w/HDWR $ 607.04
RI32121 KIT,CYLINDER ASSY,HYD,w/HDWR $ 1,241.07
RI132123 KIT,CARRIAGE GUIDE RAIL,LH,w/HDWR $ 1,146.64
RI132124 KIT,CARRIAGE GUIDE RAIL,RH,w/HDWR $ 1,146.64
R132125 KIT,COVER,MIDDLE BOTTOM,w/HDWR $ 175.37
RI132126 KIT,ENCLOSURE,ROLLSTOP ACTUATOR,w/HDWR $ 263.05
RI132127 KIT,LATCH ACTUATOR ASSY,w/HDWR $ 654.26
R132128 ROLLSTOP ASSY,w/DECAL $ 647.52
R132129 KIT,BRIDGEPLATE ASSY,w/HDWR $ 2,124.66
R132130 BRIDGEPLATE ASSY W/SAFETREAD $ 418.19
RI132136 DECAL,OPER INSTR,STANDEE LIFTS,S-SERIES $ 3.08
R132146 DECAL,OPER INSTR,PUBLIC USE $ 1.53
RI132154 DECAL,OPER,INSTR.,ENTRY,F9TF $ 3.99
RI132155 DECAL,OPER,INSTR.,EXIT,FOTF $ 4.16
RI132157 DECAL,OPER INSTR $ 10.05
R132159 DECAL,OPER INSTR,ENTRANCE $ 3.78
R132160 DECAL,OPER INSTR,EXIT $ 6.72
RI132167 DECAL,MANUAL OPER INST,BAYLIFT $ 7.75
R132168 KIT,ROLLSTOP ASSY $ 364.68
R132169 DECAL,OP INSTR,ENTRY,F9TF,AUTO,FRENCH $ 4.74
RI132169S DECAL,OP INSTR,ENTRY,FO9TF,AUTO,BILINGUAL $ 8.39
RI132170S DECAL,OP INSTR,EXIT,FOTF,AUTO,BILINGUAL $ 8.39

@ Ricon.

AWabtec company

39|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI132177 KIT,SAFETY BELT,BUCKLE ASSY,w/OUT SWITCH $ 56.26
RI132178 KIT,SAFETY BELTwW/RETRACTOR & HDWR $ 155.51
RI132179 KIT,PLATE,BRIDGEPLATE,w/HDWR $ 99.40
R132180 KIT,SWITCH ASSY,w/HDWR $ 73.84
R132181 KIT,GUIDE,BRIDGEPLATE ,w/HDWR $ 44.89
R132182 KIT,ROD ASSY,BRG/PLATE ACTR,w/HDWR $ 215.87
R132183 KIT,PIVOT FITTING,HYDRAULIC CYLINDER $ 56.73
R132184 WASHER,FLT,.40x.75x.06 SST(BAG OF 10) $ 1.81
R132186 KIT,PANEL WLDT,FRONT REINFORCEMENT(MK1) $ 264.57
R132188 KIT,CONNECTOR ASSY,ENCLOSURE,w/HDWR(MK1) $ 92.81
R132189 KIT,PANEL,BOTTOM FRONT,w/HDWR(MK1) $ 66.89
R132190 KIT,PANEL,BOTTOM REAR,w/HDWR(MK1) $ 102.66
RI132191 KIT, TOP COVER,ENCLOSURE , w/HDWR(MK1) $ 207.99
RI132195 KIT,BAR REINFORCE,PLTFRM,w/HDWR(MK1) $ 60.10
R132196 KIT,ROLLSTOP LATCH ASSY,w/HDWR(MK1) $ 364.86
RI132197 KIT,ROLLSTOP ASSY ,w/HDWR(MK1) $ 31544
R132199 KIT,CHANNEL,R/STOP ACTUATOR,w/HDWR(MK1) $ 40.09
R132294 BEARING,DU,1/21Dx3/4L $ 8.79
R132375 PLATFORM ASSY,30"x42",SPLIT $ 930.63
R132400 KIT,CYLINDER,BARRIER $ 266.68
R132407 SCREW,SHC,1/4-20X2.25 (BAG OF 10) $ 5.40
R132408 CLAMP,CABLE,3/8" (BAG OF 10) $ 46.65
R132424 PROTECTOR,ABS,3.00" X 30.00,LH $ 13.08
R132425 PROTECTOR,ABS,3.00" X 30.00,RH $ 13.08
R132426 PROTECTOR,ABS,3.00" X 30.00,RH $ 13.08
R132440 LIGHT,BEACON $ 21.52
R132444 ROLLSTOP ASSY,INNER (YELLOW) $ 121.20
R132446 PLATFORM ASSY,32"x51",SOLID $ 1,068.11
R132455 HARNESS,BELT RSTRNT/PLTFRM LIGHT,LH $ 34.57
R132462 PLATFORM ASSY,FLDG,32"x 51" $ 969.30
R132464 ROLLSTOP ASSY,INNER,30"PLATFORM $ 129.05
R132467 PLATFORM ASSY,30"x51",SOLID $ 1,116.84
R132469 PLATFORM ASSY,34"x54",SOLID $ 1,115.51
R132470 ROLLSTOP ASSY,34"x12",INNER,(YEL WRINKL) $ 204.79
R132476 HANDRAIL ASSY,FMVSS,LH $ 78.93
RI132477 HANDRAIL ASSY,FMVSS,RH $ 78.93
R132478 LIGHT ASSY,PLATFORM $ 27.79
R132479 HANDRAIL ASSY,FMVSS,LH,w/BUCKLE ASSY $ 157.77
R132483 HANDRAIL ASSY,FMVSS,RH $ 172.47
R132484 SET,H/RAILS,FMVSS,w/EBI & BUCKLE $ 406.07
R132498 SENSOR,PHOTOBEAM,TRANSMITTER $ 18.12
R132499 SENSOR,PHOTOBEAM,RECEIVER $ 16.57
RI132514 ARM WLDT,DRIVEN $ 66.81
R132562 BRACKET,SENSOR TARGET $ 14.75
R132585 COVER,WIRE CONNECTION $ 20.50
RI132651 BRACKET WLDT,PIN,STOW LOCK $ 31.34
RI132710 HARNESS,ROLLSTOP SWITCH $ 12.79

@ Ricon.

AWabtec company

40|Page



@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RI132713 HARNESS,PULLBOX TO PENDANT,F9TF $ 106.17
RI32714 HARNESS,PENDANT RELAY INTERFACE $ 213.86
RI132718 CONTROL BOX ASSY,24V $ 2,221.03
R132720 CONTROL BOX ASSY,24V,NO INTERMED S/WARE $ 2,367.63
R132720-F10X CONTROL BOX ASSY,24V,NO INTERMED S/WARE $ 2,371.33
RI132721 CONTROLLER BOX,12V,F9TF $ 2,404.89
R132729 HARNESS ASSY,SPIDER w/PWR ROLLSTOP $ 23085
R132730 HARNESS,MAIN w/HYDRAULIC $ 276.86
R132735 HARNESS,CONTROLLER $ 106.22
R132737 HARNESS,LOCATION SWITCHES $ 165.82
R132739 HARNESS,POSITION SWITCHES $ 11717
RI132744 HARNESS 2, SENSORS $ 14577
R132748 HARNESS,CONTROLLER HYDRAULIC $ 101.33
R132753 HARNESS,INTERLOCK INTERFACE,FMVSS PUBLIC $ 8.99
R132755 SENSOR ASSY,ROLLSTOP $ 98.83
R132760 HARNESS,MAIN HARNESS,MARK | $ 360.61
RI132773 EXTENSION,PENDANT,8 FT $ 34.97
RI132781 HARNESS,PUMP/PENDANT TO ENCLOSURE MARK 1 $ 337.36
R132798 HARNESS,ROLLSTOP SWITCH,EXTENSION $ 8.67
R132801 PUMP ASSY,24V $ 1,556.20
R132810 FITTING,MALE JIC,MALE SAE-4,0RIFICE $ 40.36
R132813 FITTING,MALE JIC x MALE SAE-4,TEE $ 13.96
R132824 KIT,LINK ASSY(GRAY)&BRKTS(GRAY),SHORTARM $ 19586
R132829 KIT,INSTL,PUMP CONVERSION,GILLIG $ 17344
R132830 KIT,INSTL,PUMP CONVERSION,NON GILLIG $ 110.24
R132839 KIT,COVER,ROLLSTOP ACTUATOR W/HDWR $ 86.66
R132849 KIT,3-BUTTON THROUGH BODY CONTROL $ 197.72
KIT,CYL ASSY,w/FITTINGS & HOSE (2 CYLINDERS PER
R132851 KIT) $ 1,166.60
R132857 COVER,ROLLSTOP MOTOR,RH $ 51.72
R132857-F10X COVER,ROLLSTOP MOTOR,RH $ 53.24
R132858 COVER,ROLLSTOP,LH $ 38.04
R132858-F10X COVER,ROLLSTOP,LH $ 38.21
R132861 SENSOR ASSY,THRESHOLD WARNING SYS,US $ 665.65
R132866 PLATE,MANUAL RELEASE $ 8.94
R132881 PUMP ASSY,12V $ 1,446.39
R132885 KIT,THRESHOLD WARNING SYSTEM $ 56241
R132893 KIT,CYLINDER ASSY,w/TRUNNION,w/INT POT $ 1,283.31
R132894 KIT,TRUNNION ASSY,SW $ 118.07
R132896 KIT,INSTL,12V PUMP CONVERSION $ 89.56
R132917 ROLLSTOP ASSY,INBOARD,30",GREY $ 126.22
R132929 SWITCH/BRKT ASSY,w/PLUNGER $ 185.32
R132931 SKI,SWITCH ACTUATOR $ 58.98
R132932 BUSHING,SLIDER $ 16.80
R132952 PIN,PIVOT,HANDRAIL $ 4.50
R132956 SKI WLDT,LOWER,RH $ 38.08
R132957 ACTUATOR WLDT,ROLLSTOP,RH $ 49.39

@ Ricon.

AWabtec company

41|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R132958 SKIWLDT,LH $ 37.72
R132960 SKI WLDT,LH $ 44.37
R132970 PLATE,ROLLSTOP,RH $ 22.54
R132975 PLATFORM,32"x40"FMVSS $ 594.06
R132986 SAFETREAD,OCEAN GRAY $ 23.87
R132987 SAFETREAD,YELLOW $ 10.06
RI32DFR103 MANUAL,OPER,GILLIG,RAMP,FOLD-OUT $ 8.10
RI32DFR104 MANUAL,SERVICE,GILLIG,RAMP,FOLD-OUT $ 1.08
RI32DPF501K MANUAL,OPER,PF5000,LOW FLOOR RAMP,KOREAN $ 1.08
R132DSB03 MANUAL,OPERATOR,PSB,R1209 $ 13.89
RI3211344E INSTR,INSTL,RETRO,CYLINDER SEALS $ 1.29
R13211398D INSTL,INSTR,FR2SS,DUTCH $ 1.23
RI32PR005 SCREWDRIVER,4",REVERSIBLE $ 17.52
PATCH,CLOTH,RICON CERTIFIED TECHNICIAN BLK
RI32PR007 LOGO,LETTERING,BORDER,RED 485 B/GRND $ 1.75
RI32SV60 DVD,S/K-SERIES,(L-MODEL)SERVICE TRAINING $ 7.65
RI325V61 DVD,S/K-SERIES,OPERATOR INSTRUCTION $ 7.65
RI325V62 DVD,TITANIUM S/K-OPERATOR INSTRUCTION $ 7.21
R133006 SET,DECAL,"PUBLIC USE",FMVSS-S-SERIES $ 35.94
RI133007 SET,DECAL,"PUBLIC USE",K-SERIES $ 33.75
R133008 SET,DECAL,"PRIVATE USE",S-SERIES $ 34.41
RI133019 INTLK,PRIVATE USE,FMVSS(FORD 2003-2007) $ 595.93
R133020 INTLK,PRIVATE USE,FMVSS(GM 2003-2007) $ 456.11
R133021 KIT,INSTL,PENDANT,MIC MOUNT $ 33.29
R133022 KIT,PENDANT,7FT,FMVSS $ 183.15
R133024 KIT,DOC,S-SERIES,PUBLIC USE(FMVSS) $ 55.80
R133026 KIT,DOC,K-SERIES,PUBLIC USE(FMVSS) $ 55.80
R133030 HARN,PCB,CAM SWITCH INTERFACE $ 59.74
R133031 HARNESS,PCB,POWER INTERFACE $ 40.88
R133032 HARN,MAIN,ELEC,34" w/O INTERLOCK $ 85.42
RI33035-LH BASE ASSY,34" w/o INTERLOCK,LH APPLICATION $ 1,337.60
RI133035-RH BASE ASSY,34" w/o INTERLOCK,RH APPLICATION $ 1,337.60
R133044 HARN,INTERLOCK,PUBLIC USE $ 28.22
R133045 HARNESS,EXTENSION,HANDRAIL LIGHTS $ 22.59
R133046 HARNESS,"S" PUMP,w/o INTERFACE $ 19.42
R133048 COUNTER ASSY $ 75.93
R133049 LIGHT ASSY,EXTENSION $ 53.44
RI133057 PCB BOARD ASSY,PRIVATE $ 109.42
R133066 HARNESS,PUMP,LH,PRIVATE,12/24V $ 26.37
RI133073 HARN,MAIN,ELEC w/INTERLOCK $ 130.09
RI133074 ROLLSTOP ASSY,INBOARD $ 23448
RI133076 PLATE,ROLLSTOP $ 41.19
RI133077 HARNESS,PUMP INTERFACE $ 14.53
RI133078 HARNESS,EXT,RH PUMP,6 PIN $ 21.94
RI133079 PCB ASSEMBLY $ 700.49
R133082 ROLLSTOP ASSY,34"x13",INNER,(YEL WRINKL) $ 167.84
R133083 PLATFORM ASSY,FLDG,34"x54" $ 961.93

@ Ricon.

AWabtec company

42|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R133086 PLATFORM ASSY,FLDG,30"x44"(GREY) $ 1,429.39
R133087 PLATFORM ASSY,30"x48",SPLIT $ 1,173.12
RI133109 COVER,WIRE CONNECTION $ 7.70
RI133126 DOOR,ENCLOSURE,MOTORIZED $ 216.66
RI133127 DOOR ENCLOSURE ASSY $ 336.78
RI133143 CONNECTOR,TUBE,SPRING,.3650DX.37H $ 3.45
RI133152 DOOR ASSY,POWERED $ 1,426.47
RI133214 SPRING,COMP,SST,.480D X 1.00"LG,.063 WIRE $ 3.25
RI133217 CHANNEL,HARNESS CONDUIT $ 40.93
R133218 CHANNEL,HARNESS CONDUIT $ 35.08
R133223 BRIDGEPLATE ASSY. $ 335.24
R133230 BRIDGEPLATE ASSY,9" SPAN $ 395.75
RI133311 SPRING,COMPRESSION,1.0641DX1.2340D $ 16.25
RI133312 PIN,HANDRAIL,LONG $ 27.67
RI133327 HOSE ASSY (68.5") $ 39.35
R133330 COVER ASSY,CYLINDER,INTERMEDIATE,RH $ 53.88
R133354 KIT,CERAMIC MAGNET,w/INSTRUCTIONS $ 12.05
RI133359 KIT,INBOARD RESTRAINT BELT,NON-RETRACT $ 106.17
R133364 KIT,RETROFIT,NYT/NJT,MC1 $ 2,227.57
R133427 PLATE,ROLLSTOP,LH $ 22.43
R133428 PLATE,ROLLSTOP,RH $ 22.43
R133440 PLATFORM ASSY,29"x44"FMVSS $ 1,750.59
R133445 COVER ASSY,CYLINDER,INTERMEDIATE,LH $ 68.25
R133452 CONTROLLER ASSY $ 735.96
RI133461 PCB BOARD ASSY,PUBLIC $ 121.32
R133464 LIFTFRAME ASSY,EXT,STEPWELL $ 1,293.35
R133468 CONTROLLER ASSY $ 900.30
RI133476 ARM ASSY,VERTICAL,RH $ 279.42
RI133477 ARM ASSY,VERTICAL,LH $ 279.42
R133478 ARM WLDT,VERTICAL(GREY) $ 140.12
R133483 ROLLSTOP ASSY,INNER (YELLOW) $ 108.85
R133484 PLATFORM ASSY,FLDG,32"x51" $ 1,506.54
R133485 PLATFORM ASSY,32"x51",SOLID $ 881.32
R133488 ROLLSTOP ASSY,INNER,30"PLATFORM,55 TRVL $ 78.14
R133489 PLATFORM ASSY,30"x51",SOLID $ 982.78
PLATFORM ASSY,39.50"x48"SOLID,YEL WRKL
R133499 ROLLSTOP $ 1,203.79
R133568 SWITCH ASSY,DOME PLUNGER $ 163.70
R133602 LIFTFRAME ASSY,STEPWELL $ 72261
RI133627 HARNESS,CONTROLLER TO PENANT,DOOR LOCK $ 59.68
RI133674 RIVET,FLAT HEAD,5/32 x 7/16 (BAG OF 10) $ 1.81
RI133678 KIT,REAR BARRIER ASSY $ 225.33
R133684 COVER,PADDED (K5510 SERIES) $ 660.01
R133685 COVER,PADDED (K2010 SERIES) $ 508.49
R133688 PLUG,3/8 NPT,STEEL,PAINTED $ 2.85
R133690 HANDLE ASSY,PUMP,MANUAL OPERATION $ 50.12
R133698 PLATFORM ASSY,FLDG,34"x54" $ 1,597.46

@ Ricon.

AWabtec company

43|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R133699 PLATFORM ASSY,FLDG,34"x54" $ 1,086.62
RI133796 KIT,RETRO,PF5 NOVA,SB4 $ 449.67
RI33797 KIT,RETRO,PF5 NOVA,SST COMPONENTS $ 1,279.52
RI133798 KIT,RETRO,PF5 NOVA,S/N 8153 & UP $ 270.11
R133807 HARNESS,PCB/PLATFORM LIGHTS $ 6.12
R133808 HARNESS,EXT,PLATFORM LIGHT $ 20.14
R133826 PLATFORM ASSY,FLDG,32"x51",FMVSS $ 1,483.49
R133828 ROLLSTOP ASSY,INNER (GRAY) $ 13757
R133829 PLATFORM ASSY,32"x44",SOLID,6"ROLLSTOP $ 1,430.94
R133831 PLATFORM ASSY,30"x51",SOLID(PRIVATE) $ 1,213.09
R133845 SENSOR ASSY,RECEIVER $ 29.91
R133846 SENSOR ASSY, TRANSMITTER $ 31.11
R133900 KIT,BRIDGEPLATE REPLACE,23.875Lx31.0"W $ 19271
RI133903 LIGHT ASSY, TWS,REMOTE $ 47.46
RI133910 SWITCH ASSY,FULLY STOW $ 22474
R133918 SWITCH ASSY,DEPLOY SWITCH $ 82.66
R134017 RETAINER,TRUNION $ 16.28
R134018 STRAP,SUSPENSION LIMITING $ 62.63
RI134217 PLATFORM ASSY,FLDG,32"x51",55 TRAVEL $ 1,600.25
R134245 KIT,SHAFT MODIFICATION,F9TF-0001 $ 79381
R134247 KIT,CABLE ASSY w/SLEEVE,55XX SERIES (2 CABLES) $ 100.10
R134249 PLATFORM ASSY,34"x54",SOLID,55XX SERIES $ 987.12
RI134312 KIT,DECELERATION VALVE,MBB $ 137.84
RI134314 SWITCH BLOCK $ 4.78
R134396 CYLINDER ASSY,HYDRAULIC,55" STROKE $ 376.34
R134502 KIT,LINK,ROLLSTOP LATCH,w/HDWR(MK1) $ 29.21
R134503 KIT,LOCKING LINK,w/HDWR(MK1) $ 38.73
R134505 KIT,ARM,ROLLSTOP LATCH,w/HDWR(MK1) $ 44.05
R134518 SCREW,HEX,1/4-20x1/2 GR5 ( BAG OF 10) $ 7.18
R134519 RIVET,POP,3/16x5/8 STL SD68BS(BAG OF 10) $ 1.07
RI134521 KIT,LINK ASSY,PLATFORM,REAR(GRAY) $ 91.64
R134523 KIT,LINK ASSYS,FRONT & REAR(GRAY) $ 122.03
R134523L KIT,LINK ASSYS,LH,FRONT & REAR (GREY) $ 118.48
R134530 SCREW,SSS,3/4-16x3/4L,BLK OXD(BAG OF 10) $ 24.30
R134539 SCREW,FHP,M5-.8X6MM,SST,(BAG OF 10) $ 4.90
R134560 CLAMP,1/2" ID,VINYL DIPPED,(BAG OF 2) $ 6.87
RI134574 KIT,MAIN ROLLER ASSY,w/HDWR $ 103.87
RI134575 KIT,BEARING,FLANGED,3/8IDX3/4L,(KIT OF 2 $ 30.19
R134576 SCREW,HEX,1/4-20x3 3/4,GR8,BLK(BAG /10) $ 17.43
R134578 KIT,ROLLSTOP ACTUATOR,RH,w/HDWR $ 583.90
R134580 KIT,ROLLSTOP,LH,w/HDWR $ 66.68
R134581 KIT,ROLLSTOP ACTUATOR,LH,w/HDWR $ 93.72
R134582 KIT,TIE-ROD ASSY'S,w/HDWR $ 70.91
R134583 KIT,PLATFORM HINGE PARTS $ 23.93
R134584 GREASE FITTING (KIT OF 6) $ 22.29
R134585 PIN,HINGE PLATFORM (KIT OF 6) $ 43.39
R134587 KIT,PINCH POINT SHIELD,LH,w/HDWR $ 44.32

@ Ricon.

AWabtec company

4|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R134588 KIT,PINCH POINT SHIELD,RH,w/HDWR $ 44.32
R134590 KIT,WHEELCHAIR LOCATING PLATE,w/HDWR $ 26.76
R134608 PLATFORM ASSY,30x42"SLIDING $ 1,206.51
R134687 SPRING,EXT..750D,.085W,4"L,7IN/LB,SST $ 4.12
R134835 TRANSMITTER,RADIO REMOTE CONTROL(EUROPE) $ 285.22
R134836 RECEIVER,RADIO REMOTE CONTROL(EUROPEAN) $ 420.93
R134842 KIT,HARNESS,INTERLOCK,EXTENSION $ 380.97
R134857 WASHER,RUB,1"0ODx5/8"ID,1/8 THK(BAG OF 10 $ 10.03
R134859 BLOCK,B/PLATE GUIDE,BUMPER,w/HDWR(KIT OF 2) $ 144.48
R134867 STUD,1/4-TURN,CSK,PHIL,SST(KIT OF 2) $ 30.54
R134873 KIT,PLATES,PIN LOCK,w/HDWR $ 81.45
R134875 KIT,BRKT WLDT,LH,PLATFORM PIVOT,w/HDWR $ 112.90
R134876 KIT,BRKT WLDT,RH,PLATFORM PIVOT,w/HDWR $ 89.92
R134877 KIT,PIVOT PIN,w/BEARINGS $ 57.52
R134879 CD,w/FR2SS SERVICE & OPERATOR MANUALS $ 10.94
R134883 BUSHING,ROLLSTOP (KIT OF 2) $ 45.70
R134887 KIT,SHAFT,MAIN,1.00 x 40.50L(PACKAGED) $ 66.69
R134888 KIT,BRKT,GAS SPRING,TOP(GREY) $ 39.95
R134889 KIT,BRKT,GAS SPRING,BOTTOM(GREY) $ 39.77
R134890 KIT,SHAFT,MAIN,1.00 x 36.50L(PACKAGED) $ 55.20
R134891 KIT,SHAFT,MAIN,1.00 x 32.50L(PACKAGED) $ 53.01
R134892 KIT,SHAFT,MAIN,1.00 x 46.00L(PACKAGED) $ 59.56
R134893 KIT,SHAFT,MAIN,1.00 x 39.13L(PACKAGED) $ 60.71
R134894 KIT,KNUCKLE LEVER ASSY,w/O LOAD SENSOR $ 107.68
R134895 INA;KIT,H/RAIL ASSY,w/BUCKLE,LH(PACKAGED) $ 211.89
R134896 INA;KIT,H/RAIL ASSY,w/BELT,RH(PACKAGED) $ 201.28
R135029 HARNESS,PENDANT,9 PIN AMP,NO PULLBOX $ 143.69
RI135030 HARNESS,PUMP TO LIFT,NO PULLBOX $ 154.71
R135049 HARNESS,SENSOR,FLUID LEVEL $ 231.56
RI135051 PUMP ASSY,24V $ 1,641.89
R135233 CABLE,SST,3/32"x55.75",.40EYES $ 25.56
R135237 KIT,RETRO,CARGO LIFT,SOLID PLTFRM REINF $ 113.95
RI135272 PLATFORM ASSY,30x48"SLIDING $ 1,731.66
R135295 HOSE ASSY;86"x1/4JICx1/8ID,SST,BRD $ 123.44
R135403 ENCLOSURE,SENSOR,PAINTED $ 19.14
R135410 KIT,FLOOR PLATE wW/SAFETREAD & HDWR $ 671.60
R135412 WASHER,ISL,#10(BAG OF 10) $ 0.73
RI135416 LIGHT,INDICATOR,GREEN,28V (PACKAGED) $ 24.46
R135417 PUMP,24V,w/1.5 GALL RESERVOIR (PACKAGED) $ 1,213.02
R135420 KIT,WASHER,LOCK $ 19.45
R135421 KIT,NUT,SPINDLE $ 25.91
R135422 KIT,PULLBOX PARTS,wW/TERM STRIP,17 $ 273.08
R135423 KIT,SPARE PARTS,DEALER,S&K SERIES,FMVSS $ 3,335.87
R135428 SPRING,ROLLSTOP,RH(PACKAGED) $ 49.37
R135430 KIT,DECALS,S-SERIES,EXPORT,DREATED $ 18.52
R135435 LIMIT SWITCH,OTTO(PACKAGED) $ 545.44
R135436 PLUNGER,HAND RETRACT,DELRIN KNOB(PKGD) $ 88.50

@ Ricon.

AWabtec company

45|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R135437 WASHER,FLT,.88x.38x.125,CLR ZINC(BAG/10 $ 3.41
R135438 SCREW,HEX,3/8-16x7/8 GR5(BAG OF 10) $ 6.81
R135439 SCREW,HEX,5/16-18x1 1/4 GR5(BAG OF 10) $ 4.54
R135440 PLUG,LKING HOLE,.38 DIA,BLK PLS(BAG/10) $ 341
R135441 CABLE ASSY,48"L RAMP(PACKAGED) $ 73.14
R135442 HARNESS,J1,PANEL MOUNT (PACKAGED) $ 160.19
R135448 SCREW,SSC,3/8X3/8,SST (KIT OF 2) $ 61.02
R135450 SCREW,BHS,5/16-24x3/4 SST (BAG OF 10) $ 11.08
RI135451 KIT,H/RAIL ASSY,RH FIXED,w/HDWR $ 213.55
R135452 KIT,H/RAIL ASSY,LH FIXED,w/HDWR $ 21355
R135453 KIT,COVER,FRONT,31.9",W/SAFETREAD $ 154.70
R135454 KIT,BLOCK,POSITIVE CONNECTION,w/HDWR $ 36.17
R135455 SCREW,CAR,3/8-16x2 GR5 (BAG OF 10) $ 18.27
R135456 NUT,WING,5/16-18(BAG OF 10) $ 4.53
R135461 HARNESS,SENSITIVE EDGE (PACKAGED) $ 536.38
R135462 SCREW,SSS,1/4x3/4 SST(BAG OF 2) $ 22.40
R135463 SPRING,PNEUMATIC,6.46"(PKG OF 2) $ 90.66
RI135464 PLUG,.31DIA,.3t0.14 MTL,BLK PL(BAG OF 10 $ 7.52
R135487 HARN,STD CONTROL EXTENSION,PACKAGED $ 102.12
R135489 HARNESS,MAIN,w/HYDRAULIC (PACKAGED) $ 439.12
R135490 RETAINER,1/4-TURN FASTENER,SST(KIT OF 10 $ 21.61
R135491 STUD,1/4-TURN,OVAL SLOT,SST(KIT OF 2) $ 44.43
R135492 BUSHING,RIVET SPACER(KIT OF 10) $ 31.47
RI135494 KIT,TRIM POCKET ASSY,w/SAFETREAD & HDWR $ 389.04
R135495 HARNESS,RS SWITCH TO CONTROLLER,PACKAGED $ 116.70
R135499 KIT,COVER,HANDLE w/HDWR $ 89.94
RI135707 KIT,INSTALL,NON-REFLECTIVE TAPE $ 21.88
RI135708 KIT,GUIDE BLOCK,INNER R/STOP,W/RIVETS $ 31.00
RI135713 SUPPORT WLDT,REAR,ENCLOSURE $ 209.02
RI35772 BASEPLATE WLDT,34" PLATFORM $ 268.28
RI35772S BASEPLATE WLDT,34" PLATFORM,SILVER $ 328.50
RI135781 SWITCH ASSY,BP LOAD SENSOR $ 72.41
RI135787 LOCK ASSY,STOW,w/COVER $ 128.39
R135801 PLTFRM ASSY,REAR POS,w/FLD HRAILS,SW $ 2,477.44
R135803 HARNESS ASSY,SPIDER w/PRS W/INTRLCK REST $ 238.39
R135812 LEVER WLDT,HANDRAIL RELEASE $ 34.15
RI135814 HANDRAIL ASSY,RH,INTERLOCKED RESTRAINT $ 33445
RI135815 HANDRAIL ASSY,LH,INTERLOCKED RESTRAINT $ 323.80
R135819 CONTACT BLOCK ASSY $ 56.20
R135894 PUMP ASSY,24V,w/ENCLOSURE AND MTG BRKT $ 1,451.25
R135954 COVER,PADDED,SLIDER,48" $ 480.50
RI135957 COVER,PADDED,SLIDER,42" $ 480.50
R136100 RETROFIT KIT,MK1,HOSE/HARNESS $ 593.25
R136238 KIT,LH/RH SIDE BARRIERS,w/HDWR $ 27281
R136239 KIT,BAR SUPPORT/SCUFF PLATE,w/HDWR $ 138.90
R136247 SCREW,PHP,4-40 x 1.00(BAG OF 10) $ 6.55
R136248 BASEPLATE ASSY,32"W,w/0 INTLCK(FMVSS)LH $ 1,525.27

@ Ricon.

AWabtec company

46|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI36248R BASEPLATE ASSY,32"W,w/o INTLCK(FMVSS)RH $ 1,448.79
R136250 KIT,TOOL,4-PIN,RAMP ARM $ 49.63
RI136251 HOOK,STOWLOCK(PACKAGED) $ 25.59
R136252 ROLLPIN,1/8x 1 1/4 (BAG OF 10) $ 7.01
R136254 KIT,RAMP ASSY,w/FLOORING $ 1,419.60
KIT,BLOCK HANDRAIL GUIDES,LEFT & RIGHT (2 EACH
R136255 PER KIT) $ 135.80
R136256 TRIM EXTENSION,48.25" $ 22.84
R136260 TEMPLATE,DRILL FIXTURE,PACKAGED $ 187.17
RI136261 SCUFF PLATE(PACKAGED) $ 64.36
R136263 HARNESS,J1,FLUID LEVEL SENSOR(PACKAGED) $ 283.48
R136264 HARNESS,MAIN w/HYD,NO PULLBOX(PACKAGED) $ 559.36
R136268 BRACKET, TERMINAL,PUMP,LH(PACKAGED) $ 31.88
R136269 WASHER,FLT,.325x.563x.065(BAG OF 10) $ 7.22
R136270 SCREW,BHS,5/16-18x2 1/4 BLK(BAG OF 10) $ 9.79
RI36271 CAM,POSITION INPUT(PACKAGED) $ 21.19
RI136272 HOSE ASSY,HYD,17.5'SYNFLEX (PACKAGED) $ 10221
R136273 TRIM WLDT,LRG CUTOUT(PACKAGED) $ 508.66
RI36274 ROLLSTOP,6",32"W,GREY WRINKLE(PACKAGED) $ 14174
RI136275 HANDRAIL WLDT(PACKAGED) $ 152.34
RI136276 HARNESS,PUMP CHASSIS,12V(PACKAGED) $ 96.17
RI136277 O-RING,PUMP,RAMPS $ 8.57
RI136279 ATTACHMENT,RODEND,GRAY $ 14.13
R136283 MOTOR ASSY,24V,MODIFIED $ 305.34
R136284 WASHER,THRUST ,BAG OF 2 $ 27.08
R136285 BUSHING,FLANGED,(BAG OF 2) $ 27.36
R136286 KIT,RAMP PLATE ASSY,Ww/ALTRO FLOORING $ 1,418.09
R136289 SCREW,FHH,1/4-20x1 1/4,ALLOY,BLK(BAG/10) $ 15.24
R136290 KIT,TRIM PIECES,wW/RIVETS $ 68.50
R136292 ROLLPIN,1/4X1 1/4,SST(BAG OF 10) $ 12.39
R136293 RIVET,POP,3/16x3/8 AL FLUSH HD(BAG OF 10 $ 10.04
R136297 SCREW,SSS,1/2x3/4(BAG OF 10) $ 36.30
R136298 WASHER,1/2, WAVE SHK PROOF BLK(BAG OF 10) $ 12.13
R136320 CABLE COLLAR,PLATFORM $ 15224
R136344 HANDRAIL WLDT,OUTER $ 173.69
R136362 EXTENSION ARM ASSY(29.50") $ 370.06
R136369 EXTRUSION,V-SLIDE,LH $ 111.36
RI136373 H-CHANNEL ASSY,LH $ 329.01
RI136374 H-CHANNEL ASSY,RH $ 329.01
RI36377 PANEL WLDT,INTERMEDIATE $ 337.84
R136384 CYLINDER ASSY,26.5",LH $ 806.14
R136385 CYLINDER ASSY,26.5",RH $ 806.35
R136392 CHAIN,LEAF,BL423,113 LINKS W/2 MSTR LINK $ 54.34
R136395 COVER ASSY,CYLINDER,INTERMEDIATE,LH $ 51.40
RI136397 COVER ASSY,CYLINDER,INTERMEDIATE,RH $ 51.40
R136398 HOSE ASSY,POLY,60.5" $ 29.66
RI136569 HANDRAIL ASSY,FMVSS,LH,w/BUCKLE ASSY $ 138.99

@ Ricon.

AWabtec company

47|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI136570 HANDRAIL ASSY,FMVSS,RH $ 144.32
R136585 COVER,PUMP,MODULAR $ 52.68
RI136587 BLOCK,SUPPORT,LOCK ROD $ 19.47
R136588 COVER,STOWLOCK,MODULAR $ 7.22
R136626 RAMP PLATE ASSY $ 1,151.85
RI136654 ANGLE,REAR TRIM,NO CUTOUT $ 23.08
R136685 CONTROL BOX ASSY,24V,NO INTERMED S/WARE $ 2,371.06
R136696 HANDRAIL ASSY,FIXED,RH $ 17154
RI136697 HANDRAIL ASSY,FIXED,LH $ 171.54
R136698 HANDRAILS,FIXED,FMVSS w/HDWR $ 400.77
R136900 KIT,REAR BARRIER ASSY,MCI/ABC $ 246.02
R136901 KIT,REAR BARRIER ASSY,MCI $ 245.76
R136902 KIT,REAR BARRIER ASSY,SETRA $ 26155
R136906 KIT,COUNTER ASSY,w/HDWR $ 70.72
R136907 KIT,HARNESS,HYD,CTRL BOX TO PUMP,w/HDWR $ 159.32
R136908 KIT,CIRCUIT BREAKER,W/HDWR $ 148.81
R136909 KIT,FRONT BARRIER ASSY $ 478.50
R136910 KIT,HANDLE w/HDWR $ 29.71
RI136911 KIT,COVER W/LIP,W/HDWR $ 85.40
R136912 KIT,BUSHING,FLG,1.50X1.25X1.00,KIT OF 2 $ 40.93
R136913 KIT,MAGNET,w/MOUNT & HDWR $ 79.65
RI136914 CLAMP,5/8ID,VINYL DIPPED,(BAG OF 10) $ 18.67
RI136915 CLAMP,3/8ID,VINYL DIPPED,(BAG OF 10) $ 12.93
RI136919 KIT,SEAT BELT,w/HDWR $ 146.07
R136932 DECAL,SECOND SOLENOID,S/K-SERIES $ 1.33
DECAL,SECOND SOLENOID,K-LIFT,ASIA EXPORT
R136932J JAPANESE $ 1.56
R136933 DECAL,OIL LEVEL WARNING,ASIA $ 3.10
R136934 KIT,CABLE GUIDE BLOCK $ 34.35
R136947 DECAL,PRESSURE SWITCH ADJUSTMENT,S/K $ 1.43
R136948 DECAL,LIMIT SWITCH ADJUSTMENT,S/K-SERIES $ 111
R136953 KIT,INTERFACE COVER,w/HDWR $ 56.07
R136959 KIT,SAFETY BELT,RETRACTABLE $ 141.12
R136960 KIT,CAM FOLLOWERS $ 42452
R136963 KIT,WIPERS(SLIDE AWAY) $ 25.60
R136968 KIT,ROLLER,ALIGNMENT PLATE $ 34.64
R136969 KIT,BLOCK,RAIL,CARRIAGE $ 29.42
RI136971 KIT,PULLEY,MOTORDRIVE $ 139.01
RI136972 KIT,MOTOR ASSY w/HDWR $ 509.62
RI36975 WASHER,FLT,M10 (BAG OF 10) $ 6.76
RI136977 SCREW,SSH,M6 X 35MM,SST (BAG OF 10) $ 11.46
R136982 KIT,BALLSCREW/NUT ASSY,w/HDWR $ 1,784.93
R136983 KIT,MANUAL OPERATION TOOL $ 116.50
R136994 TERM,PIN,F,8AWG,MX150L,MOLEX(KIT OF 10) $ 68.87
R136998 KIT,GAS SPRING $ 264.57
RI37011 BRACKET, TERMINAL,PUMP,RH $ 14.35
RI137020 PLATFORM ASSY,32"x51",SOLID $ 1,176.51

@ Ricon.

AWabtec company

48|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RI3702SR KNOB,PLUNGER W/8-32 $ 5.84
RI37152 KIT,BOOT INSTALLATION $ 20.31
RI37241 KIT,TRIM POCKET ASSY,w/SAFETREAD & HDWR $ 565.24
RI37252 RESERVOIR,HYD PUMP,FR2G/FR2SS/BR2SS $ 43.69
RI37261 RAMP PLATE ASSY,w/DRIVEN ARM $ 1,301.66
RI137300 POWER STRAP $ 30.47
RI137308 ADAPTER ASSEMBLY,9 PIN $ 65.81
RI137319 LIGHT ASSY,RED w/CONNECTORS $ 32.29
RI37333 HARNESS,STOW-LOC SOLENOID EXTENSION $ 13.39
RI37335 HARNESS,MAIN POWER STRAP $ 14.06
RI137346 HARNESS EXTENSION,HANDRAIL LIGHT $ 25.99
RI137348 HARNESS,BELT & HANDRAIL LIGHT $ 45.01
RI37378 HARNESS,PUMP CHASSIS,wW/INTRLCK(PRIVATE) $ 131.63
RI137388 KIT,GROUND STRAP,LONG $ 47.46
RI137389 SENSOR,PHOTOBEAM,TRANSMITTER,MODULAR $ 25.28
RI137390 SENSOR,PHOTOBEAM,RECIEVER,MODULAR $ 25.28
RI37506 MOUNT,HYDRAULIC,LH $ 92.94
RI137508 HOSE ASSY,HYD,12"L,-6 JIC X -6 JIC $ 27.67
RI37510 HOSE ASSY,HYD,13"L,-6 JIC X -6 JIC $ 28.15
RI37711 SWITCH ASSY,POSITION INPUT $ 116.96
RI37716 HOSE ASSY,HYD,74"X1/4JIC X 1/4JIC $ 41.26
RI37729 BLOCK,CAM ROLLER $ 2.15
RI37761 PLATFORM ASSY,34"X54",FLDG,MOD,12"BGPLT $ 1,400.27
RI37780 PIN ASSY,PIVOT,CAM SIDE $ 18.95
RI37785 BRACKET,PCB MOUNT,MODULAR $ 7.41
RI37969 CAM FOLLOWER,3/4"D ROLLER X 7/16"D STUD $ 41.04
RI37976 STRAP ASSY,STRAIGHT SLIDER. $ 47.69
RI137980 KIT,RETRO,STOW LOCK,BAY LIFT $ 775.02
RI138112 CABLE ASSY,45"L RAMP $ 88.90
R138304 DECAL,1.0 x 22.0,YELLOW REFLECTIVE $ 18.47
R138305 DECAL,1.0 x 26.5,YELLOW REFLECTIVE $ 22.18
R138313 DECAL,1.0 x 34.0,YELLOW REFLECTIVE $ 20.72
R138318 LINK ASSY,YELLOW,44"LG PLTFRM $ 74.26
R138319 LINK ASSY,YELLOW,51"LG PLTFRM $ 75.21
R138320 LINK ASSY,YELLOW,54"LG PLTFRM $ 81.40
R138330 PLATFORM ASSY,32"X51",SOLID,MOD,12"BGPLT $ 860.81
RI38331S ROLLSTOP ASSY,INNER,32x12"BP,SLVR HINGE $ 162.70
R138332 PLATFORM ASSY,34"X54",SOLID,MODULAR $ 1,053.74
R138333 ROLLSTOP ASSY,INNER,34"W $ 22247
RI138333S ROLLSTOP ASSY,INNER,34X12"BP,SLVR HINGE $ 176.63
R138334 PLATFORM ASSY,32"X51",FLDG,MOD,12"BGPLT $ 1,389.94
R138340S ROLLSTOP ASSY,INNER,30x12"BP,SLVR HINGE $ 181.18
R138350 KIT,CYL RETROFIT(SPACERS) $ 74.54
R138388 BUMPER,CHASSIS $ 5.55
RI138391 COUNTER ASSY,12V,MODULAR $ 37.19
R138394 KIT,PADDING,S/K 20XX SERIES,FMVSS $  262.27
R138396 KIT,PADDING,S/K 50XX SERIES,FMVSS $ 98.94

@ Ricon.

AWabtec company

49|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R138398 KIT,PADDING,S/K 55XX SERIES,FMVSS $ 13211
R138422 KIT,RETRO,BUSHING,CLIP(KIT OF 10) $ 85.06
R138435 LATCH WLDT,RELEASE,30" PLATFORM $ 38.53
R138436 LATCH WLDT,RELEASE,32" PLATFORM $ 38.11
R138437 LATCH WLDT,RELEASE,34" PLATFORM $ 41.21
R138439 INTERLOCK,PRIVATE USE LIFT,FMVSS,GMC '08 $ 63754
R138482 BRIDGEPLATE ASSY,11"SPAN $ 314.27
RI13890 HANDLE F/HAND PUMP $ 81.18
R139017 HARNESS,STOW SENSOR/LIMIT SWITCH $ 188.43
R139022 KIT,ELECTRICAL INSTALL $ 50.81
R139023 KIT,FLUTTER VALVE $ 41.29
R139058 DRIVE ASSY,TRAIN $ 2,367.82
R139089 TRIM,RH $ 62.21
R139338 ANCHOR ASSY,FRONT,SLIDING TOWER $ 154.75
R139348 KIT,THRESHOLD PLATES,w/HDWR $ 140.57
R139349 BASEPLATE ASSY,30" SLIDER $ 3,137.39
R139354 SADDLE ASSEMBLY,GREY $ 74.74
R139359 KIT,BRIDGEPLATE ASSY,w/HDWR $ 534.65
R139360 KIT,SLIDING TOWER WLDT w/ATTACHMENTS $ 528.31
R139389 CHECK VALVE,CARTRIDGE,PUMP (PM3) $ 15.04
R139390 BACK UP PUMP,MANUAL w/o HANDLE (PM3) $ 229.74
R139800 CABLE RELEASE,MANUAL $ 220.78
R139857 SCREW,PLATFORM,PIVOT $ 16.36
R139896 SPROCKET,N0O.40,19 TEETH,MACHINED $ 330.44
R139900 BRACKET WLDT,PUMP CHASSIS $ 80.46
R139906-1 COVER,PUMP,20.58"TALL,LH $ 139.26
R139907 HINGE,PUMP MOUNTING $ 12.68
R139925 PLATFORM ASSY,34"X54",SOLID,MOD,13"BGPLT $ 1,228.79
R139933 BASEPLATE WLDT,30" PLATFORM $ 264.51
R139933S BASEPLATE WLDT,30" PLATFORM,SILVER $ 327.24
R139934S BASEPLATE WLDT,32" PLATFORM,SILVER $ 328.50
R139946 HARNESS,ARM SWITCH EXT.,MODULAR,EXPRT $ 12.65
R139951 ROLLSTOP ASSY,6"Hx30"W,MODULAR $ 127.30
R139952 ROLLSTOP ASSY,6"Hx32"W $ 125.13
R139953 ROLLSTOP ASSY,6"Hx34"W $ 132.19
R139954 ROLLSTOP ASSY,6"Hx39.5"W $ 139.74
R139962 EXTRUSION,LIP,32"W ROLLSTOP $ 8.24
R139963 EXTRUSION,LIP,34"W ROLLSTOP $ 8.74
R139968S PFRM ASSY,30"X63",SPLIT,RS SNSR,SLVR $ 1,582.38
RI139978S PFRM ASSY,32X51"SLD,RS SNSR,SLVR $ 1,140.49
RI139979 KIT,TWS COVER,S&K $ 108.83
R142030 DECAL,OIL FILL LEVEL WARNING,S/K(EXPORT) $ 1.85
R142031 KIT,RETRO,S/AWAY S/N 224598 & ABOVE $ 984.05
R142032 KIT,RETRO,S/AWAY S/N 224597 & BELOW $ 693.24
R142033 KIT,CLIP,TOOL EMERGENCY,w/HDWR(MODULAR) $ 20.76
R142034 PCB STANDOFFS (KIT OF 5) $ 19.07
R142036 KIT,PIN,CAM,w/HDWR $ 29.81

@ Ricon.

AWabtec company

50|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R142038 KIT,SPACER/HDWR,INNER ROLLSTOP $ 26.77
R142039 KIT,LINK ASSY,YELLOW,54" LG PLATFORM $ 97.09
R142050 KIT,PRESSURE SWITCH,wW/INSTRUCTIONS $ 90.18
R142052 KIT,T-NUT ROLLER $ 180.38
R142053 KIT,FOLD BRACKET $ 129.44
R142056 KIT,PLATE/HINGE ASSY,w/SEWN STRAP,32x32" $ 1,238.40
R142059 KIT,DUAL PULLEY $ 48.68
R142060 KIT,PLATE/HINGE ASSY,w/HANDLE,32"x 32" $ 1,304.13
R142063 KIT,ARM ASSY,RAMP,LH,w/HDWR $ 228.50
R142064 KIT,ARM ASSY,RAMP,RH,w/HDWR $ 228.50
R142065 KIT,PLATE/HINGE ASSY,w/HANDLE,30"x49" $ 1,027.00
R142066 KIT,PLATE/HINGE ASSY,w/HNDLE,30x49"SLOTD $ 1,028.33
R142067 KIT,PLATE/HINGE,WHITE ,w/HANDLE,30x49" $ 1,007.04
R142068 KIT,PLATE/HINGE ASSY,w/HANDLE $ 995.20
R142070 KIT,PLATE/HINGE ASSY,WHITE,w/HANDLE $ 1,035.67
R142073 DECAL,OPERATING INSTRUCTIONS $ 21.00
R142074 DECAL,MANUAL OPERATION $ 22.26
R142075 DECAL,RATED LOAD $ 22.26
R142076 DECAL,STANDEE INSTRUCTIONS $ 17.64
R142077 DECAL,PRODUCT ID POWERLIFT,BOMBARDIER $ 7.98
R142078 DECAL,REVISION IDENTIFICATION $ 0.75
R142079 DECAL,NOT STEP ON BRIDGEPLATE,S/K EXPORT $ 3.39
R142082 KIT,ARM ASSY,RAMP,LH,w/HDWR $ 209.43
R142083 KIT,ARM ASSY,RAMP,RH,w/HARDWARE $ 224.44
R142084 KIT,PLATE/HINGE ASSY,w/STRAP,30x48"RAMP $ 949.11
R142085 KIT,PLATE/HINGE ASSY,w/STRAP,32x44",24V $ 925.15
R142088 DECAL,OPERATING INSTRUCTIONS $ 6.15
R142088J DECAL,OPER.INSTR.,K-LIFT,ASIA EXPORT $ 4.24
R142089 DECAL,RATED/PROPER LOAD $ 10.42
R142089J DECAL,RATED LOAD,K-LIFT,ASIA EXPORT $ 5.37
R142090 DECAL,MANUAL OPERATION,S/K EXPORT USE $ 4.73
R142090J DECAL,MANUAL OPER. K-LIFT,ASIA EXPORT $ 7.18
R142091 DECAL,RICON-WABTEC,2.13"x2.25",BRSH ALUM $ 1.92
R142092 DECAL,STANDEE INSTR.,S/K-SERIES $ 2.45
R142093 DECAL,CAUTION STAND CLEAR,S/K-SERIES $ 10.42
R142094 DECAL,STANDEE LOCATION,S/K-SERIES $ 2.68
R142099 DECAL,LOGO,STAND CLEAR,SQUARE,S/K EXPORT $ 10.42
R142318 C-CLIP,PRESSURE SWITCH $ 9.77
R142385 PLATFORM ASSY,39.5x 60"SOLID,12"BGPLT $ 1,416.31
R142395 PRESSURE SWITCH,MODEL CJ,100-400PSI ADJ. $ 73.37
R142456 BOTTOM COVER WLDT $ 79.78
R142476 ACCESS COVER ASSY,w/HEATER MAT (FR2NO01) $ 650.85
R142481 KIT,PLUGS,INSTALLATION FINISH $ 24.85
R142496 KIT,BUSHING/THRUST WASHER,F/OVER RAMP $ 76.94
R142519 PLATFORM ASSY,32"x51",SPLIT,EXPORT $ 1,178.61
R142556 ROLLSTOP ASSY,RH,32"SPLIT PLTFRM $ 70.80
R142557 ROLLSTOP ASSY,LH,32"SPLIT PLTFRM $ 70.80

@ Ricon.

AWabtec company

51|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R142558 ACTUATOR WLDT,LH,32"W,SPLIT PLTFRM $ 29.42
R142560 ACTUATOR WLDT,RH,32"W,SPLIT PFRM $ 29.42
R142565 KIT,KICKOUT SPRING,EXPORT $ 49.92
R142575 HARNESS,VEHICLE INTL,INTERFACE $ 55.16
R142584 JUMPER,BYPASS,DOOR OPERATOR $ 2.82
R142591 KIT,SPRING,PLATFORM LINKAGE,w/HDWR $ 22.23
R142596 HARNESS,JUMPER,PENDANT $ 9.42
R142723 ANCHOR,SPRING $ 4.48
R142724 SPRING,FRONT GATE $ 22.58
R142784-F10X BLOCK,HANDRAIL GUIDE,RH $ 22.05
R142785-F10X BLOCK,HANDRAIL GUIDE,LH $ 22.05
R142806 CABLE ASSY,VALVE RESET $ 9.07
R142811 COVER,STOWLOCK,E-KIT $ 7.35
R142816 AXLE,HANDLE,EMERGENCY $ 9.19
R142821 KIT,EMERGENCY RELEASE $ 333.96
R142822 ACTUATOR,MANUAL RELEASE $ 29.42
R142825 STOW LOCK BRACKET WLDT $ 47.62
R142830 CABLE ASSY,EMERGENCY RELEASE $ 43.06
PENDANT ASSY,COIL CORD,12FT,w/PUSH BUTTN &
R142891 MAGNET $ 165.75
R142931 PCB ASSY,W/LEDs,NSWL,PRIVATE/EXPORT $ 244.19
R142933 HANDRAIL ASSY,LH,OFFSET $ 129.62
R142936 HANDRAIL ASSY,RH,OFFSET $ 129.62
R142950 TIE,ROD ASSY,3/8-24 $ 49.18
R142951 KIT,SKI WHEEL ,w/HDWR,ROLLSTOP,EXPORT $ 31.68
R142968 KIT,PENDANT,COIL CORD,.29 DIA,PUSH BTN BLACK $ 218.05
R142972 PENDANT ASSY,COIL CORD,9PIN,PUSH BUTTONS $ 249.17
R142990 PLATE,LH PIVOT,5.6"H ROLLSTOP $ 11.98
R142993 PENDANT ASSY,.29COIL CORD,PUSH BTTNS,RED $ 20254
R143043 BEARING/BRKT ASSEMBLY $ 113.26
R143048 COUPLING,TYPE L,19mm ID,6mm KEYWAY $ 41.80
R143049 SPIDER COUPLING $ 60.98
R143051 COUPLING,TYPE L,.750 ID $ 41.80
R143054 MOTOR,DUAL GEAR BOX ASSY $ 2,894.55
R143137 PLATE WLDT,HINGED FRONT COVER $ 161.67
R143150 BAR,TRANSITION $ 46.59
R143164 CHAIN-SPRING ASSEMBLY $ 387.28
R143167 BLOCK,BRAKE $ 70.04
R143168 BEARING,BRAKE,MODIFIED $ 8.16
R143196 PLATE,BEARING,KEEPER $ 4.85
R143237 LATCH,HANDRAIL,OUTER $ 79.33
R143464 LATCH,SLAM,w/PADDLE (EBERHARD #3-249-SS) $ 93.80
R143477 SCREW,SSS,3/8x2 1/2 (McMASTR #91264A593) $ 8.65
R143489 CYLINDER ASSY,HYDRAULIC,29" STROKE $ 648.03
R143626 COVER,CHAIN,FRONT $ 3.30
R143706 SWITCH,SNAP $ 138.80
RI43711 TUBE ASSY,HYD,CYLINDER CONN.,CAP END $ 316.46

@ Ricon.

AWabtec company

52|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R143729 PLATE,PLATFORM TILT ADJUSTMENT $ 12.06
R143743 PUMP,HYDRAULIC,REMOTE,MANUAL $ 209.99
R143756 ANGLE,REAR TRIM,LARGE NOTCH $ 51.94
RI143777 CHAIN ASSY,CABLE CARRIER $ 63.33
R143785 PLATE,FLOOR $ 277.75
R143900 BAR,TRANSITION,RCA FLOORING OPTION $ 46.58
R143907 SPACER,SHAFT,RH $ 4.32
R143912 STRIP,ALTRO,FRONT GATE $ 19.82
R143916 STEP EDGE,RCA,YELLOW $ 101.00
R143918 MICRO SWITCH $ 31.92
R143928 CABLE,POWER,4AWG,RED $ 34.04
R143929 POWER CABLE,4AWG,BLACK $ 47.02
R143935 HARNESS,ELECTROMAGNET TO SWITCH $ 46.20
R143938 INA,ENCLOSURE WLDT,RAMP $ 1,421.03
R143948 FLOOR WLDT,HINGED $ 265.64
R143951 INDUCTIVE PROXIMITY SENSOR $ 130.84
R143957 BRACKET,MOTOR MOUNT RIGHT HAND $ 44.38
R143958 BRACKET,MOTOR MOUNT LEFT HAND $ 44.38
R143960 SPACER,GEAR MOTOR $ 44.30
R143962 FLANGE,TRIM,LH $ 26.47
R143963 FLANGE,TRIM,RH,SHORT $ 31.14
R143973 FLANGE,REAR,LONG CUT OUT $ 24.94
R143976 FLANGE,REAR,NO CUT OUT $ 35.14
R143977 FLANGE,REAR,SHORT CUT OUT $ 19.23
R143981 WASHER,COUPLER $ 70.69
R143982 SHAFT ASSY $ 536.69
R143984 BUSHING,CABLE $ 17.47
R143985 FLANGE,TRIM,RH,CUT $ 25.28
R143989 COVER,CHAIN,LH $ 28.13
R143990 COVER,CHAIN,RH $ 28.13
R144126 LATCH,STOW,PLATFORM $ 90.86
R144161 LINK,INTERMEDIATE,LH $ 78.57
R144162 LINK,INTERMEDIATE,RH $ 69.08
R144182 HARNESS,STOW SENSOR $ 47.63
R144208 KIT,DRAIN PLUG (KIT OF 2) $ 20.31
R144209 CABLE CLAMP (BAG OF 2) $ 25.40
R144210 KIT,ACTUATOR WLDT,ROLLSTOP,RH $ 143.94
R144211 KIT,ACTUATOR WLDT,ROLLSTOP,LH $ 151.39
R144212 KIT,HINGE,PLATFORM w/HARDWARE $ 51.97
R144218 KIT,SWITCH ASSY,PLNGR TAPPED $ 108.81
R144219 KIT,COUNTER & CONNECTOR ASSY,w/HDWR $ 78.74
R144221 KIT,SELF ALIGNING BEARING $ 134.00
R144222 KIT,ELECTROMAGNET ASSY $ 322.39
R144223 KIT,FRONT GATE GUIDE (DELRIN) $ 39.16
R144224 KIT,CHAIN GUIDE,FRONT AND REAR (DELRIN) $ 104.26
R144225 KIT,FOOT,PLATFORM(KIT OF 2) $ 25.14
R144226 KIT,SPRING/SPRING PIN $ 31.55

@ Ricon.

AWabtec company

53|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R144227 KIT,ANGLE BRACKET,MAIN PLATFORM,POWERLIF $ 25.69
R144228 KIT,LATCH WLDT,PLATFORM $ 63.81
R144235 SCREW,BHT #10-32,SST (BAG OF 10) $ 31.08
R144236 KIT,SWITCH ASSY,POSITION INPUT $ 99.45
R144237 KIT,SWITCH BLOCK/MICROSWITCH W/HARDWARE $ 31.94
R144240 DECAL,MANUAL OPER.,DOT F-LIFT,S/K-SERIES $ 6.84
R144241 DECAL,OPER.INSTR.,DOT TITANIUM LINE,S-SERIES $ 4.33
R144242 DECAL,RICON-WAB LOGO,DOT F-LIFT,S/K $ 5.93
DECAL,PROPER LOADING,DOT,TITANIUM S/K,AMX
R144244 LOAD 1000 LB $ 5.48
R144251 KIT,BLOCK/SWITCH,PUSH BUTTON $ 506.40
R144252 KIT,SWITCH,SNAP & BRKT w/HDWR $ 441.94
SOLENOID,P/SEAL,24V,4 PST,w/HDWR KIT #1
R144253 TROMBETTA $ 54.64
R144255 LINK ASSY,LH,YELLOW,44"LG PLATFORM $ 93.53
R144268 CD,0OPERATOR/SERVICE MANUALS,F10X $ 11.22
R144271 KIT,ACTUATOR WLDT,ROLLSTOP,LH,K-ASIA $ 123.30
R144272 KIT,ACTUATOR WLDT,ROLLSTOP,RH,K-ASIA $ 119.27
R144277 KIT,DOC,DOT TITANIUM LIFT,S/K-SERIES $ 42.64
R144278 ARM ASSY,VERTICAL,RH,S1200,EXPORT $ 264.42
R144279 ARM ASSY,VERTICAL,LH,S1200,EXPORT $ 264.42
R144281 ARM ASSY,VERTICAL,RH,S2000,EXPORT $ 285.63
R144282 ARM ASSY,VERTICAL,LH,S2000,EXPORT $ 285.63
R144283 ARM ASSY,VERTICAL,LH,K1200,EXPORT $ 269.96
R144284 ARM ASSY,VERTICAL,RH,K1200,EXPORT $ 269.96
R144285 ARM ASSY,VERTICAL,LH,K2000,EXPORT $ 293.69
R144286 ARM ASSY,VERTICAL,RH,K2000,EXPORT $ 293.69
R144298 DECAL,OPERATING INSTRUCTIONS,F10X,FMVSS $ 22.73
R144403 KIT,REPLACEMENT,ANTI-SKID,PF7-003 $ 288.21
R144430 ROLLER ASSY,SLIDING FRAME $ 133.75
R144703 FRONT COVER ASSEMBLY $ 60441
R144712 MOTOR PLATE ASSY,12V $ 490.69
R144746 MOTOR PLATE ASSY,24V $ 1,021.50
R144767 TRIM POCKET ASSY $ 947.13
R144790 BOLT,PIVOT,BI-FOLD $ 18.68
R144841 LOCK ASSY,STOW,w/COVER,24V SOLENOID $ 158.86
R144847 KIT,PENDANT,STRAIGHT CORD,10 FT,FMVSS $ 155.38
R144852 KIT,PENDANT,STL CORD,7 FT,FMVSS,BLK $ 21045
R144855 INTRLK,PRIVATE USE,FMVSS(GM 2009-2010) $ 728.20
R144856 PENDANT ASSY,DR LCK DEUTSCH CONN,,BLK $ 170.52
R144870 KIT,PENDANT,COIL CORD,9 PIN,FMVSS,BLK $ 230.49
R144871 PENDANT ASSY,COIL CORD,9PIN,FMVSS,BLK $ 204.48
R144873 CHASSIS ASSY,LOWERED,RH PUMP,12V,EXPORT $ 1,616.14
R144886 HANDRAIL ASSY,W/O SWITCH,RH(GREY) $ 79.68
R144888 HANDRAIL ASSY,W/SWITCH,LH(GREY) $ 180.11
R144892 LINK,KNUCKLE,LONG,GREY(18.25"),SLIDER $ 19.55
R144893 ARM,BOTTOM(GREY),S20XX,SLIDER $ 33.19
R144895 SHIELD,PINCH,OUTSIDE,LH $ 13.12

@ Ricon.

AWabtec company

54|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R144896 SHIELD,PINCH,OUTSIDE,RH $ 13.12
R144911 FLANGE,REAR,FLAT $ 26.33
R144912 FLANGE,TRIM,RH,FLAT $ 25.28
R144913 FLANGE,TRIM,LH,FLAT $ 25.28
R144928 KIT,REPLACE- RAMP PLATE ASSY,32" WIDE $ 1,442.11
R144945-F10X COVER,SOLENOID,STOW LOCK $ 26.06
R144947-F10X BRACKET WLDT,SOLENQOID MTG,STOW LOCK $ 52.73
R144951 BARRIER WLDT,REAR $ 95.53
R144952 BARRIER STIFFENER/PLATFORM PIVOT WLDT,RH $ 90.80
R144954 BARRIER STIFFENER/PLATFORM PIVOT WLDT,LH $ 90.75
R144957 BARRIER STIFFENER/PLATFORM STOP WLDT $ 41.42
R144959 LINK WLDT,DRIVEN,SECON PLATFORM ACTUATOR $ 57.00
R144963-F10X STRIKER WLDT,STOW LOCK $ 44.50
R144968 SLEEVE,REINFORCEMENT,ARM MECHANISM $ 4.04
R144969 BEARING,PIVOT,ARM,BI-FOLD $ 5.83
R144970 WASHER, TRHUST,1.250Dx.625IDx.050THK,ACET $ 5.47
R144984 CYLINDER ASSY,29.5",RH $ 757.92
R144985 CYLINDER ASSY,29.5"LH $ 75792
R144986 REAR BARRIER ASSEMBLY $ 256.99
R145211 SENSOR ASSY,ROLLSTOP,SHORT,54"STL JACKET $ 71.70
R145212 SENSOR ASSY,ROLLSTOP,LONG,72"STL JACKET $ 90.67
R145215 HARNESS,ROLLSTOP SW EXT.,MOD,XPRT,LONG $ 23.85
R145216 HARNESS,ROLLSTOP SW EXT.,MOD,XPRT,SHORT $ 19.51
R145230S PFRM ASSY,34X54"FLDG,RS EXTR w/SNSR,SLVR $ 1,859.75
R145236 BRACKET,SKI-GROUND OFFFSET,RH $ 31.11
R145237 BRACKET,SKI-GROUND OFFFSET,LH $ 31.11
R145238 BRACKET,SKI-GROUND OFFFSET,SPLIT PFRM,RH $ 33.55
R145240 BRACKET,ROLLSTOP ACTUATOR HILL $ 10.12
R145242 PLATFORM ASSY,34X54",SOLID,MOD,12"BGPLT $ 964.64
R145274 BLOCK,PLATFORM LEVELER $ 17.54
R145295-1 COVER,PUMP,20.58"TALL,LH $ 147.29
R145295-2 COVER,PUMP,20.58"TALL,RH $ 147.29
R145340 KIT,SOLENOID RETROFIT $ 299.13
R145358 KIT,F9,BEARING/PIN $ 668.83
R145390 PLATE,ELECTRICAL $ 33.22
R145401 CONTROLLER ASSY,BAYLIFT,W/O BEEPER $ 984.76
R145403 CYLINDER ASSY,25.5"LH $ 823.32
R145404 CYLINDER ASSY,25.5",RH $ 823.32
R145417 KIT,RAMP ASSY,w/FLOORING (TR852) $ 1,460.49
R145444 HARNESS,NO PULLBOX ADAPTOR TO TWS $ 69.45
R145453 STUD,3/8-24,RH & LH,3.50 LONG $ 6.49
R145455 TRIM WLDT $ 472.00
R145480 RAMP ASSY,32"x45",REPLACEMENT (NOVA BUS) $ 2,550.15
R145500 KIT,PLATE ,w/SAFETREAD $ 227.06
R145501 KIT,FLOOR WLDT,w/SAFETREAD $ 334.26
R145504 SCREW,HEX,5/16-18x1 1/4 SST(BAG OF 10) $ 10.67
R145512 RAMP REPLACE,621,w/RCA RIBBED FLRG,SLATE $ 1,554.46

@ Ricon.

AWabtec company

55|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RAMP,REPLACE,621,w/ALTRO,META,FLG,RADIAL
R145513 RADIAL $ 1,643.25
R145514 KIT,ADJ SCREW,DRIVE MOTOR $ 21.76
R145515 BEARING,BALL,.5BORE,1.1250D,.375L(KIT/2) $ 43.92
R145516 TERM,SLP F 12-10 AWG(BAG OF 10) $ 5.96
R145518 KIT,GROUND STRAP(84") $ 49.73
R145521 KIT,90 AMP CIR/BRKR,4 AWG CABLE & HDWR $ 246.19
R145526 SCREW,PHP,10-24x1/2 TRS(BAG OF 10) $ 6.96
R145528 SCREW,BHS,5/16-18x1(BAG OF 10) $ 8.16
R145529 SCREW,PHP,1/4-20,TAP TITE,BLK ZINC(BAG OF 10) $ 11.99
R145543 SCREW,SHC,10-24x5/8 SST(BAG OF 10) $ 7.79
R145545 COVER,S/S ARMOR CABLE(PACKAGED) $ 45.56
R145546 CHAIN,LEAF,BL423,129 LINKS (PACKAGED) $ 129.40
R145547 SPRING, TORSION(PACKAGED) $ 43.72
R145548 FITTING,LIFT CYLINDER(PACKAGED) $ 55.84
R145549 HARNESS, TWS EXTENSION (PACKAGED) $ 58.48
R145551 KIT,PINCH SHIELDS,QUTSIDE(S&K TITANIUM) $ 26.66
R145552 KIT,PINCH SHIELDS,QUTSIDE(S&K TITANIUM) $ 28.76
R145553 KIT,PCB ASSY,LH,w/BRKT AND HDWR $ 302.32
R145554 KIT,PCB ASSY,RH,w/BRKT AND HDWR $ 302.32
R145555 PCB,w/STOW LOCK&ENUNCIATOR(PACKAGED) $ 821.12
R145558 FITTING,ADAPTOR-T,NPTF,SAE(PACKAGED) $ 19.49
R145559 DOOR,ACCESS,COVER,MANIFOLD(PACKAGED) $ 170.94
R145560 STRAP,DOOR CLOSE(PACKAGED) $ 21.26
R145561 PCB,PUMP LED ASSY,12V $ 21.75
R145562 KIT,REAR BARRIER ASSY,18"L $ 285.89
R145564 ADAPTER,ADJUSTABLE,SAE-4(PACKAGED) $ 14.21
R145565 MANIFOLD,HYD,PRESSURE SWITCH(PACKAGED) $ 27.85
R145566 GROMMET,1/2ID X 3/40D X 1/16 PLT(PACKAGED) $ 7.99
R145567 SPRING,COMPR .50x14"x.054DIA.(PACKAGED) $ 27.32
R145568 BOBBIN,SPRING GUIDE(PACKAGED) $ 15.37
R145569 KIT,PLUG,0.50DIA.UP TO 0.13 MTL(2PCS) $ 7.66
R145570 BUSHING,CHAIN GUIDE(PACKAGED) $ 20.52
R145571 BRACKET,DR OPENER,93 FORD(PACKAGED) $ 43.55
R145572 GUIDE,CHAIN(PACKAGED) $ 51.79
R145573 GUARD,DOOR JAMB(PACKAGED) $ 41.08
R145574 SPRING,.6090D.,2.53L,.105 DIA(PACKAGE OF 2) $ 20.23
R145575 LATCH WLDT,ADA,MAIN PFRM (PACKAGED) $ 78.49
R145576 PLATFORM WLDT,CHANNEL(PACKAGED) $ 304.10
R145577 MOTOR,PUMP,12V,DC (BR2/FR2) $ 280.49
R145579 TRACK,SMALL,SCHLEGEL (PACKAGED) $ 9.15
R145580 BRACKET,PUMP,SOLENOID(PACKAGED) $ 25.54
R145581 BUSBAR,ISKRA MOTOR,LH(PACKAGED) $ 21.42
R145582 BUSBAR,ISKRA MOTOR,RH(PACKAGED) $ 15.00
R145583 ACTUATOR WLDT,RH(PACKAGED) $ 47.13
R145584 ACTUATOR WLDT,LH(PACKAGED) $ 64.23
R145591 KIT,CAP,TERM,MAIN PWR,w/HDWR $ 9.80

@ Ricon.

AWabtec company

56|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
PENDANT ASSY,COILCRD,RED/BLK,w/PIC(PACKAGED)

R145592 CORD $ 198.94
R145593 ENCLOSURE ASSY,CONTROLLER(PACKAGED) $ 46.56
PENDANT ASSY,COILCRD,RED/BLK,w/PIC,6-PIN -

R145594 MINI,IP67 $ 198.94
R145595 CHAIN GAURD,DR OPEN 93 FORD(PACKAGED) $ 77.87
R145596 SPROCKET,CLUTCH(PACKAGED) $ 105.52
R145597 SPACER,RUBBER(PACKAGED) $ 50.33
R145598 CLEVIS,CYLINDER(PACKAGED) $ 41.55
R145599 CABLE ASSY,BATTERY,20" (PACKAGED) $ 35.80
R145604 ROLLSTP ASSY,6"H,30"W,GRAY,RH $ 179.62
R145605 ROLLSTP ASSY,6"H,30"W,GRAY,LH $ 179.62
R145608 PCB ASSY,w/O MICRO $ 828.21
R145610 HARNESS,PUMP CHASSIS W/INTLCK,EX $ 138.38

KIT,PCBA,CNTL MODULE,w/BYPASS & INSTR
R145618 REPLACEMENT $ 412.01
R145635 KIT,PENDANT ASSY,COIL,9PIN,FMVSS,IP67 $ 299.70
R145685 KIT,RUBBER BUMPER,VERTICAL ARM $ 76.44
PAINT,SPRAY,SILVER METALLIC,GLOSS (A2025-
R145806S GR1374) $ 26.81
R145807 PIN,CLEVIS,.250 ODx3.50 LG(BAG OF 10) $ 16.96
R145808 CLIP,HITCH PIN,#3(1776)(BAG OF 10) $ 22.85
R145809 KIT,ARM ASSY,RAMP,LH,w/HDWR(BR2C02) YELLOW $ 236.19
R145810 KIT,ARM ASSY,RAMP,RH,w/HDWR(BR2C02) YELLOW $ 238.53
R145812 SCREW,BHS,1/4-20x5/8(BAG OF 10) $ 8.35
R145813 SCREW,HEX,7/16-14x2,GR 5(BAG OF 10) $ 14.86
R145814 SCREW,HEX,3/8-16x2 GR5(BAG OF 10) $ 10.67
R145815 WASHER,SPL,1/4"(BAG OF 10) $ 6.89
R145816 SCREW,CAR,5/16-18x1 3/4(BAG OF 10) $ 6.89
R145817 SCREW,FHP,6-32x5/8"SST(BAG OF 10) $ 6.89
R145818 NUT,ACORN,6-32,SST(BAG OF 10) $ 15.71
R145820 SCREW,PHP,10-24 X 0.500 SST(BAG OF 10) $ 6.47
RAMP,REPLACE,ER6/ER7,Ww/RCA,RIB,FLRG,452,
R145821 ROYAL BLUE $ 1,571.06
R145822 ROLLPIN,3/16x3/4,SST(BAG OF 10) $ 6.63
R145823 SCREW,CAR,3/8-16x3 GR5(BAG OF 10) $ 8.57
R145824 SCREW,CAR,3/8-16X6,GR5(BAG OF 10) $ 8.02
R145831 CLEVIS PIN,5/16X1,SST(BAG OF 10) $ 20.32
R145836 RIVET,POP,3/16x1/2 DOME SST(BAG OF 10) $ 6.76
RAMP,REPLACE,ER6/ER7,Ww/ALTRO,META,FLRG,
R145839 27903(STORM) $ 2,076.64
R145841 SCREW,FHP,4-40x1/2,w/O-RING(BAG OF 10) $ 6.55
R145842 KIT,MOTOR PLATE ASSY,24V,w/HDWR $ 1,041.54
R145844 KIT,PNEUMATIC SPRINGS(2) $ 44.94
R145845 SCREW,FHD,M6-1X16MM SST(BAG OF 10) $ 9.07
R145846 SCREW,SHC M6-1.0 20mm LNG,SST(BAG OF 10) $ 9.84
R145847 SCREW,HEX,1/4-20x1 3/4 GR 8,COATED(BAG OF 10) $ 9.84
R145848 NUT,HEX,1//4-20,GRADE 8(BAG OF 10) $ 6.89

@ Ricon.

AWabtec company

57|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
SCREW,SHC 5/16-24 x 1.25L,CORRO RESIST (BAG OF
R145849 10) $ 16.56
R145862 PUMP ASSY,HAND,BACK-UP $ 236.18
R145864 KIT,REBUILD,NEW FLYER/CTA,FR2 $ 1,249.36
R145884 SCREW,5/16x3/8 SSS(BAG OF 10) $ 25.38
R145885 SCREW,PHP,10-24x1/2 TRS(BAG OF 10) $ 7.31
R145886 SCREW,PHP,1/4-20,TAP TITE,BLK ZC(BAG/10) $ 12.23
R145888 KIT,CAM WLDT,w/SET SCREW $ 41.17
R145889 KIT,CAM WLDT,w/SET SCREW $ 41.17
R145892 KIT,RESTRAINT BELT,34"w/STRAIGHT SLIDER $ 112.38
R145893 KIT,CABLE CARRIER,W/INSTRUCTIONS $ 67.72
R145894 ROLLPIN,1/8x1/2(BAG OF 10) $ 7.44
R145896 PENDANT ASSY,.29COIL CORD,RED $ 254.04
R145897 SPRING NUT-1/4-20 SST(BAG OF 10) $ 41.60
R145899 RAMP,REPLACE,w/STRAP,w/ALTRO CHROMA FLRG $ 1,783.14
R146005-1 COVER,PUMP,20.58"TALL,LH,EXPORT ASIA $ 58.98
R146011 LIGHT ASSY ,WHITE LED,PLATFORM $ 86.52
R146015 SAFETREAD,2.0"W X 32.0 LG,YELLOW $ 2.18
R146034 PENDANT ASSY,STRAIGHT CORD,7FT,MOD $ 131.58
PENDANT ASSY,.29COIL CORD,PUSH BTTNS,RED
R146068 W/PICTOGRAMS $ 202.54
R146089 KIT,PENDANT ASSY,7' STL JCKT,9 PIN,FMVSS,IP 67 $ 407.01
R146092 VALVE CHECK ASSY,S/K-FOR PUMP(M-3219-0123) $ 11.54
RI146103-F10X BLOCK,HANDRAIL GUIDE,LH $ 31.63
R146104-F10X BLOCK,HANDRAIL GUIDE,RH $ 31.63
RI146120-F10X COVER,PLATFORM BRACKET $ 23.30
RI146132-F10X HOSE ASSY,HYD,7.50"SYNFLEX $ 42.45
R146229 ACCESS COVER ASSY,wWw/HEATER MAT,12V $ 529.39
R146234 BAR,TRANSITION,YELLOW ANODIZED $ 465.96
R146256 SET,H/RAILS,FMVSS,w/EBI & BUCKLE,SPLT PL $ 406.11
R146257 HANDRAIL ASSY,FMVSS,LH,w/BUCKLE ASSY,SPL $ 186.99
R146258 HANDRAIL ASSY,FMVSS,RH,SPLIT PLATFORM $ 194.74
R146277 PUMP,HYD,72VDC MOTOR,24VDC COILS $ 2,099.89
R146279 STRAP ASSY,ANGLED SLIDER,SPLIT PLATFORM $ 49.84
R146290 KIT,REPLACE,RAMP PLATE,w/SF/TREAD/STRAP $ 1,310.22
R146291 SPACER,FRONT,.40 THK $ 34.49
R146294 KIT,RAMP ASSY,w/FLOORING (TR630) $ 1,481.55
R146296 FLANGE,REAR,FLAT,BLACK $ 35.10
R146297 FLANGE,TRIM,RH,FLAT,BLACK $ 30.39
R146298 FLANGE, TRIM,LH,FLAT,BLACK $ 30.39
R146303 COVER,SIDE,RH $ 69.91
R146327 BASE WLDT,INNER FRAME,RH $ 712.88
R146332 BARRIER WLDT,FRONT $ 194.56
R146335 PLATFORM WLDT,FRONT,RH $ 1,089.86
R146341 PLATFORM WLDT,MAIN,RH $ 2,620.04
R146369 HANDRAIL WLDT,OUTER,PLATFORM $ 165.32
R146372 HANDRAIL WLDT,INNER $ 205.08
R146390 BRACKET,PIVOT,GAS SPRING,PLTFRM ATTACHMT $ 17.09

@ Ricon.

AWabtec company

58|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R146396 PIN,PLATFORM,PIVOT $ 25.16
R146402 ENCLOSURE WLDT,RAMP $ 1,469.92
R146414 COVER,CHAIN,LH $ 33.60
R146415 COVER,CHAIN,RH $ 33.60
R146429 PLATE,ELECTRICAL,INTERFACE $ 29.85
R146486 FLANGE,REAR,TRIM $ 34.92
R146493 FLANGE,TRIM,LH,FLAT $ 31.00
R146494 FLANGE,TRIM,RH,FLAT $ 29.91
R146509 DECAL,MANUAL LIFT OPERATION,F10X $ 15.95
R146510 KIT,CHAIN GUIDE,FRONT $ 37.30
RI146511 KIT,CHAIN SPRING ACTUATOR,LH $ 826.55
R146512 KIT,CHAIN SPRING ACTUATOR,RH $ 826.55
R146513 KIT,GAS SPRING $ 148.99
R146515 KIT,CAM FOLLOWER,1.25"0OD,w/HDWR $ 166.28
R146516 KIT,ROD END,FEMALE,3/4"RH,w/HDWR $ 326.23
R146517 KIT,LOWER ARM w/HARDWARE $ 204.33
R146518 KIT,SPRING,PNEUMATIC,100LBF,16.75" $ 74.87
R146519 KIT,SAFETY BELT BUCKLE w/HDWR $ 82.97
R146520 KIT,CONTACT CONNECTOR,HAND RAIL ASSY,RH $ 103.55
R146521 SPACER,GUIDE RAIL (KIT OF 10) $ 130.17
R146522 KIT,COLUMN BASE/BEARING,w/HDWR $ 167.18
R146523 KIT,PIN,PIVOT,MAIN PLATFORM w/HDWR $ 31.50
R146524 KIT,HANDLE ASSY,PUMP,MANUAL $ 63.76
R146525 SCREW,TRX,1/4-20X1/2"L,SST (BAG OF 10) $ 25.13
R146526 SCREW,TRX,8-32X1/2"L,STL (BAG OF 10) $ 17.15
R146527 KIT,LINK,ACTUATOR,PLATFORM RELEASE $ 84.99
R146528 KIT,LINK,ACTUATOR,STOW RELEASE $ 94.29
R146529 KIT,STRIKER,STOW LATCH W/HARDWARE $ 258.13
R146530 SCREW,HEX,1/4-20X2 1/4 GR5 (BAG OF 10) $ 9.75
R146531 KIT,HANDLE,DEPLOY RELEASE,RH $ 113.15
R146532 KIT,STRIKER,DEPLOY LATCH,RH $ 233.51
R146533 CLAMP,3/4"ID,VINYL DIPPED (BAG OF 10) $ 18.45
R146534 NUT,ESN,10-32,SST (BAG OF 10) $ 7.15
R146535 RING,RETAINING,5/16" SHAFT (BAG OF 10) $ 24.37
R146536 KIT,BALL,STEEL,1/4"DIA(KIT OF 10) $ 21.73
R146537 SCREW,SET,5/16-24 (BAG OF 10) $ 18.99
R146538 WASHER,FLT,.38X.88X.08 (BAG OF 10) $ 6.97
R146539 KIT,PIN,PIVOT,BEARING,SLIDE(KIT OF 2) $ 37.52
R146540 KIT,BEARING,ROLLERS(KIT OF 2) $ 223.69
R146541 KIT,BEARING,BALL(KIT OF 2) $ 125.69
R146542 KIT,GROMMET,3/8x1/4x5/8(KIT OF 2) $ 13.73
R146543 SCREW,HEX,3/8-16X1 1/8" GR5 (BAG OF 10) $ 9.29
R146544 KIT;PIN,5/160Dx1"L(KIT OF 2) $ 73.57
R146545 SNAPRING 5/16" (BAG OF 10) $ 8.49
R146546 ROLLPIN, 1/8X1" (BAG OF 10) $ 7.27
R146547 SCREW,HEX,1/4-20X2.0 BLK (BAG OF 10) $ 41.27
R146549 SCREW,FHP,4-40X3/8",SST (BAG OF 10) $ 6.55

@ Ricon.

AWabtec company

59|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R146550 KIT,BLOCK,2-CONTACT $ 22.15
R146551 KIT,CATCH,LATCH,OUTER BARRIER $ 33.43
R146552 KIT,LATCH WLDT,OUTER BARRIER $ 41.52
R146553 KIT,ROLLSTOP WLDT,w/PIN & HARDWARE $ 489.50
R146554 KIT,PLATFORM GUIDE,FRONT,w/HARDWARE $ 38.38
R146556 KIT,GUIDE,BRIDGEPLATE,w/HDWR $ 37.93
R146557 KIT,HANDLE,DEPLOY RELEASE,LH $ 112.64
R146558 KIT,STRIKER,DEPLOY LATCH,LH $ 239.77
R146559 KIT,CATCH,BASE,LATCH $ 68.23
R146566 KIT,PLATE,ROLLSTOP,WHEEL $ 21.88
R146567 KIT,HINGE BRIDGEPLATE, SUPPORT $ 22.62
R146569 CD,0OPER MAN,TITANIUM,S/K,DOT PUBLIC $ 7.21
R146576 KIT,REPLCMNT,ROLLSTOP,ACTUATOR,LH $ 87.47
RI146577 KIT,REPLCMNT,ROLLSTOP,ACTUATOR,RH $ 91.42
R146578 KIT,ROLLSTOP,PLATE $ 193.65
R146586 DECAL,RICON-WAB,3.5"X10",WHITE ON CLEAR $ 6.80
R146587 DECAL,RICON-WAB,2.5"X8.5", WHITE ON CLEAR $ 14.96
R146588 DECAL,RICON-WAB,7.75"X2.75"WHITE/CLEAR $ 14.96
R146589 KIT,BUCKLE ASSY,W/SWITCH $ 200.64
R146590 KIT,STRAP ASSY,STRAIGHT SLIDER $ 41.32
R146593 KIT,SWITCH ASSY, BP S/K5510,5/K2010 $ 780.70
R146594 KIT,SWITCH ASSY,BP S/K5505, S/K2005 $ 852.18
R146595 KIT,STOWLOCK ASSY,W/COVER $ 121.17
R146597 KIT,LATCH RELEASE 34" $ 69.26
R146598 KIT,LATCH RELEASE, 32" $ 68.89
RI146611 HANDLE WLDT,HANDRAIL RELEASE $ 81.49
R146612 COVER,OUTER,RH $ 158.11
R146617 BRACKET,MOUNTING,INNER COVER $ 26.17
R146621 CONTROL MOUNT,RH $ 51.94
R146625 PLATE,CONTROL PANEL,RH $ 156.85
R146642 LINK,LEVER,STOW LATCH RELEASE $ 15.90
R146708 BRACKET,MTG,DUAL SENSOR,DS,RH $ 21.51
R146709 PLATE,MTG,SENSOR,OBS&IBS $ 14.10
R146714 BARRIER WLDT,REAR,RH LIFT $ 94.42
RI146715 STRIP,WIRE COVER,MAIN PLATFORM $ 15.14
R146716 PLATE,ADAPTOR PUMP MOUNTING $ 17.70
R147017 PLATE,COVER,ACCESS $ 10.60
R147018 LOCK BLOCK $ 28.28
RI147021 PANEL ASSY,ELECTRICAL,RH $ 2,731.81
R147035 BASE WLDT,INNER FRAME,LH $ 712.88
R147040 CONTROL MOUNT,LH $ 51.94
RI147041 PLATE,CONTROL PANEL,LH $ 156.85
RI147072 PIVOT,RELEASE MECHANISM,OUTER HANDRAILS $ 20.06
R147073 STRAIN RELIEF,ALUM (McMASTER #7529K322) $ 29.48
RI147074 BEARING,SLEEVE,5/8"DIA SHAFT $ 9.70
R147077 COLUMN BASE/BEARING CUP ASSY,RH $ 1,605.93
R147079 ROTATING CAP ASSY,RH $ 303.83

@ Ricon.

AWabtec company

60|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R147080 SPRING,GAS (ACE #GS-28-100-AA-R-730) $ 290.83
R147086 FITTING,ELBOW,-6M JIC,-4M SAE (6801-6-4) $ 7.81
R147087 FITTING,ELB,EL,6M JIC,-6M SAE(6801-LL-6) $ 12.31
R147088 FITTING,ADAPTOR,-6F JIC,-6M SAE(6402-6-6 $ 9.40
R147089 FITTING,RUN T,-6M SAE,-6M JIC (6804-6) $ 10.92
R147090 VALVE,FLOW CONTROL,1.5 GPM(VVI #1406-1.5 $ 182.06
R147095 COLUMN BASE/BEARING CUP ASSY,LH $ 1,601.11
R147097 ROTATING CAP ASSY,LH $ 303.63
RI147100 HARNESS,CONTROLLER,1:6 RAMP(RING TERMLYS) $ 1,019.65
RI47121 KIT,1:6 RAMP CONTROLLER/HARNESS,RETROFIT $ 1,931.34
RI147144 FLANGE,REAR,CUT OUT $ 35.14
R147148 KIT,BEARING,3/4"ID x .270 LONG $ 522.24
RI147150 CYLINDER ASSY,30" LH $ 82499
RI147152 CYLINDER ASSY,30" RH $ 824.99
RI147158 KIT,MOTOR INSTALLATION REPAIR(F8100) $ 12.02
R147186 HARNESS & CABLE CARRIER ASSY $ 154.86
R147365 KIT,INTERFACE BRACKET,w/HDWR,LH $ 20.71
RI147379-F10X STRAIN RELIEF,STRAIGHT THRU,w/NUTS $ 8.73
RI147401 BRACKET,MTG,DUAL SENSOR,DS,LH $ 21.51
R147405 COVER,OUTER,LH $ 158.11
R147406 COVER,SIDE,LH $ 69.91
R147408 PLATE,SPACER,MOUNT,PLATFORM LATCH $ 11.59
RI147412 BAR,SPACER,MOTOR MOUNT $ 12.14
RI147413 CLAMP,MOTOR CONTACTOR $ 36.15
RAMP,REPLACE,ER6/ER7,YEL ANODIZED,8805
R147416 w/FLOORING $ 2,399.84
R147420 PANEL ASSY,ELECTRICAL,LH $ 2,733.51
R147422 BUSHING,HEAD COVER,SCREW,3/8 SSS $ 19.53
R147440 INSTALL PARTS,MECHANICAL $ 583.90
R147441 HARNESS,EXTENSION,PENDANT,BAYLIFT,12"L $ 160.63
R147456 HANDRAIL ASSY,LH,INTERLOCKED RESTRAINT $ 500.71
R147468 KIT,RETRO,BRIDGEPLATE,11"L,FOA/FIT $ 133.76
R147469 KIT,RETRO,BRIDGEPLATE,11"L,F9TF $ 183.25
RI47474 CYLINDER ASSY,TELESCOPING,25" STROKE $ 636.50
R147475 CYLINDER ASSY,25",LH $ 836.61
RI147476 CYLINDER ASSY,25",RH $ 836.61
RI147481 BRACKET,CATCH,STOW LOCK $ 34.43
R147816 KIT,RETROFIT,FLAPS & ACTUATORS $ 704.94
R147926 KIT,SEAT BELT EXTENSION,12"L $ 144.40
R148104 SOLENOID ASSY,STOW LOCK,PREVOST $ 264.36
R148107 DRIVE LOCK ASSY $ 805.51
RI148119 HANDLE WLDT,L.H. $ 100.20
R148120 HANDLE ASSY,RELEASE,LH $ 793.63
R148188 KIT,RETROFIT,BRIDGEPLATE CLEARANCE,F10X $ 70.98
R148425 KIT,RAMP ASSY,w/RCA FLOORING (TR766) $ 1,553.57
R148446 FRONT COVER ASSEMBLY $ 721.04
R148484 RAMP,REPLACE,621,w/ALTRO TFM-2702, GENOME $ 1,549.49

@ Ricon.

AWabtec company

61|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
R148499 KIT,RAMP ASSY,REPLACEMENT(FR2-3241) $ 1,316.56
R15024-AA SOLENOID,START DC 24,PLASTIC $ 182.36
R153003 MOTOR,PUMP,24V,FR2 $ 247.20
R153039 KIT,STOWLOCK,LH REAR MTG,24V $ 714.98
R153070 KIT,BRIDGEPLATE,11" SPAN,FMVSS,w/ GUIDE BLOCK $ 387.16
R153071 KIT,BRIDGEPLATE, 11" SPAN,FMVSS $ 37249
R154050 WASHER,FLT,.451Dx.840Dx.062T,TAG HOLE $ 7.50
KIT,RETROFIT,TO FLIP CONTROLLER UPSIDE-
R155202 DOWN,FR2SS $ 843.70
R155213 STOW LOCK PARTS,LH MOUNT,PREVOST $ 35044
R155233 RAMP,REPLACE,621,w/ALTRO,TFCR NEPTUNE $ 1,540.88
R155650 SPRING,CABLE RETURN (PACKAGED) $ 17.60
RI155651 CHAIN,BEAD LANYARD (PACKAGED) $ 13.80
R155652 HARNESS ,IFM CTRLR CR2500 (PACKAGED) $ 189.28
R155653 HARNESS ASSY,HYD PUMP (PACKAGED) $ 38.00
RI155654 BLOCK BRGPLT,GUIDE (PACKAGED) $ 49.65
R155655 HARNESS,EXT,PENDANT,100" L(PACKAGED) $ 88.95
R155656 PIN WLDT,CHAIN ROLLER (PACKAGED) $ 64.46
R155658 SPRING,FLAP LATCH PIN(PACKAGED) $ 11.44
R155659 HANDLE ASSY,PUMP,ANGLED(PACKAGED) $ 105.38
R155660 LINK,FLAP ACTUATOR (PACKAGED) $ 18.72
R155661 PCB,PUMP LED ASSY,24V (PACKAGED) $ 41.14
R155662 HARNESS,MAIN,DOOR,W/LATCHES(PACKAGED) $ 194.10
R195521B IGNITION SWITCH $ 86.50
R198051 BOLT,SHOULDER,.438,5/16-18x1.00"L $ 29.18
R198052 BRKT,MOUNTING,SENSOR $ 41.40
R198060 HARN,J4,120.0" $ 128.15
R198065 HOSE ASSY,HYDRAULIC,25.0" $ 31.86
R198066 INA,HARNESS ASSY,SENSOR,LONG $ 248.01
R198071 CABLE ASSY,SENSOR,UNIVERSAL $ 126.23
R198072 ASSY,HOSE,HYDRAULIC,90" $ 28.33
R198073 COIL ASSY,DIVERTER VALVE $ 103.21
R198197 VALVE, SPOOL, 3 WAY $ 100.57
R198198 VALVE,RELIEF,POPPET $ 118.11
R198200 VALVE, SPOOL, 4 WAY, 3 POSITION $ 134.90
R198201 COIL #6306024 $ 47.24
RIB12675D INDEX PIN $ 94.74
RIB12745B COLLAR,SPRING $ 481.78
RIB12756E PIVOT BRACKET $ 18.83
RIB12786D BLOCK,PIVOT $ 98.92
RIB12788C LATCH WLDT,NON ADA $ 55.52
RIB12932A RELEASE ROD COLUMN $ 56.66
R1B12946B SPACER,POWERLIFT $ 5.14
RI1B12948D INA;PIN WLDT,PIVOT,OLD STYLE $ 107.92
RIB12953A CLAMP WLDT,MODIFIED $ 135.85
RIB12959 CLAMP,PAD $ 58.36
RIB12967 COMPRESSION SPRING $ 3.85

@ Ricon.

AWabtec company

62|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIB12968 RUBBER BUMPER $ 30.91
RIB12969B COVER,CABLE POWER,PLATFORM $ 27.26
RIB12976 ROD CLEVIS $ 8.18
RIB12977 SPRING $ 8.90
RIB12997B ROD,RELEASE $ 21.23
RIB13046 LATCH,SLAM (1-400R) $ 43.31
RIB13056B ROD,LIFT $ 26.86
RIB13067B HAND PUMP ASSY $ 762.18
RIB13113B CABLE ASSY (20.25") $ 152.14
RIB13124 CIRCUIT BREAKER 150 AMP. $ 70.14
RIB13149D LOCK BLOCK $ 25.32
RIB13185 SWITCH,w/KEY $ 145.99
RIB13189 NAME PLATE F/SWITCH $ 13.11
RIB13277G SWITCH,AS GREEN PUSHBUTTON $ 63.27
RIB13277R SWITCH,AS RED PUSHBUTTON $ 63.27
RIB13543C SPRING PLATFORM $ 84.65
RIB13615D PIN,HINGE,LH $ 28.33
R1B14382 VALVE,PIL.OP.THEM.CK $ 301.79
RIB14384 VALVE,DIRECTIONAL $ 426.88
RI1B14396B CABLE,POWER PLATFORM (12.5") $ 82.40
RIB14479A BEARING EXTENSION AR $ 102.78
R1B14491B LABEL CAUTION HANDLE $ 14.84
RIB14539B PIN,HINGE L.H. $ 128.83
RIB14629A HUB,IDLER BEARING $ 449.67
RIB14812D CHAIN PULLEY $ 58.03
RIB14854B PLUG L.B. $ 17.50
R1B14929D BOLT,CHAIN ADJUSTMENT $ 24.15
RIB14937A END FOR CABLE $ 204.39
RIB14940A CABLE END PLUG $ 19.27
RIB15120G CYLINDER ASSY,RAISE/LOWER $ 1,031.98
RIB15297D PIVOT WLDT,CYLINDER $ 76.83
RIB15512C CABLE ASSY,MOTOR,8" $ 12.63
RIB15538 CAP,.875x4.5,YELLOW $ 1.71
RIB16020C CABLE PULLEY $ 34.73
RIB16317B HINGE,REAR BARRIER,PLATFORM $ 33.60
RIB16322A ANTI SKID,MAIN PLATFORM $ 24.06
RIB16323A ANTI SKID,FRONT PLATFORM $ 23.87
RIB16324A ANTI SKID,MAIN CHANNEL $ 7.29
RIB16325A ANTI SKID,FRONT BARRIER $ 9.72
RIB16326A ANTI SKID,REAR BARRIER $ 55.72
RIB16390C CLEVIS,PRB CYLINDER $ 28.33
RIB16534B FINGER PULL,MODIFIED w/HOLES $ 13.32
RIB16558B BRACKET,STOW SWITCH $ 9.08
RIB16586A MOUNTING WLDT,PENDANT $ 10.28
RIB16669A TUBE ASSY,PRESSURE SWITCH $ 44.41
RIB16686A PIN,NEW SHORT $ 19.49
RIB16691A HARNESS,PUMP,CONTROL BOX $ 45.55

@ Ricon.

AWabtec company

63|Page



@ Ricon. Spare Parts MSRP List March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RIB16695C CABLE,CHASSIS $ 11.05
RIB16696C CABLE ASSY,BATTERY,HOT MOTOR $ 10.02
RIB16708A PIN,HANDRAIL,SHORT $ 16.19
RIB16709A PIN,HANDRAIL,LONG $ 15.57
RIB16720B FOOT MOUNT $ 19.07
RIB16721A STOW SWITCH ASSY,UPPER $ 236.21
RIB16722A STOW SWITCH ASSY,LOWER $ 236.21
RIB16910A LABEL,W/C LIFT $ 9.92
RIB16920A CABLE,CIRCUIT BREAKER $ 25.70
RIB16921B CABLE,CHASSIS GROUND $ 25.70
RIB16943A SHOULDER BOLT,EXTENSION,ARMS,MODIFIED $ 10.88
RIB16948A T-BOLT WLDT,MICRO SWITCH,INTERMEDIATE $ 6.23
RIB16949A SLIDE BEARING,EXTENSION ARMS $ 20.66
RIB16953B ANTI-SKID,REAR BARRIER $ 10.00
RIC-102313 STRIKE, ELECTRICAL $  296.77
RIC12763G HINGE,PLATFORM,RH $ 744.69
RIC13728 CYLINDER 38" $ 679.05
RIC14204A CYLINDER,30"x1.5"x1"ROD $ 67450
RIC14626D ROTATING COL BASE WLDT,90 w/INDEX PIN $ 825.94
RIC15154D-1993 BRACKET WLDT,FRONT (31.50") $ 76.43
RIC15155D-1993 BRACKET WLDT,REAR (29.50") $ 55.57
RIC15379H PUMP ASSY,HAND $ 1,583.99
RIC15727C PUMP ASSY,HYD,24V,1 GL RESERVOIR,PWRLFT $ 2,053.44
RIC15893B PIN WLDT,PIVOT,LOCK,RH(BARRIERS 16"+) $ 100.43
RIC16057A CYLINDER ASSY,54" $ 978.02
RIC16410D HARNESS ASSEMBLY,LIMIT SWITCH $ 140.89
RIC16412C INA;HARNESS,PENDANT BOX $ 445.33
RIC16458A CYLINDER ASSY,RH,INTERMEDIATE (18.31") $ 1,200.60
RIC16484E PANEL WLDT,INTERMEDIATE $ 247.88
RIC16487B EXTRUSION,V-SLIDE,LH (36.5") $ 122.75
RIC16488B EXTRUSION,V-SLIDE,RH $ 122.75
RIC16490A CYLINDER ASSY,30",RH $ 725.70
RIC16491D SIDE PLATE WLDT,INNER,RH $ 23743
RIC16560B MOTOR & RESERVOIR ASSY $ 3,454.65
RIC16562A KIT,KEY SWITCH ASSY $ 159.02
RIC16571A GASKET,1/16 NEOPRENE $ 9.99
RIC16593A EXTENSION ARM ASSY,REAR $ 325.76
RIC16643B MANIFOLD w/INT REL $ 1,603.96
RIC16644A DECAL,PASSENGER LOADING,FRONT FRAME $ 16.80
RIC16645B LABEL,FUNCTION,VALVE $ 18.89
RIC16668A PIN WLDT,PIVOT,LOCK,LH(BARRIERS 16"+) $ 102.92
RIC16674B PLATE,MAIN PLATFORM $ 38174
RIC16687A DIPSTICK ASSY $ 117.67
RIC16699A H-CHANNEL ASSY,LH $ 340.40
RIC16700A H-CHANNEL ASSY,RH $ 338.75
RIC16760A CYLINDER ASSY,30",LH $ 725.70
RIC16778A EXTENSION ARM ASSY,LH $ 318.64

@ Ricon.

AWabtec company
64|Page



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RIC16779A EXTENSION ARM ASSY,RH $ 318.64
RIC16841A CYLINDER ASSY,29",RH $ 1,035.30
RIC16842A CYLINDER ASSY,29",LH $ 1,035.30
RIC16952A EXTENSION ARM ASSY,REAR,LH $ 328.04
RIC21LKO00 SWITCH,w/KEY $ 109.43
RICTL-EXT66 KIT,CROSSOVER HARNESS,6PIN,6' $ 147.17
RICTL-HRS20 KIT,CONTROL HARNESS,SEQUENCING,20' $ 84.88
RICTL-HRS9.5 KIT,CONT HARNESS,SEQ,9 1/2' $ 68.01
RICTL-SWNS1 KIT,SWITCH SET,NON-SEQ,TOGGLE ONLY $ 60.71
RICTL-SWNS2 KIT,SWTCH SET NON-SEQ,TOGGLE w/KEYLOCK $ 64.80
RID16553A BARRIER WLDT,REAR $ 82.86
RID16636D COVER ASSY,MANIFOLD $ 262.66
RID16713C ACCESS PANEL $ 125.05
RID16746B HANDRAIL ASSY,LH $ 708.22
RID16747B HANDRAIL ASSY,RH $ 481.78
RIDBVRS-100-N-H RELIEF VALVE $ 185.01
RIEF-1085 COIL,24VDC $ 277.03
RIF9-0008 CHANNEL ASSY,MOUNTFRAME,78.81,LH $ 71496
RIF9-0009 CHANNEL ASSY,MOUNTFRAME,78.81,RH $ 714.96
RIF9-0016 BRACKET,COVER MTG $ 274.45
RIF9-0024 FLANGE,ACCESS DOOR ADJ $ 23.00
RIF9-0028 GEAR RACK $ 138.95
RIF9-0032 CHANNEL ASSY,REAR,MTG FRAME $ 229.16
RIF9-0046 BUMPER,CARRIAGE STOP $ 11.25
RIF9-0058 ROD,SWITCH CAM ACTUATOR LH. $ 26.98
RIF9-0059 ROD,SWITCH CAM ACTUATOR RH. $ 33.72
RIF9-0070 HARNESS,MAIN,w/HYDRAULIC $ 323.76
RIF9-0089 PIN,PIVOT,LIFT FRAME,2.890L $ 14.60
RIF9-0101 RAIL,GUIDE,STRAIGHT $ 255.20
RIF9-0107 BRACKET WLDT,PLTFRM,PIVOT,RH $ 79.50
RIF9-0110 BRACKET WLDT,PLTFRM,PIVOT,LH $ 76.43
RIF9-0115 COVER ASSY,PRS,SW & STD. $ 114.12
RIF9-0123 BRACKET ASSY,IDLER SHAFT $ 21.59
RIF9-0126 SUPPORT WLDT,IDLER SHAFT $ 53.96
RIF9-0136 BRACKET,MICROSW PLNGR $ 27.89
RIF9-0139 BRACKET,IDLER SHAFT EXTENSION $ 33.06
RIF9-0142 RAIL,CARRIAGE GUIDE,DA $ 88.69
RIF9-0148 BRACKET,ACTR ROD PIVOT,STD. $ 14.84
RIF9-0149 BRACKET ACTR ROD PIVOT,SW $ 14.84
RIF9-0150 BRACKET ACTR ROD PIVOT,EXT. $ 14.84
RIF9-0157 BUTTON,CARRIAGE GUIDE $ 13.89
RIF9-0158 HARNESS ASSY,SPIDER,W/PWR ROLLSTOP $ 236.08
RIF9-0167 SWITCH ACTUATOR ASSY,LH. $ 76.89
RIF9-0184 COVER,STOW LOCK,MIRAGE $ 26.98
RIF9-0186 BRACKET WLDT,STOW LOCK,F9A $ 67.44
RIF9-0187 PIN,STOW LOCK,MIRAGE $ 20.84
RIF9-0201 STOWLOCK PARTS,S/W,ETI $ 534.20

@ Ricon.

AWabtec company

65|P age



@ Ricon.

Spare Parts MSRP List

March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RIF9-0204 BRACKET,PUMP MOUNT $ 97.26
RIF9-0206 BLOCK,SWITCH ACTUATOR CAM $ 92.77
RIF9-0210 KIT,STOWLOCK MNT,SLIDE-GLIDE $ 236.08
RIF9-0217 DOOR,PUMP ENCLOSURE $ 264.00
RIF9-0224 LIFTFRAME ASSY,MECHANICAL,DA $ 716.31
RIF9-0229 HARNESS,L. PULLBOX TO STOW LOCK $ 14.16
RIF9-0234 STANDOFF,BRGPLT ACTR $ 4.18
RIF9-0235 PUMP ASSY ,wW/ENCLOSURE,12V $ 1,478.49
RIF9-0236 PUMP ASSY ,wW/ENCLOSURE,24V $ 1,478.49
RIF9-0237 PUMP ASSY,w/BRKTS,12V $ 1,197.90
RIF9-0243 JUMPERS,SOLENOID PLT ASSY,12V $ 46251
RIF9-0245 LIFTFRAME ASSY,EXT ; F9A $ 681.24
RIF9-0246 JUMPERS,SOLENOID PLT ASSY,24V $ 463.59
RIF9-0253 COVER,PRS,EXTENSION $ 13.49
RIF9-0262 ROD WLDT,BRGPLT,ACTUATOR,LH. $ 35.68
RIF9-0263 ROD WLDT,BRGPLT,ACTUATOR,RH. $ 35.68
RIF9-0268 ELEC BOX ASSY,ON-BOARD,TAB MOUNT, 12V $ 553.09
RIF9-0288 PLATE,BLANK,BRGPLT,9"L-UTS $ 59.36
RIF9-0312 SHAFT,INTERMEDIATE DRIVE $ 18.07
RIF9-0313 SPACER,INTERMEDIATE DRIVE $ 4.17
RIF9-0314 BRIDGEPLATE ASSY,S/W-X-SPAN,23" $ 823.79
RIF9-0325 STIRRUP ASSY,STPWL,16-18 UTS $ 269.80
RIF9-0331 KIT,STOWLOCK,STD S/W,24V $ 364.23
RIF9-0333 HOSE ASSY,11"x1/4J1Cx1/4JIC $ 66.61
RIF9-0339 SOLENOID ASSY,STOW LOCK,12V $ 84.09
RIF9-0340 HARNESS,STOW LOCK,RING TERM TO MOLEX $ 24.28
RIF9-0341 HARNESS,R. PULLBOX TO STOW LOCK $ 37.77
RIF9-0342 HARNESS ASSY,PUMP TO PULLBOX, RING-MOLEX $ 99.83
RIF9-0343 HARNESS ASSY,SW.PLATE,ON-BOARD ELEC F9B $ 202.34
RIF9-0349 COMMON COMPONENTS-BRGPLT,STIRRUP ASSY. $ 26481
RIF9-0350 STIRRUP ASSY,STEPWELL,14-16" UTS $ 269.80
RIF9-0351 KIT,STOWLOCK,REAR MNT,w/HARN,12V $ 485.63
RIF9-0366 PLUG-FIXED HANDRAIL CC $ 1.35
RIF9-0370 SOLENOID PLATE ASSY,24VDC $ 229.33
RIF9-0371 ENCLOSURE ASSY,PUMP $ 607.04
RIF9-0372 PENDANT ASSY,24V,COIL WIRE $ 269.80
RIF9-0373 MIRAGE PENDANT 24V $ 38133
RIF9-0375 PENDANT ASSY,12V,COIL WIRE $ 376.48
RIF9-0376 BOX ASSY w/MALE CLIP $ 80.18
RIF9-0377 MIRAGE PENDANT 12V, w/INSTALL KIT $ 377.72
RIF9-0385 SWITCH PLATE ASSY,ON-BOARD ELEC ; F9B $ 182.11
RIF9-0386 HARNESS,PULLBOX TO PENDANT ; F9B $ 55.31
RIF9-0395 HARNESS,PENDANT,9 AMP TO PULLBOX $ 12141
RIF9-0406 SPROCKET WLDT,17T,.50 BORE,1.19W.1.84D $ 31.65
RIF9-0409 GUIDE,HOSE $ 60.71
RIF9-0410 COVER ASSY, TOP,F9B050 $ 620.53
RIF9-0414 INA;HARNESS,MAIN,w/HYDRAULIC $ 546.26

@ Ricon.

AWabtec company

66|P age



@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIF9-0437 BLOCK,PRS COVER $ 9.45
RIF9-0452 GEAR WLDT,PRS $ 31.02
RIF9-0453 ACTUATOR ROD ASSY $ 87.68
RIF9-0455 COVER,HANDRAIL BASE $ 19.46
RIF9-0459 HANDRAIL ASSY,SLOPING LH $ 249.56
RIF9-0460 HANDRAIL ASSY,FIXED LH,BODE DOOR $ 168.62
RIF9-0461 HANDRAIL ASSY,FIXED RH,BODE DOOR $ 168.62
RIF9-0462 HANDRAIL ASSY,BOBE PLUG LOW LH $ 220.70
RIF9-0463 HANDRAIL ASSY,BOBE PLUG LOW RH $ 220.70
RIF9-0469 KIT CIRCUIT BREAKER,MAGNETIC $ 134.90
RIF9-0470 BRACKET SPRING,RETAINER $ 16.68
RIF9-0495 BRACKET WLDT,MOTOR MT/ROLLER MT $ 47.22
RIF9-0555 STIRRUP ASSY,DA/EX,XSPAN $ 564.42
RIF9-0559 ROD ASSY,BRDGPLT ACTR,7"UTS $ 196.96
RIF9-0574 STIRRUP WLDT,LH $ 32.37
RIF9-0575 STIRRUP WLDT,RH $ 33.72
RIF9-0576 ACTUATOR WLDT,LINK ARM,BRGPLT,18.79 $ 45.50
RIF9-EHR-06 HARNESS,PUMP-PULLBOX,6'REAR $ 10211
RIF9-EHR-11 HARN,PUMP-PULLBOX,11'REAR $ 94.43
RIF9-EHR-12 HARN,PUMP-PULLBOX,12'REAR $ 87.68
RIF9-EHR-17 HARN,PUMP-PULLBOX,17'REAR $ 168.62
RIF9-EHR-23 HARN,PUMP-PULLBOX,23'REAR $ 229.33
RIF9-EHR-26 HARN,PUMP-PULLBOX,26'REAR $ 17537
RIF9-HH-12 HOSE ASSY,HYD,12'SYNFLEX $ 87.53
RIF9-HH-15 HOSE ASSY,HYD,15'SYNFLEX $ 94.43
RIF9-HH-17 HOSE ASSY,HYD,17'SYNFLEX $ 10143
RIF9-HH-21 HOSE ASSY,HYD,21'SYNFLEX $ 98.01
RIF9-HH-23 HOSE ASSY,HYD,23 FT $ 110.33
RIF9-HH-26 HOSE ASSY,HYD,26'SYNFLEX $ 107.92
RIF9A-1004 KIT,MIRAGE FXD HRAIL,SLOPING,SHT MNTG $ 640.77
RIH16648-1A HOSE ASSY,17"0OAL,3/8"HOSE,-6FJIC $ 18.74
RIH16648-2A HOSE ASSY $ 19.15
RIH16648-6A HOSE ASSY $ 29.91
RIH16648-8A HOSE ASSY $ 21.84
RIH16701-10A HOSE ASSY,29"0AL,-4FJICx-4FJIC,90 DEGREE $ 35.71
RIH16701-2R HOSE ASSY,RETURN $ 24.30
RIH16701-3A HOSE ASSY $ 57.91
RIH16701-4A HOSE ASSY $ 51.51
RIH16701-4B HOSE ASSY,BULKHEAD BARRIER $ 53.12
RIH16701-5A HOSE ASSY $ 26.51
RIH16701-6A HOSE ASSY $ 31.96
RIH16701-9A HOSE ASSY,25", 1/4 ID $ 31.96
RIH16914-12A HOSE ASSY $ 58.01
RIH16914-1A HOSE ASSY $ 78.24
RIH16914-2A HOSE ASSY $ 78.24
RIH16914-3A HOSE ASSY $ 106.57
RIH16914-4A HOSE ASSY $ 56.66

@ Ricon.

AWabtec company

67|Page




Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIH16914-6A HOSE ASSY $ 71.49
RIIRS INNER ROLL STOP OPTION $ 192.23
RILC-045G7 SPRING INDEX PIN S/S $ 5.67
RIM1XB1 CONTACT BLOCK $ 28.53
RIM3519-0124-0002 | PUMP/MOTOR ASSY,24V $ 1,395.77
RIMM-400 MAGNET $ 5.84
RIPM212000008N PUMP ASSEMBLY,12V,MODULAR $ 979.65
RIPM212000008NX PUMP ASSEMBLY,12V,EXPORT $ 91451
RIPM212002007 PUMP ASSY,NOTOP,UV RES,2KPSI $ 1,065.70
RIPM212003007 PUMP ASSY,NOTOP,UV RES W/HORZ,2KPSI $ 1,254.68
RIPM212072007 PUMP ASSY,COM BKT,2KPSI,UV RES,12V $ 1,072.45
RIPM212090100 PUMP ASSY w/INTLK,12V,DR PROVISION $ 1,247.38
RIPM212090108 PUMP ASSY,w/INTLK & DECELERATION ASSY $ 1,298.91
RIPM212090200 PUMP ASSY wW/INTLK,RAISED LH PUMP,12V $ 1,112.92
RIPM212090208 PUMP ASSY w/INTLK/RASD/DECEL,12V,LH $ 2,144.89
RIPM212090308 PUMP ASSY,w/O INTLK,RH STD,DCL,12V $ 1,112.92
RIPM212100100 PUMP ASSY,w/o INTLK,12V $ 1,146.74
RIPM212100108 PUMP ASSY,w/o INTLK,STD,DCL,12V $ 1,218.51
RIPM212100308 PUMP ASSY,w/o INTLK,RAISED,12V,DECL,RH $ 1,218.51
RIPM212113007 PUMP ASSY,12V $ 970.15
RIPM212200108 PUMP ASSY,w/o INTLK,STD,DCL,12V,LH,FMVSS $ 1,243.42
RIPM212200308 PUMP ASSY,w/o INTLK,STD,DCL,12V,RH,FMVSS $ 1,332.23
RIPM212210100 PUMP ASSY w/INTERLOCK,12V $ 1,077.33
RIPM212210108 PUMP ASSY,w/INTLK,12V & DECELERATION $ 1,149.18
RIPM224002007 PUMP ASSY,NO TOP,UV,2KPSI,24V $ 949.71
RIPM224003007 PUMP ASSY,NO TOP,UV RES,2KPSI $ 917.04
RIPM224072007 PUMP,ASSY,w/SOLENOID/BRACKET,24V $ 1,483.89
RIPM224090108 PUMP ASSY,w/INTLK,STD,DCL,24V $ 1,119.66
RIPM224100108 PUMP ASSY,w/O INTLK,w/DCL,24V $ 1,335.17
RIPM224113007 PUMP ASSY,24V $ 1,079.19
RIPM224123007 PUMP ASSY,24V,(PWR STOW/DEPLQY) $ 1,107.53
RIPM224162007 PUMP ASSY,NO TOP,UV,2KPSI,24V $ 839.78
RIPMP00070000 INA;SOLENOID ASSY,w/BRKT & HDWR $ 153.56
RIPS-0004 FRAME WLDT,LOWER (R1206) $ 93.08
RIPS-0008 FRAME ASSY,LOWER,REAR $ 48.56
RIPS-0031 BEARING,SLIDE $ 4.38
RIPS-0032 PIN,SLIDE BEARING ADJ x1.50 $ 8.33
RIPS-0033 PIN,SLD BRG ADJx2.25 $ 13.89
RIPS-0047 SPACER CHANNEL RAIL (OBS) $ 6.07
RIPS-0052 SPACER,FLANGED,UPPER FRAME $ 4.17
RIPS-0135 PLATE SWIVEL SUPPORTP $ 24.28
RIPS-1009 GUIDE,RACK GEAR $ 6.75
RIPS-1051 CONTROL BOX WLDT,TOGGLE CONTROL $ 41.68
RIPS-1059 SCREW,ACTUATOR NUT,SPECIAL $ 5.40
RIPS-1068 CLAMP,FLAT PLASTIC $ 6.95
RIPS-1069 HARNESS,POWER SEAT BASE $ 186.17
RIPS-1094 STOP,SWIVEL GEAR $ 15.17

@ Ricon.

AWabtec company

68|P age



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIPS-1112 GEAR,SWIVEL,BASEPLATE $ 58.36
RIPS-1124 SPACER,SWIVEL GEAR $ 5.55
RIPS-1140 SCISSOR ACTUATOR ASSY,w/NUT $ 72217
RIPS-1198 STOP,REAR BLOCK $ 13.13
RIPS-1199 PLATE,REAR STOP $ 12.14
RIPS-1200 PLATE,MOUNT REAR BLOCK $ 10.79
RIPS-1202 STOP,SWIVEL,DELRIN BLOCK $ 8.25
RIPS-1205 STOP,SWIVEL ADJ $ 17.50
RIPS-2006 STANDOFF,GEAR MOUNT $ 4.18
RIPS-2010 GEAR,DRIVE $ 94.84
RIPS-2035 PLATE,STIFFENER,GEAR GUIDE $ 12.50
RIPS-2037 GEAR RACK WLDT,STD $ 76.43
RIPS-2038 GEAR RACK WLDT,EXTENDED $ 10212
RIPS-2041 PLATE,HORIZONTAL DRIVE $ 41.68
RIPS-2042 BLOCK,STANDOFF $ 6.95
RIPS-2046 DRIVE MOTOR ASSY $ 262.61
RIPS-S20-6-GT MICRO SWITCH ASSY $ 13.13
RIPS-S80-6-GT MICRO SWITCH ASSY $ 12.50
RIR1-6000-22 RESERVOIR,FOR PUMP ASSY $ 605.90
RIR25-0001 BRACKET,MAIN MOTOR MOUNTING $ 48.64
RIR25-0003 COVER,DOOR OPENER $ 24.28
RIR25-0005 RELAY,MODIFIED $ 12.14
RIR25-0007 BLOCK,SUPPORT,MOTOR BRACKET $ 16.66
RIR25-0022 BRACKET,DOOR CLOSER,93 FORD $ 42.50
RIR25-0029 GUARD,CHAIN,DOOR OPENER,97+GMC $ 16.19
RIR25-0050 HARNESS ASSEMBLY $ 11255
RIR25-0051 SWITCH ASSY,DOOR OPEN LOCATOR $ 97.26
RIR25-0101 BRACKET,SUPPORT CLUTCH $ 35.07
RIR25-0103 SLEEVE,CLUTCH $ 9.72
RIR25-0106 WASHER,FLT,.850x1.50x.04 DLN $ 11.12
RIR25-0107 CLIP,RETAINER SPRING $ 20.84
RIR25-0115 CLUTCH,PIN/PLATE ASSY $ 41.84
RIR25-0123 LEVER CLUTCH WLDT $ 76.43
RIR2510A R2500 DRIVE SYSTEM,READY TO PACKAGE $ 554.18
RIR27-1000 HARNESS,SWINGER,UNIVERSAL $ 76.89
RIR27-1000R HARNESS,SWINGER(RH DRIVER,EXPORT) $ 101.16
RIR27-1002 CAPACITOR ASSY $ 9.45
RIR27-1003 DIODE ASSY $ 22.93
RIR29-0006 PLATE WLDT,MAIN $ 62.52
RIR29-0008 SPUR GEAR ASSY $ 180.63
RIR29-0019 ARM-ACTUATOR,SPLINED $ 37.04
RIR29-0026 HEX ROD ASSY,14.5" $ 72.84
RIR29-0034 BRACKET/CLEVIS WLDT $ 49.49
RIR5-AC-529 LINK,HANDRAIL PIVOT $ 15.17
RIR5-BP-512 HANDLE GRIP,PLASTIC $ 6.07
RIR5-BP-513 BRIDGEPLATE HANDLE,STANDARD $ 14.16
RIR5-BP-514 BRIDGEPLATE HANDLE,NARROW APPLICATION $ 14.16

@ Ricon.

AWabtec company

69|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIR5-CV-502 COVER CYLINDER (5500 & 5506) 550/12-551 $ 150.09
RIR5-CV-503 COVER PUMP 5500/00-552 $ 101.18
RIR5-ES-501 PENDANT,HAND CONTROL,TRANSIT RIDER $ 80.94
RIR5-IN-501 BRACKET,INSTALLATION ASSY $ 12.14
RIR5-IN-502 SPACER,INSTALLATION BRACKET $ 8.10
RIR5-IN-503 STUD 7"x3/8 NC $ 4.55
RIR5-IN-505 KIT,TRANSIT RIDER ANTI-SWING ROD $ 11.04
RIR5-PI-501 PIN HINGE 1/4x3-1/2 $ 6.76
RIR5-PI-505 PIN,HINGE,1/4x4-3/4 $ 9.45
RIR5-SH-505 BRACKET CYLINDER $ 9.11
RIR5-SH-506 PIN CYLINDER 1/2" O.D.x2" $ 6.07
RIR5-SH-514 STOPPER 1-1/2x2-9/16 LONG $ 9.11
RIR5-SL-534 GUSSET 3/16 $ 5.78
RIR5-SP-502 SPRING,PNEUMATIC ASSIST $ 80.24
RIR5-SP-504 SPRING EXTENSION 5500/00-412 $ 26.98
RIR5-SP-505 SPRING,STAINLESS TORSION $ 34.42
RISC-HF-026 FLAP WELD ASSY, R.H. $ 91.05
RISS1620-16 BUSHING,BRONZE $ 1.60
RIUL-AC-002 CHAIN,#40 NICKEL PLTD,51PITCHES $ 13.49
RIUL-AC-003 CHAIN GUIDE,LINK ARM $ 12.50
RIUL-AC-005 CHAIN GUIDE,POST $ 6.95
RIUL-AC-006 ARM,PARALLEL,STD,TOP $ 104.21
RIUL-AC-008 PIN,LINK ARM CAM $ 12.51
RIUL-AC-010 CHAIN ANCHOR $ 10.79
RIUL-AC-011 BLOCK,SWITCH RETAINER,PLASTIC $ 4.17
RIUL-AC-012 HANDRAIL,STD,RH. $ 47.22
RIUL-AC-017 HANDRAIL,w/SWITCH,STD,LH $ 83.37
RIUL-AC-021 CAP,PLATFORM POST $ 4.17
RIUL-AC-023 COVER,LIMIT SWITCH $ 9.72
RIUL-AC-024 COVER,CHAIN TUBE $ 9.11
RIUL-AC-026 COVER,GEAR BOX $ 22.23
RIUL-AC-032 BRACKET WLDT,H/RAIL SUPPORT,LH $ 20.24
RIUL-AC-033 BRACKET WLDT,H/RAIL SUPPORT,RH $ 21.43
RIUL-AC-034 GUIDE,1"Dx1/4-20x.25 $ 4.38
RIUL-AC-035 PIN,.250DIA $ 4.17
RIUL-AC-036 PIN,.250DIA SNAPRING x1.13 $ 4.17
RIUL-AC-038 PIN,.250DIA SNAPRINGx1.78 $ 4.17
RIUL-AC-041 ARM,PARALLEL,BOTTOM,LH. $ 104.22
RIUL-AC-044 TUBE,FOLD STOP $ 2.70
RIUL-AC-045 CLEVIS,SUPPORT CHAIN ANCHOR $ 9.45
RIUL-AC-047 PIN WLDT,LINK ARM $ 34.73
RIUL-AC-049 PIN WLDT,PIVOT BRACKET $ 18.58
RIUL-AC-050 ARM,PARALLEL,TOP $ 104.21
RIUL-AC-052 ARM,PARALLEL,BOTTOM,LH $ 10421
RIUL-AC-058 HANDRAIL-SWITCH LH ASSY,STD $ 179.42
RIUL-AC-059 HANDRAIL SWITCH ASSY,SHORT,LH $ 168.62
RIUL-AC-060 CLAMP,P-POST,HARNESS,STD(PAINTED) $ 40.85

@ Ricon.

AWabtec company

70|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIUL-AC-061 CLAMP,P-POST HARNESS,SHORT(PAINTED) $ 24.28
RIUL-AC-062 SPACER,PVC,.81IDx.87 L $ 4.33
RIUL-AC-072 GUIDE,CHAIN $ 6.95
RIUL-AC-075 PROTECTOR,CHAIN (2FT) ; U/L $ 5.40
RIUL-AC-081 SLEEVE-MOTOR,GEARBOX CONNECTION $ 5.55
RIUL-AC-082 GASKET-RUBBER,MOTOR/GEARBOX $ 9.45
RIUL-AC-120 COVER,CAM $ 130.71
RIUL-AC-122 COVER,BOTTOM MOTOR ; UNILITE $ 34.73
RIUL-AC-412 HANDRAIL,LONG,RH $ 47.22
RIUL-AC-458 HANDRAIL,SWITCH LH,ASSY,LONG $ 184.95
RIUL-AC-903 TRIM SPACER,SDT $ 20.24
RIUL-AC-904 TRIM PLATE,SDT $ 18.23
RIUL-AC-906 PARALLEL ARM,24", TOP $ 12141
RIUL-AC-907 PARALLEL ARM,24",BOTTOM $ 12141
RIUL-AC-912 ARM-SUPPORT,SDT $ 53.96
RIUL-AC-915 PLATFORM POST,24" ARM $ 168.62
RIUL-AC-919 PLATFORM POST,24" ARM,LH $ 168.62
RIUL-AC-941 PARALLEL ARM,24",BOTTOM LEFT $ 12141
RIUL-AC-962 ROD ACTUATOR,MANUAL IRS $ 67.44
RIUL-AC-963 BRACKET KEYHOLE,MANUAL IRS $ 8.10
RIUL-AC-964 BRACKET WLDT,CLEVIS,MANUAL IRS $ 23.04
RIUL-BA-002 BEARING BLOCK,ALUM $ 41.68
RIUL-BA-003 CHAIN STRIPPER $ 27.79
RIUL-BA-004 BRACKET,CHAIN TUBE $ 4.05
RIUL-BA-007 PLATE, TOP ALIGHMENT,STD $ 31.02
RIUL-BA-010 STOP,FOLD $ 6.30
RIUL-BA-014 BASE PLATE WLDT,STANDARD $ 161.87
RIUL-BA-017 POST,EXTENSION,MAIN LH $ 80.19
RIUL-BA-018 HINGE,BRIDGEPLATE $ 14.16
RIUL-BA-021 SKID,BRGPLT $ 3.66
RIUL-BA-022 BASE PLATE WLDT,WIDE $ 188.86
RIUL-BA-023 BASE PLATE WLDT,NARROW $ 149.74
RIUL-BA-024 PLATE, TOP ALIGMENT,26"NARROW MODEL $ 47.22
RIUL-BA-026 SPACER,TOP MTG,BRKT $ 2.78
RIUL-BA-038 BEARING BLOCK ASSY $ 134.90
RIUL-BA-040 TUBE-CHAIN 36" LONG $ 24.28
RIUL-BA-116 BRIDGEPLATE ASSY,FOR 26"PFRM,w/SAFETREAD $ 209.09
RIUL-BA-127 BRIDGEPLATE ASSY,FOR 29"PFRM,w/SAFETREAD $ 277.19
RIUL-BA-130 BRIDGEPLATE ASSY,FOR 32"PFRM,w/SAFETREAD $ 299.64
RIUL-BA-9130 BRIDGEPLATE ASSY,SDT $ 269.80
RIUL-BA-922 BASE PLATE WLDT,; SDT WIDE $ 438.42
RIUL-BA-935 MAIN POST EXTENSION,SDT,LH $ 20234
RIUL-DS-004 POWER-SHAFT,29" $ 48.03
RIUL-DS-005 SHAFT POWER ASSY,31"WIDE $ 114.66
RIUL-DS-007 BLOCK-P-POST SWITCH ACTUATOR $ 4.17
RIUL-DS-008 SAFETY STOP,CHAIN $ 4.17
RIUL-DS-010 SHAFT POWER ASSY,28"WIDE $ 105.22

@ Ricon.

AWabtec company

71|Page




@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIUL-DS-016 SHAFT POWER,3/4 DIA $ 60.71
RIUL-DS-017 SHAFT POWER ASSY 43"WIDE $ 101.18
RIUL-DS-019 STRAP WLDT,FLAP,ACTUATOR,DE $ 66.36
RIUL-DS-022 STRAP WLDT,FLAP ACTUATOR 36" $ 40.47
RIUL-DS-024 TAB,CHAIN $ 9.45
RIUL-DS-046 BLOCK-CHAIN GUIDE $ 5.55
RIUL-DS-100 GEARMOTOR ASSY,12V $ 1,590.85
RIUL-ES-004 SWITCH ASSY,(UP/IN ENABLE) $ 26.98
RIUL-ES-007 SHORTING PLUG ASSY $ 31.58
RIUL-ES-009 HARNESS,PLTFM POST $ 156.74
RIUL-ES-010 CAM-SWITCH HARNESS ASSY $ 27.52
RIUL-ES-011 HARNESS ASSY,SWTCH ARM,H/RAIL,SHORT $ 91.58
RIUL-ES-014 SPACER-ELECTRICAL,BOX $ 4.05
RIUL-ES-017 INA;RESISTOR ASSY $ 666.14
RIUL-ES-021 HARNESS,H/RAIL SWTCH ASSY,SHORT $ 154.18
RIUL-ES-024 SWITCH ASSY,(DOWN/OUT ENABLE) $ 28.53
RIUL-ES-025 TUBE,ELECTRICAL,16.75" $ 20.24
RIUL-ES-026 TUBE,ELECTRICAL,20.75" $ 20.24
RIUL-ES-027 TUBE,ELETRICAL,28.75" $ 13.49
RIUL-ES-034 LIGHT,INTRLK,12V GRN $ 13.39
RIUL-ES-101 INA;PLATE,PENDANT COVER,2 SWITCH $ 2.02
RIUL-ES-110 SWITCH,LIMIT UP/DOWN CUTOFF UNILITE $ 11.45
RIUL-ES-115 HARNESS ASSY,CAM SWITCH ; UNI-LITE $ 26.98
RIUL-ES-119 JUMPER,GROUND STRAP $ 90.98
RIUL-ES-120 JUMPER-6AWG,60" MOTOR LEAD POS $ 40.47
RIUL-ES-150 COVER,ELECTRICAL,FRONT $ 34.74
RIUL-ES-411 HARNESS ASSY,HANDRAIL,LONG $ 152.56
RIUL-ES-912 ELECTRICAL BOX ASSY $ 390.31
RIUL-ES-915 HARNESS SWITCH BOX,ASSY CROSSOVER $ 62.94
RIUL-ES-920 TUBE-CROSSOVER,HARNESS $ 102.06
RIUL-ES-930 SWITCH-BOX WLDT $ 168.62
RIUL-ES-931 PLATE,SWITCH BOX,SDT $ 10.79
RIUL-ES-940 COVER WLDT,MOTOR,ELECTRICAL $ 708.22
RIUL-IN-001 BRACKET-MOUNTING,T TYPE $ 13.49
RIUL-IN-002 BRACKET,INTERMEDIATE,MOUNT $ 6.07
RIUL-IN-017 BRACKET POST WLDT $ 53.96
RIUL-IN-901 BRACKET MOUNT,LEFT $ 9.45
RIUL-IN-902 BRACKET MOUNT,RIGHT SDT $ 9.45
RIUL-PF-001 PLATFORM ASSY,29"x40" $ 1,677.21
RIUL-PF-002 BRACKET,PIVOT $ 39.37
RIUL-PF-009 BRACKET FLAP,LATCH $ 31.66
RIUL-PF-010 BUSHING,PIVOT,LATCH $ 4.38
RIUL-PF-011 BUSHING-NYLON $ 4.17
RIUL-PF-014 ROLLSTOP WLDT,26" $ 20234
RIUL-PF-015 ROLLER,PIVOT BRKT $ 4.17
RIUL-PF-017 ROLLER,KICKOUT,.750dx.230 $ 4.17
RIUL-PF-018 CHANNEL,KICK OUT $ 9.50

@ Ricon.

AWabtec company

72|Page




@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIUL-PF-019 LINK,KICKOUT,STD $ 27.79
RIUL-PF-022 PAD-PLATFORM CLEVIS $ 4.17
RIUL-PF-026 CATCH,ROLLSTOP,LATCH $ 22.52
RIUL-PF-029 LINK,KICKOUT,SHORT $ 23.63
RIUL-PF-030 CLEVIS-SUPPORT CHAIN,RR ENTRY MDL $ 6.75
RIUL-PF-032 BUSHING-S/S.2500Dx.1581Dx.438 $ 5.55
RIUL-PF-033 KICKOUT ASSY,STD $ 74.19
RIUL-PF-034 SCREW,SHOULDER,FLAP LATCH $ 13.89
RIUL-PF-114 ROLLSTOP ASSY,26" $ 236.08
RIUL-PF-117 ROLLSTOP ASSY,STD 29" $ 433.30
RIUL-PF-133 KICKOUT ASSY,SHORT $ 74.19
RIUL-PF-400 PLATFORM ASSY,26"x36" $ 1,180.37
RIUL-PF-919 LINK,KICKOUT,24" ARM $ 40.47
RIUV-BG-038 BRACKET,GEAR,MOTOR MOUNT $ 35.03
RIUV-BG-100 CARRIAGE WLDT,REINF $ 77297
RIUV-BG-300 INA;CARRIAGE WLDT,METRA $ 1,224.21
RIUV-BG-500 CARRIAGE-ASSY,REINF $ 2,428.18
RIUV-BU-001 BUSHING,.75IDx1.380D w/.40 SHOULDER $ 5.26
RIUV-BU-007 COLLAR,5/8 ID W/SET SCREW,PLATED $ 9.45
RIUV-BU-011 INA;BUSHING,SPRING ATTACHMENT $ 5.67
RIUV-BU-014 BEARING-DU,.625IDx.7190Dx.38FL $ 4.38
RIUV-DS-001 LINK,DRIVE SHAFT,PIVOT $ 10.53
RIUV-DS-003 BUTTON,SPRING SUPPORT $ 8.33
INA;CHAIN ASSY,PRIMARY DRIVE,#35,42 P
RIUV-DS-008 (F9100,F9110,F9133,F9160,F9162,F9143,M) $ 18.89
RIUV-DS-014 GUIDE,DRIVE SHAFT PIVOT $ 4.18
RIUV-DS-016 GASKET,MOTOR MOUNT $ 1.35
RIUV-DS-103 SPROCKET-#35,20 TEETH,1.25 BORE $ 27.10
RIUV-DS-105 PLUNGER,MICRO SWITCH $ 22.93
RIUV-DS-106 BRACKET,PLNGR-SWITCH $ 17.22
RIUV-DS-200 GEARBOX,24:1 RATIO $ 1,131.97
RIUV-DS-207 GEARMOTOR ASSY,24V $ 82331
RIUV-DS-210 GEAR MOTOR-ASSY,24V LIFT $ 613.12
RIUV-ES-027 BRACKET-F9000 E-SYS $ 8.10
RIUV-ES-036 COLLAR,ACTUATOR ROD $ 29.67
RIUV-ES-037 SWITCH, MALE PINS * $ 60.71
RIUV-ES-102 PLATE,GUARD,PENDANT SWITCH $ 6.75
RIUV-ES-112 PLUNGER ASSY $ 33.72
RIUV-ES-220 HARNESS-PENDANT-AMP 9 TO PULLBOX $ 87.68
RIUV-ES-221 HARNESS,SWITCH SUBASSY,ROLLSTOP $ 18236
RIUV-ES-810 INA,CONTROL BOX(OLD METRA) $ 5,126.17
RIUV-ES-819 BRACKET,PUMP MOUNTING $ 19.22
RIUV-ES-820 BRACKET,MTG,VIBRATION ISOLATION $ 17.20
RIUV-ES-825 BRACKET , WIRE SUPPORT $ 10.15
RIUV-ES-826 BAR,FLAT,WIRE SUPPORT $ 93.79
RIUV-ES-828 BRACKET,SUPPORT, TERMINAL BLOCK $ 12.14
RIUV-ES-829 PANEL,CONTROL BOX $ 85.03

@ Ricon.

AWabtec company

73|Page




@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIUV-ES-832 PC BOARD,COUNTER CONTROLLER,ASSY $ 16543
RIUV-ES-850 CONTROL PANEL ASSY,EXT- METRA A03-011-03 $ 607.04
RIUV-ES-852 BRACKET/HARNESS ASSY,ROLLSTOP $ 201.33
RIUV-IN-009 INA;BRKT WLDT,MTG,QBUS $ 352.08
RIUV-IN-010 BRACKET,LOWER,VW SLIDING DOOR $ 37.77
RIUV-IN-012 BRACKET WLDT,FRONT INST $ 40.47
RIUV-IN-014 BLOCK,REINFORCING $ 9.45
RIUV-IN-016 BLOCK,REINFORCING,W/C-BORE $ 9.45
RIUV-IN-018 MUFFLER-GLASS PACK,2x3.5x18 $ 56.66
RIUV-IN-021 BRACKET,BODY SUPPORT $ 33.72
RIUV-IN-022 BRACKET,FLOOR REINFORCEMENT $ 20.24
RIUV-IN-023 BRACKET,FLOOR SUPPORT&BODY REINF $ 33.72
RIUV-IN-025 PANEL-PASSENGER DOOR $ 67.44
RIUV-IN-026 PANEL,SLIDING DOOR $ 101.26
RIUV-IN-027 BRACKET-WEATHER STRIP ; F9004 $ 23.07
RIUV-IN-028 PANEL-DRIVER SIDE EXT $ 12141
RIUV-IN-029 PANEL-SLIDING DOOR,F9004,EXTENDED VAN $ 60.71
RIUV-IN-031 PANEL-ROCKER,F9004,EXTENDED VAN $ 10.11
RIUV-IN-102 BRACKET WLDT,INSTALLATION $ 87.68
RIUV-IN-110 BRACKET-LOWER,VW,SLIDING DOOR,LH $ 18.21
RIUV-LF-015 ARM WLDT,ADJ,PARALLEL,LOWER $ 56.66
RIUV-LF-212 ARM WLDT,LWR PARAL,FIXD,25 5/8 $ 101.18
RIUV-LF-213 LINK,FIXED,LOWER ARM,RED $ 52.61
RIUV-MF-006 CHANNEL-REAR $ 101.18
RIUV-MF-033 GASKET, TOP COVER,1x38.75,ALL MODELS $ 13.49
RIUV-MF-037 COVER-BRAKE COMP ACCESS HOLE,ASSY. $ 60.71
RIUV-MF-046 BOTTOM COVER RETAINER $ 6.75
RIUV-MF-047 SHIM, TOP COVER GASKET $ 60.71
RIUV-MF-048 BRIDGEPLATE,GUIDE $ 43.17
RIUV-MF-049 BRIDGEPLATE,GUIDE MTG. HDWR. $ 1.35
RIUV-MF-050 BRIDGEPLATE,GUIDE MTG. HDWR.ASSY $ 2.02
RIUV-MF-064 BLOCK,STOWED SWITCH ACTUATOR $ 19.87
RIUV-MF-086 BLOCK-SPACER,TOP COVER,BLUE BIRD $ 2.02
RIUV-MF-093 COVER,BOTTOM,EXT,ELDORADO $ 89.03
RIUV-MF-095 REAR CHANNEL WLDT $ 90.88
RIUV-MF-096 BUMPER,ADJ,SHT $ 9.45
RIUV-MF-102 SPACER,.40THK w/.60 CS $ 8.05
RIUV-MF-121 BLOCK-BOTTOM COVER $ 3.04
RIUV-MF-160 PULLBOX WLDT $ 101.18
RIUV-MF-412 COVER-TOP ; F9001 $ 248.89
RIUV-MF-453 CHANNEL-MOUNTFRAME,LH ; F9001 RED $ 78.92
RIUV-MF-454 CHANNEL-MOUNTFRAME,RH ; F9001 RED $ 78.92
RIUV-MF-503 CHANNEL-72" LH ; F9000 $ 14771
RIUV-MF-504 CHANNEL-72" RH ; F9000 $ 14771
INA;MOUNTFRAME WLDT,SUPP
RIUV-MF-515 (F9100,F9160,F9141,F9143 SERIES) $ 58.68
RIUV-MF-711 COVER-BOTTOM ; F9004 $ 412.79

@ Ricon.

AWabtec company

74|Page




@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIUV-MF-712 COVER-TOP F9004 *(SEE F9-0439) $ 424,94
RIUV-MF-808 PANEL,ACCESS DOOR $ 113.94
RIUV-PF-013 BRACKET,BRGPLT STIRRUP $ 68.30
RIUV-PF-031 INA;BLOCK,PLATFORM GUIDE $ 71.59
RIUV-PF-049 SPACER SLIDING,GUIDE RAIL $ 9.45
RIUV-PF-058 HANDLE,HANDRAIL LATCH $ 19.46
RIUV-PF-063 BRACKET MTG,ROLLSTOP ACTR $ 11.10
RIUV-PF-066 HANDLE SLIDING RAMP $ 20.24
RIUV-PF-069 CATCH SLIDING RAMP $ 24.28
RIUV-PF-071 BUSHING OD.56xID.25 $ 1.35
RIUV-PF-072 CAM SLIDING RAMP $ 18.21
RIUV-PF-100 LINK WLDT,SLIDING RAMP $ 4.05
RIUV-PF-112 PLATFORM FIXED ; F9001 $ 570.62
RIUV-PF-129 BRIDGEPLATE ASSY $ 14165
RIUV-PF-133 LINK GAS STRUT,2.50" $ 10.79
RIUV-PF-200 ROLLSTOP WLDT,RED $ 50.58
RIUV-PE-227 CHANNEL WLDT,RH,PRS $ 435.05
RIUV-PF-229 CHANNEL WLDT,LH,PRS $ 316.80
RIUV-PF-421 SPRING RETAINER WLDT,BRIDGEPLATE $ 10.79
RIUV-PF-429 ACTUATOR WLDT,LINK ARM,BRGPLT,17.612 $ 60.71
RIUV-PF-442 STIFFENER,RIB,PLTFRM $ 58.36
RIUV-PF-728 SHIM,GUIDEBLK,PLTFM MNT $ 32.37
RIUV-PF-767 STIRRUP WLDT,BRIDGEPLATE,LH $ 37.60
RIUV-PF-768 PIVOT BRACKET,BRIDGEPLATE $ 12.25
RIUV-PF-769 STIRRUP WLDT,BRIDGEPLATE,RH $ 37.60
RIUV-PF-770 ROD,BRGPLT,CAM FOL,ACTR $ 41.68
RIUV-PE-772 ROD,BRGPLT,ACTR,RETAINER $ 48.64
RIUV-PF-834 ROD,B/PLATE,CAMFOLLOWER,ACTR $ 22.93
RIUV-PF-839 SPACER,.25IDx.400Dx.2 $ 4.38
RIUV-PF-842 ROLLER,BRGPLT,CAM FOLLOWER $ 13.49
RIUV-PF-860 LINK,ROLLSTOP $ 8.42
RIUV-PF-863 LINK,HEX,ADJ,PRS $ 13.89
RIUV-PF-883 BUSHING,PIVOT SHAFT,PRS $ 2.78
RIUV-PF-889 TRIGGER WLDT,PRS $ 68.09
RIUV-PF-892 LINK WLDT,GEAR,RH THD $ 21.88
RIUV-PF-893 LINK GEAR WLDT,LH THD $ 21.88
RIUV-PF-899 SCREW,SSC,.313x.25,SST $ 13.13
RIUV-PF-903 STIRRUP WLDT,BRGPLT,RH $ 62.52
RIUV-PF-904 STIRRUP WLDT,BRGPLT,LH,STEPWELL $ 41.68
RIUV-PF-908 PLATE WLDT,REINFORCEMENT,PRS,LH $ 62.52
RIUV-PF-918 PLATE,SWITCH,ACTUATOR,PRS $ 11.12
RIUV-PF-922 HOOK ROLLSTOP,PRS $ 25.02
RIUV-PF-934 T-NUT,5/16-18,SST $ 15.29
RIUV-PF-937 SCREW,SSC,.313x.275,SST $ 7.90
RIUV-PF-946 HANDRAIL ASSY,FIXED $ 44464
RIUV-PI-002 PIN 0.750x2.740 $ 10.79
RIUV-PI-003 PIN 0.750x5.000 $ 20.24

@ Ricon.

AWabtec company

75|Page




@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIUV-PI-004 PIN,.75DIA x 2.83L $ 10.79
RIUV-PI-005 PIN .750Dx4.25,PLTFRM SUPPORT $ 17.54
RIUV-PI-006 INA;PIN .750x3.125 $ 20.24
RIUV-PI-016 PIN ROLLSTOP,PIVOT $ 8.76
RIUV-SH-003 FITTING,QUIK DISCONNECT,1/4" $ 51.06
RIUV-SH-013 HOSE ASSY,HYD,36"x1/4JICx1/4JIC $ 20.83
RIUV-SH-020 FITTING,BRU,1/4J,3/8J,SST $ 62.52
RIUV-SP-002 SPRING,LH,ROLLSTOP ACTR,RETURN $ 4.46
RIUV-SP-003 SPRING,RH,ROLLSTOP ACTR,RETURN $ 2.93
RIUV-SP-004 SPRING,LH,BRGPLT RETURN $ 13.49
RIUV-SP-005 SPRING,RH,BRGPLT RETURN $ 13.49
RIUV-SP-008 SPRING-2.5"x0.50D,0.052" $ 9.45
RIUV-SP-009 SPRING,COMP.4680Dx1 1/4x.045 $ 5.55
RIUV-SP-010 SPRING,LH,BRGPLT RETURN RED. $ 12.54
RIUV-SP-011 SPRING,RH,BRGPLT RETURN,RED $ 8.76
RIUV-SP-014 SPRING,PNEUMATIC,100 LBF,16.75" $ 10143
RIUV-SP-016 BALLSTUD,10mm,5/16-18 $ 2.78
RIUV-SP-019 SPRING-MANUAL RELEASE TRIGGER,PRS $ 9.72
RIV1-AC-020 CABLE ASSY,w/SLEEVE,IRS,45.00" $ 17.54
RIV1-AC-069 LINK,KNUCKLE,LONG,GREY(10.69") $ 36.09
RIV1-AC-071 LINK,KNUCKLE,LONG,GREY(10.87")SPLIT PFRM $ 46.93
RIV1-AC-241 ARM ASSY,VERTICAL,RH $ 264.55
RIV1-AC-242 ARM ASSY,VERTICAL,LH $ 264.55
RIV1-BA-044 BASEPLATE WLDT $ 310.52
RIV1-PF-002 ACTUATOR WLDT,ROLLSTOP,RH $ 25.01
RIV1-PF-003 ACTUATOR WLDT,ROLLSTOP,LH $ 25.47
RIV1-PF-122 ROLLSTOP ASSY,SPLT PLTFRM,LH,w/SAFETREAD $ 67.44
RIV1-PF-123 ROLLSTOP ASSY,SPLT PLTFRM,RH,w/SAFETREAD $ 57.81
RIV1-PF-212 ROLLSTOP ASSY,INBOARD $ 128.15
RIV1-PF-380 PLATFORM ASSY,26"x38",SPLIT $ 978.02
RIV1-PF-381 PLATFORM ASSY,30"x38",SPLIT $ 890.33
RIV2-AC-001 BLOCK,MOUNT,BASE LATCH $ 4.38
RIV2-AC-009 CLIP,SPRING,BASE LATCH,SST $ 4.38
RIV2-AC-015 T-NUT,FLAT HEAD,10-24x.25 OD x.44L $ 4.38
RIV2-AC-020 BLOCK-SAFETY,BELT WIRE GUARD $ 9.45
RIV2-AC-024 ROLLER,IRS CAM $ 4.38
RIV2-AC-027 BUMPER,UHMW,.75Dx.38T $ 4.38
RIV2-AC-030 RAMP ASSY,ESCAPE $ 67450
RIV2-AC-035 HANDRAILS-RIGHT & LEFT,ADA ASSY ; S2006 $ 356.13
RIV2-AC-063 SPACER,TRANSIT HANDRAIL $ 4.38
RIV2-AC-065 TOOL,KICKOUT SPRING INSTL $ 11.86
RIV2-AC-089 ACTUATOR,FOLD CUTOFF $ 4.38
RIV2-AC-101 SPRING,COMPRESSION,1.00Dx2.5 $ 16.68
RIV2-AC-102 BLOCK,BASE LATCH,CNTR MOUNT $ 4.38
RIV2-AC-103 CATCH,BASE LATCH $ 10.19
RIV2-AC-105 BLOCK-CATCH CONTROL $ 9.72
RIV2-AC-107 CAM,LIFT CONTROL $ 4.38

@ Ricon.

AWabtec company

76|Page




@ Ricon. Spare Parts MSRP List March 4, 2013

A Wabtec company
Iltem Code Description Selling Price
RIV2-AC-108 BRACKET,SOLENOID,STOWLOCK $ 11.68
RIV2-AC-112 BRACKET,PULLEY MOUNT,IRS $ 11.68
RIV2-AC-124 ROLLER,IRS CAM $ 4.38
RIV2-AC-170 WRENCH,SPANNER,S-SERIES GLAND NUT $ 96.59
RIV2-AC-190 CAM ASSY,IRS ACTUATOR $ 31.08
RIV2-AC-40 SAFETREAD,7.25x5.50,BLACK $ 4.05
RIV2-AC-41 SAFETREAD,14x2.75,BLACK $ 4.38
RIV2-AC-58 TOOL CLUTCH,ADJ $ 241
RIV2-AC-65 TOOL,SPRING INSERTION,EXPANDER $ 20.84
RIV2-AC-66 TOOL,SPRING INSERTION,SUPPORT LEVER $ 13.89
RIV2-AC-67 TOOL,EXPANDABLE SPANNER $ 29.18
RIV2-AC-68 TOOL,DRIFT,PIN $ 16.80
RIV2-AC-69 TOOL,PISTON,INSERTION GUIDE (MUST ORDER 2) $ 50.88
RIV2-AC-70 PLATE,PUMP MOUNT $ 25.01
RIV2-AC-71 PLATE,PUMP COVER MOUNT $ 8.10
RIV2-AC-88 KIT,PIN LUBRICATION,S-SERIES $ 35.07
RIV2-AC-89 CAP.END,UPR PARA ARM,PLASTIC $ 4.38
RIV2-BU-002 BUSHING,SPACER,.500Dx.330Dx.63L $ 4.17
RIV2-BU-003 BUSHING,STEEL,.25IDx.320Dx.19L $ 2.91
RIV2-BU-078 SPACER,RUBBER,IRS CAM $ 4.05
RIV2-BU-080 BUSHING,LATCH COVER $ 7.29
RIV2-BU-081 BUSHING,E COVER MOUNT $ 5.84
RIV2-BU-090 BUMPER,IRS CAM ANTI-RATTLE $ 291
RIV2-BU-091 SHIM,PVC SPACER $ 291
RIV2-BU-195 BUSHING,BRONZE,0.390 ID $ 6.62
RIV2-BU-99 DIS;BUSHING,ARM PIN (OLD S-SERIES) $ 4.05
RIV2-CV-015 HEX,ROD-PUMP STANDOFF $ 5.84
RIV2-CV-110 COVER,ELEC SYSTEM,PUMP $ 53.98
RIV2-CV-120 COVER,PUMP,LH $ 84.38
RIV2-CV-123 COVER,BASE LATCH $ 11.68
RIV2-CV-220 COVER ASSY,PUMP,LH $ 111.89
RIV2-CV-221 COVER ASSY,PUMP,RH $ 110.50
RIV2-ES-012 HARNESS,ARM SWITCH $ 77.63
RIV2-ES-013 HARNESS,RH HANDRAIL SWITCH $ 84.30
RIV2-ES-016 LIGHT ASSY,INTERLOCK,24V (YELLOW) $ 41.68
RIV2-ES-025 PENDANT,UNIV 4 WAY,RKR SW,7FT CORD $ 89.02
RIV2-ES-035 FACEPLATE ASSY,PENDANT,SWTCH GD $ 26.22
RIV2-ES-040 MOTOR,DELCO PH3 MODIFIED $ 134.23
RIV2-ES-050 HARN,MAIN ELEC,w/o INTERLOCK $ 53.11
RIV2-ES-051 HARNESS,MAIN ELECTRIC,wW/INTERLOCK $ 109.43
RIV2-ES-059 ADAPTOR,.625 D-HOLE TO .484 ROUND $ 1.46
RIV2-ES-100 HARNESS,PUMP,12V&24V $ 37.93
RIV2-ES-110 SWITCH,LIMIT,UPPER/LOWER,(MODIFIED) $ 13.24
RIV2-ES-111 SWITCH,LIMIT,IN ENABLE,FOLD CUTOFF $ 15.43
RIV2-ES-114 COUNTER ASSY $ 273.17
RIV2-ES-127 KIT,SOLENOID ASSY,12V,w/CLIPSPRING $ 72.06
RIV2-ES-128 KIT,SOLENOID ASSY,24V,w/CLIPSPRING $ 130.67

@ Ricon.

AWabtec company
77|Page



Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIV2-ES-150 HARNESS,"S" PUMP,w/o0 INTFC,12V $ 27.79
RIV2-ES-155 HARNESS EXT,RH PUMP,4 PIN $ 67.44
RIV2-ES-61 SWITCHBLOCK ASSY ,w/SPRING & HDWR $ 29.18
RIV2-ES-70 ADAPTOR-9-PIN MOLEX TO POWER DOOR $ 14.16
RIV2-ES-72 PLATE-PENDANT SWITCH PROTECTOR $ 15.17
RIV2-ES-73 ADAPTOR-6 PIN MOLEX TO 9 PIN MOLEX $ 14.16
RIV2-ES-78 BLOCK,LMT SW,1 1/2x3/4X1/4 $ 4.17
RIV2-ES-79 BLOCK,LMT SW,1 1/2x3/4x3/8 $ 4.17
RIV2-ES-81 PLATE-PENDANT NAME,2 SW,ENGLISH $ 4.05
RIV2-ES-83 SWITCH BLOCK ASSY,UP ENABLE,STOW ENABLE $ 20.10
RIV2-ES-84A HARNESS-AMP PLUG RETRO-FIT ; S-SERIES $ 91.05
RIV2-ES-88 CONNECTION,PVC BOX $ 9.72
RIV2-ES-93 SPRING,ADJUSTABLE LMT SW $ 291
RIV2-ES-95 SPRING RETAINING,3/4x4 $ 4.38
RIV2-FL-94B ACTUATOR WLDT,ROLLSTOP,RH,BLUE $ 29.67
RIV2-FL-95B ACTUATOR WLDT,ROLLSTOP,LH BLUE $ 29.67
RIV2-FL-95R ACTUATOR,ROLLSTOP,LH(RED) $ 15.44
RIV2-FL-99 PIVOT PLATE,ROLLSTOP $ 2.67
RIV2-IN-012 PLATE,SUPPORT,FORD STEPWELL $ 25.20
RIV2-IN-016 BRACKET WLDT $ 89.99
RIV2-IN-019 SHIM,BASE,.25"THICK $ 27.26
RIV2-IN-020 PIN,GUIDE EXTENSION $ 10.22
RIV2-IN-021 PLATE,MOUNTING,INSTALL $ 10.83
RIV2-IN-026 TUBE-CLAMPING BAR,1.2550x41.50 $ 26.71
RIV2-PF-066 RAMP-MANUAL ROLLSTOP,5x39.50 $ 100.03
RIV2-PF-122 ROLLSTOP ASSY,LH,30"SPLIT PLTFRM $ 56.59
RIV2-PF-123 ROLLSTOP ASSY,RH,30"SPLIT PLTFRM $ 62.86
RIV2-PF-141 ROLLSTOP ASSY,INNER,30"PFRM,YELLOW WRNKL $ 218.40
RIV2-PF-142 ROLLSTOP ASSY,INNER,32" $ 213.20
RIV2-PF-143 ROLLSTOP ASSY,INNER,32"PFRM,YEL WRINKLE $ 192.62
RIV2-PF-160 ROLLSTOP ASSY,30"PLATFORM $ 99.15
RIV2-PF-161 ROLLSTOP ASSY,32"PLATFORM $ 148.39
RIV2-PF-291 ROLLSTOP ASSY,6"x 30" $ 135.25
RIV2-PF-292 ROLLSTOP ASSY,6"x 32"(GREY) $ 139.35
RIV2-PF-292R ROLLSTOP ASSY,6"x 32"(RED) $ 75.15
RIV2-PF-380 PLATFORM ASSY,30"x42",SPLIT $ 1,149.58
RIV2-PF-381 PLATFORM ASSY,30"x48",SPLIT $ 1,168.51
RIV2-PF-383 PLATFORM ASSY,SPLIT,30"x63" $ 1,240.45
RIV2-PF-384 PLATFORM ASSY,SOLID,30"x44" $ 863.36
RIV2-PF-385 PLATFORM ASSY,30"x48",SOLID $ 917.32
RIV2-PF-386 PLATFORM ASSY,30"x51",SOLID $ 957.79
RIV2-PF-387 PLATFORM ASSY,32"x44",SOLID $ 897.08
RIV2-PF-388 PLATFORM ASSY,32"x48",SOLID $ 1,084.26
RIV2-PF-389 PLATFORM ASSY,32"x51",SOLID $ 1,163.22
RIV2-PF-390 PLATFORM ASSY,39.5"X48",SOLID $ 1,483.89
RIV2-PF-394 PLATFORM ASSY,32"x56",SOLID $ 1,067.16
RIV2-PI-091 PIN,CAM $ 20.42

@ Ricon.

AWabtec company

78|Page



@ Ricon. Spare Parts MSRP List March 4, 2013
A Wabtec company
Iltem Code Description Selling Price
RIV2-PI-093 PIN HINGE,.25Dx5.53L $ 5.40
RIV2-PI-094 PIN,CAM ROLLER,0.375x2.06 $ 4.38
RIV2-PI-095 PIN,SPRING,MOUNTING $ 8.76
RIV2-SH-005 KIT,CKT BREAKER ASSY,8AMP,w/DECAL $ 25.70
RIV2-SH-008 HOSE ASSY,HYD,26"x1/4JICx1/4JIC $ 36.47
RIV2-SH-009 HOSE ASSY,HYD,62"x1/4J1Cx1/4JI1C $ 46.69
RIV2-SH-010 HOSE ASSY,HYD,69.5x1/4J1Cx1/4JIC $ 49.17
RIV2-SH-011 ADPTR-L 7/16M 7/16M 90 ORB/JIC 1.03x.89 $ 8.33
RIV2-SH-012 FITTING,SRT,1/4J,STL $ 10.22
RIV2-SH-013 FITTING,SEL,3/8P,BRS $ 5.40
RIV2-SH-014 HOSE ASSY,HYD,7"x1/4 JIC x 1/4 JIC $ 25.63
RIV2-SH-017 PIN/RETAINING RING,BACKUP PUMP $ 5.84
RIV2-SH-021 CYLINDER,POWER ROLLSTOP $ 269.80
RIV2-SH-024 ADPTR STR 9/16M 7/16F JIC/JIC 1.00 $ 66.77
RIV2-SH-105 VALVE ASSY,POPPET,DELTROL,12V $ 153.18
RIV2-SH-106 PLUG,RESERVOIR,BREATHER $ 18.06
RIV2-SH-107 GROMMET,.191Dx.13 THK $ 1.35
RIV2-SH-109 CLAMP,WORM,#52 SST $ 6.95
RIV2-SH-11 FITTING,UNL,1/4J,STL $ 2.70
RIV2-SH-110 BACKUP PUMP,MANUAL,w/o HDL (PMP) $ 243.15
RIV2-SH-111 HANDLE ASSY,PUMP,MANUAL OPERATION $ 24.80
RIV2-SH-127 BRACKET,SOLENOID $ 10.79
RIV2-SH-13 CAP,FITTING,1/4J,STL $ 4.17
RIV2-SH-132 PLUG,3/4-16 CAV,0-RING SEAL,HEX HD $ 2.98
RIV2-SH-136 VALVE ASSY,POPPET,24V,DELTROL $ 164.00
RIV2-SH-14 FITTING,STE,1/43/9/16-18STL $ 8.76
RIV2-SH-149 BRACKET, TENSION LINK,MONARCH PUMP $ 8.76
RIV2-SH-16 FITTING,"L",MALE,M5,BARB $ 7.29
RIV2-SH-17 FITTING,UNN,1/4J,STL $ 291
RIV2-SH-181 HOSE,1/8"ID,THERMOPLASTIC $ 2.24
RIV2-SH-182 PLUG w/O-RING,7/16-20,SOCKET HD $ 5.72
RIV2-SH-210 BACK UP PUMP,MANUAL w/o HANDLE (PM2) $ 284.50
RIV2-SH-220 SEAL KIT,PUMP,MANUAL BACK-UP $ 20.42
RIV2-SH-23 INA;FITTING,RHC,1/4J1/4x1/2H,STL $ 19.63
RIV2-SH-24 CAP,BREATHER,MONARCH PUMP $ 9.61
RIV2-SH-279 DECELERATION VALVE PARTS KIT $ 20.42
RIV2-SH-38 PLUG ROUND VENT PLASTIC FP1143 $ 5.06
RIV2-SH-48 COUPLING 3/8Fx3/8F NPSC/NPSC $ 4.05
RIV2-SH-50 COUPLING-STR 3/4Fx3/4F NPSC/NPSC $ 3.04
RIV2-SH-62 PLUG-SQUARE 1/4Mx0.805L NPTF $ 1.35
RIV2-SH-620 PLUG-HEX SOC 1/4Mx0.465L NPTF $ 1.35
RIV2-SH-84 FITTING,MCN,1/4J,1/4P,STL $ 4.38
RIV2-SH-97 TEE-JIC,4x4x4,STL,.90x.90x.90 $ 5.40
RIV2-SH-98 FITTING,BUL,1/4J,STL $ 20.42
RIV2-SH-981 FITTING,BUN,1/4 J,2.08L $ 11.12
RIV2-SP-021 SPRING,TORSION LH $ 4.38
RIV2-SP-022 SPRING,TORSION RH $ 4.38

@ Ricon.

AWabtec company

79|Page




Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIV2-SP-093 SPRING,STOW-LOCK RELEASE $ 4.38
RIV2-SP-96 SPRING,KICKOUT,MECHANICAL LOCK $ 2.70
RIV2-SP-97 SPRING, TOP ARM $ 7.29
RIV3-BU-15 COLLAR,.25IDx.630Dx.38 $ 5.29
RIV3-PL-46 INA,ATTACHMENT,RODEND,GREY $ 24.80
RIV3-SP-21 TORSION SPRING,LH $ 4.38
RIV3-SP-22 TORSION SPRING,RH $ 4.38
RIV5-AC-069 LINK,KNUCKLE,LONG,GREY(19.01") $ 16.26
RIV5-AC-141 ARM WLDT,VERTICAL(GREY) $ 195.34
RIV5-AC-175 SET,HANDRAILS,w/RETRACTOR $ 450.18
RIV5-AC-241 ARM ASSY,VERTICAL,RH(S5000) $ 295.31
RIV5-AC-242 ARM ASSY,VERTICAL,LH(S5000) $ 295.31
RIV5-AC-250 ARM ASSY,TOP,S/K5000 $ 11471
RIV5-AC-252 ARM ASSY,PARALLEL,LOWER(GREY) $ 116.71
RIV5-AC-252Z ARM ASSY,PARALLEL,LOWER(BEIGE) $ 88.04
RIV5-AC-281 HANDRAIL ASSY,RH $ 104.21
RIV5-AC-282 HANDRAIL ASSY,LH $ 104.21
RIV5-AC-77R PADDING,RH PUMP $ 38.45
RIV5-SH-105K CYL,HYD ASSY,OPEN 39.88"CLSD 24.13"(BLK) $ 347.79
RIVBM3010 VIBRATION MOUNT $ 6.71
RIVS-AC-069 LINK,KNUCKLE,LONG,GREY(15.19") $ 11.68
RIVS-AC-141 ARM WLDT,VERTICAL $ 79.83
RIVS-AC-141S ARM WLDT,VERTICAL(SILVER) $ 66.12
RIVS-AC-159 HANDRAIL ASSY,w/o SWITCH(GREY) $ 94.83
HANDRAIL ASSY,w/SWITCH,LEFT(GREY) (TUBE
RIVS-AC-160 STYLE) $ 175.07
RIVS-AC-161 HANDRAIL ASSY,w/SWITCH,RH,S1200 (TUBE STYLE) $ 168.62
RIVS-AC-241 ARM ASSY,VERTICAL,RH,S1200 $ 208.41
RIVS-AC-242 ARM ASSY,VERTICAL,LH,S1200 $ 208.41
RIVS-AC-250 ARM ASSY,PARALLEL,UPPER(GREY) $ 62.86
RIVS-AC-250S ARM ASSY,PARALLEL,UPPER(SILVER) $ 11247
RIVS-AC-252 ARM ASSY,PARALLEL,LOWER(GREY) $ 77.15
RIVS-AC-252S ARM ASSY,PARALLEL,LOWER(SILVER) $ 84.99
RIVS-AH-06 BEARING,GROOVED (SHEAVE) $ 4.38
RIVS-AH-07 STUD,5/16-24 RH & LH 1.75 LONG $ 7.29
RIVS-AH-13 BUSHING,.63 ODx.26 IDx.19 L $ 4.38
RIVS-BU-02 COLLAR,SET SCREW 3/8 #38 $ 8.76
RIVS-DO-02 TUBE-#16 $ 19.72
RIVS-IN-08 BRACKET,INSTALL $ 10.33
RIVS-IN-09 CLAMPBAR,PAINTED $ 12.99
RIVS-IN-13 TUBE SQUARE,1 1/4x1 1/4x7 $ 9.11
RIVS-IN-16 TUBE,CLAMPING,23.88" $ 15.63
RIVS-IN-20 SHIM WLDT,LIFT BASE,LEFT FRONT $ 47.12
RIVS-IN-21 SHIM LIFT BASE WLDT,RIGHT FRONT $ 50.15
RIVS-IN-32 CLAMPING BAR-24.00 $ 21.88
RIVS-PF-141 ROLLSTOP ASSY,INBOARD,30",YELLOW WRINKLE $ 135.58
RIVS-PI-09 PIN,SNAP RING,.38DIA X 3.09LG $ 5.84

@ Ricon.

AWabtec company

80|Page




Spare Parts MSRP List

March 4, 2013

@ Ricon.

A Wabtec company
Iltem Code Description Selling Price
RIVS-PL-19 PLATFORM WLDT,26x38 FOLD ; S1020 $ 1,146.64
RIVS-SH-06 FITTING,SNL,1/4J3,1/43,STL $ 7.29
RIVS-SH-09 HOSE ASSY,HYD,17"x1/4J1Cx1/4JI1C $ 34.14
RIVS-SH-105K CYL,HYD ASSY,OPEN 33.44"CLSD 19.44"(BLK) $ 354.26
RIVT-AC-044 SADDLE,KNUCKLE $ 16.68
RIVT-AC-046 SADDLE ASSEMBLY(GREY) $ 33.56
RIVT-AC-046B SADDLE ASSY,BLUE $ 33.86
RIVT-AC-046S SADDLE ASSEMBLY (SILVER) $ 32.58
RIVT-AC-069 LINK,KNUCKLE,LONG,GREY(18.25") $ 15.27
RIVT-AC-069S LINK,KNUCKLE,LONG,18.25"(SILVER) $ 13.34
RIVT-AC-070 UPPER LINK,KNUCKLE(GREY) $ 14.50
RIVT-AC-070S UPPER LINK,KNUCKLE(SILVER) $ 11.48
RIVT-AC-141 ARM WLDT,VERTICAL(GRAY) $ 113.19
RIVT-AC-241 ARM ASSY,VERTICAL,RH(S2000) $ 266.51
RIVT-AC-242 ARM ASSY,VERTICAL,LH(S2000) $ 266.51
RIVT-AC-250 ARM ASSY,PARALLEL,UPPER(GREY) $ 80.24
RIVT-AC-250S ARM ASSY,PARALLEL,UPPER(SILVER) $ 77.91
RIVT-AC-252 ARM ASSY,PARALLEL,LOWER(GREY) $ 146.00
RIVT-AC-252S ARM ASSY,PARALLEL,LOWER(SILVER) $ 141.76
RIVT-AC-281 HANDRAIL ASSY,RH w/o SWITCH $ 88.47
RIVT-AC-282 HANDRAIL ASSY,LH w/o SWITCH $ 88.47
RIVT-AC-283 HANDRAIL ASSY,w/SWITCH,RH,S2000 (TUBE STYLE) $ 182.11
RIVT-AC-363 HANDRAIL ASSY,LH OFFSET,UK $ 149.45
RIVT-AC-364 HANDRAIL ASSY,RH OFFSET,UK $ 149.45
RIVT-AH-142 BLOCK,GREY,PLATFORM LEVEL ADJ $ 7.68
RIVT-AH-142B BLOCK,BLUE,PLATFORM LEVEL ADJ $ 8.24
RIVT-AH-142S BLOCK,SILVER,PLATFORM LEVEL ADJ $ 7.31
RIVT-BU-42 SPACER $ 5.84
RIVT-IN-43 SPACER INSTL,5/16x1 1/2x1 1/2 $ 4.18
RIVT-IN-52 BRACKET COACH CRAFT APPLICATION $ 20.24
RIVT-IN-62 BRACKET,FORD SUPERVAN $ 35.79
RIVT-PI-41 PIN,SNAP RING $ 8.76
RIVT-SH-105K CYL,HYD ASSY,OPEN 37"CLSD 21.25"(BLK) $ 337.95
RIVT-SP-41 LEAF,SPRING-#52 MO1207 $ 13.49
RIVT-SP-42 SPRING,KNUCKLE ACTUATOR $ 5.84

@ Ricon.

AWabtec company

8l|Page




